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General and Financial Awareness

When the National Dengue Day is observed every year
in India?

(1) 15 May
(4) 18 May

(2) 16 May
(5) None of these

(3) 17 May

Which of the following cities now has India’s first solar
powered railway station?

(1) Cochin (2) Thane
(4) Delhi (5) Kolkata

(3) Guwahati

Who has become the India’s youngest woman to scale
Mt Everest from Nepal side?

(1) Shivangi Singh  (2) Shivangi Chopra

(3) Shivangi Pillai  (4) Shivangi Pathak

(5) Shivangi Sundaram

What percent of World's population is exposed to
dangerous levels of air pollution, according to the
annual State of Global Air Report by Health Effects
Institute (HEI)?
(1) 85%
(4) 80%

(2) 90%
(5) 75%

(3) 95%

Which International Airport has ranked eighth in Global
List for "On-Time Performance"?

(1) Itanagar International Airport

(2) Bijapur International Airport

(3) Mumbai International Airport

(4) Chennai International Airport

(5) Kolkata International Airport

Where the 1st Regional Workshop on star rating of
Garbage- Free Cities was held?

(1) Lucknow (2) varanashi
(4) Ernakulam (5) New Delhi

(3) Bhopal

Which state government has launched the digital
platform “Pocket Cop Project” for police force?

(1) Gujarat (2) Rajasthan (3) Odisha
(4) Manipur (5) Himachal Pradesh

According to the recommendation of the inter-
ministerial committee formed under the chairmanship of
the following, should the use of the use of cryptronomy
should be banned?

(1) Subhash Chandra Garg

(2) Ashwini Nayak

(3) Vivek Agnihotri

(4) Prabhat S. Kohli

(5) None of these

Which government department has started a ‘No Bill,
No Payment' campaign on complaints of vendors being
charged arbitrarily?

(1) Delhi Metro

(2) Indian Raill

(3) Steel authority of india

(4) Indian Foreign Office

(5) None of these

Government Insurance Company Life Insurance
Corporation (LIC) will provide loan facility of 1.25 lakh
crore by 2024 for which project?

(1) Bharatmala Project

(2) Sea project

(3) Power project

(4) Smart city project

(5) None of these

Which state has launched the "Amrit VVahini" App for the
online booking of hospital beds?
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(1) Bihar (2) Chhattisgarh
(3) Madhya Pradesh (4) Jharkhand
(5) Uttar Pradesh

Which country has introduced Carbon Tax?
(1) South Africa (2) Pakistan (3) Nepal
(4) Bangladesh (5) None of these

Which state got first position in establishing Health and
Wellness Centres under Ayushman Bharat Program?
(1) Karnataka (2) Kerala

(3) Maharashtra (4) Andhra Pradesh

(5) Telangana

Which state has ranked second in implementation of
Smart City Mission scheme?

(1) Jharkhand (2) Gujarat
(4) Maharashtra (5) Rajasthan

(3) Haryana

The Ministry of Railways has approved the renaming of
which railway station, as Ekta Nagar railway station?

(1) Bhuj railway station

(2) Viramgam railway station

(3) Mehsana railway station

(4) Dahod railway station

(5) Kevadiya railway station

How many more houses has been sanctioned by the
Union Government under Pradhan Mantri Awas Yojana
for the poor?
(1) 1 lakh
(4) 2.5 lakh

(2) 1.5 lakh
(5) 3 lakh

(3) 2 lakh

The biography of ‘Ratan Tata "Ratan N. Tata: The
Authorized Biography" is penned by whom?

(1) Rajiv Gauba

(2) Aditya K Anand

(3) Dr Thomas Matthew

(4) Dr M Rajendran

(5) Chandra V Sankar

The Centre has set up Cauvery Water Management
Authority to address water sharing dispute. How much
amount has been sanctioned by the Government for its
initial operations?
(1) Rs 5 Crore

(3) Rs 15Crore

(5) None of these

(2) Rs 10 Crore
(4) Rs 25 Crore

Tata Motors Ltd has signed a MoU with which state
government to promote e-Mobility in the State?

(1) Odisha (2) Telangana

(3) Andhra Pradesh (4) Maharashtra

(5) Gujarat

The United Launch Alliance (ULA) is a joint venture
between which two aerospace companies?

(1) Boeing and SpaceX

(2) Blue Origin and Boeing

(3) SpaceX and Lockheed Martin

(4) Lockheed Martin and Boeing

(5) Blue Origin and SpaceX

Thomas Antony related to which of the following field?
(1) Cartoon (2) Sand Art (3) Politician
(4) Vocalist (5) Actor

Who is the head of the committee which constituted by
the Union Government to spread Mahatma Gandhi’'s
legacy among the people at global level?

(1) Narendra Modi  (2) Rajnath Singh

(3) Sushma Swaraj (4) Venkaih Naidu

(5) Ram Nath Kovind
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Which among the following US states has passed a
stringent abortion law?

(1) Florida (2) Oklahoma

(4) Alabama (5) None of these

(3) Virginia

Abdel Fattah al-Sisi is the President of which of the
following countries?
(1) VAE

(3) Afghanistan

(2) Iran
(4) Israel (5) Egypt
Which of the following states has issued an order to
provide 2% quota for sportspersons in government
jobs?

(1) Maharashtra
(3) Telangana

(2) Karnataka
(4) Kerala (5) Haryana
Balkavi Bairagi was passed away. He belongs to which
of the following field?

(1) Politics (2) Journalism

(3) Freedom fighter (4) Sports

(5) None of these

Where did India’s first Post Office Passport Seva
Kendra (POPSK) run by an all-woman team have
started its operation?
(1) Karnataka

(3) Rajasthan

(5) West Bengal

(2) Punjab
(4) Chhattisgarh

Which of following government entity has released the
"State of the Economy" report?

(1) Department of Economic Affairs

(2) Securities and Exchange Board of India

(3) Reserve Bank of India

(4) Insurance Regulatory and Development Authority
(5) Niti Aayog

Which district of Odisha has declared itself a child
marriage free district, the first in the State after the
Nirbhaya Kadhi programme?

(1) Ganjam (2) Dhenkanal
(4) Sambalpur (5) Balasore

(3) Cuttack

Which country will host the ICC Women's ODI Cricket
World Cup 2025?
(1) Bangladesh
(4) Australia

(2) India
(5) UAE

(3) England

India has collaborated with which country in the field of
green energy and climate action?

(1) Germany (2) Austria

(3) Switzerland (4) France

(5) Belgium

National Film Awardee Manmohan Mohapatra, who
died was the famous filmmaker of which regional
cinema?
(1) Odia
(4) Telugu

(2) Tollygunge
(5) Bhojpuri

(3) Bengali

World Day of War Orphans is observed every year on
which day of January?

() 7 January (2) 6 January

(3) 8 January (4) 5 January

(5) 4 January

Who has become the second Indian to be as the Chief
Economist of World Bank?

(1) Ravi Kanbur (2) Maitreesh Sri

(3) Indermit Gill (4) Kaushik Basu

(5) Amartya Sen
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Recently, Indian Space Research Organisation has
collaborated with which research institute to build the X-
Ray Polarimeter Satellite (XPoSat)?

(1) Raman Research Institute

(2) National Centre for Radio Astrophysics

(3) Jawaharlal Nehru Centre

(4) National Centre for Biological Sciences

(5) Indian Institute of Science

Which bank has been selected as a Clearing and
Settlement Bank by the Indian Clearing Corporation
Ltd?

(1) HDFC Bank
(3) IDFC Bank
(5) Canara Bank

(2) Indian Bank
(4) Central Bank

Which navigation satellite has been placed in to orbit by
ISRO in May 20237
(1) GEO-L1
(4) INS-2TD

(2) EOS-04
(5) GSAT-30

(3) NVS-01

Which of the following state has achieved 100%
coverage of PMJDY?
(1) Tamil Nadu

(4) Goa

(2) Odisha
(5) Telangana

(3) Tripura

The government has decide to make income proof
mandatory for investments of how much in small
savings schemes?

(1) Rs 05 lakh or More

(2) Rs 10 lakh or More

(3) Rs 15 lakh or More

(4) Rs 20 lakh or More

(5) Rs 25 lakh or More

Who has been re-elected as the External Auditor of the
World Health Organisation (WHO)?

(1) David Malpass  (2) Girish Chandra Murmu

(3) Ajay Banga (4) Shantanu Narayen

(5) Harbhajan Singh

Which state's statehood day has been observed on
30th of May 20237
(1) Kerala

(4) Tamil Nadu

(2) Karnataka
(5) Bihar

(3) Goa

What is the theme of World No Tobacco Day 2023
observed on 31st May?

(1) We need food, not tobacco

(2) Tobacco: Threat to our environment

(3) Make Every Day World No Tobacco Day

(4) Tobacco: Commit to quit

(5) Tobacco: A threat to development

Who has been appointed as the "smile ambassador” for
"Swachh Mukh Abhiyan" of Maharashtra govt?

(1) Dhanraj Pillay  (2) Virdhawal Khade

(3) Sachin Tendulkar (4) Tejaswini Sawant

(5) Anjali Bhagwat

Who has been appointed India's representative to the
council of the International Civil Aviation Organization
(ICAO) in Montreal, Canada?

(1) Pramod Kumar Misra

(2) Ajay Kumar Bhalla

(3) Vinay Mohan Kwatra

(4) Angshumali Rastogi

(5) Utpal Kumar Singh

Bola Tinubu has recently sworn in as President of
which African country?

(1) Ethiopia (2) Niger (3) Ghana
(4) Nigeria (5) South Africa
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The urban unemployment in India has declined to what
percent in January to March 2023 quarter?
(1) 6.8% (2) 7.5%
(4) 5.6% (5) 4.9%

(3) 8.1%

Equitas Small Finance Bank has collaborated with
which tech company to build a digital banking platform?
(1) Google (2) Microsoft (3) IBM

(4) Samsung (5) Amazon

Who has been sworn in as Central
Commissioner?

(1) Neetu Arora (2) Gaurav Sharma

(3) Arvind Kumar (4) Bimaijit Kaur

(5) Praveen Srivastava

Vigilance

Justice Mamidanna Satya Ratna Sri Ramachandra Rao
has become the 28th Chief Justice of the which state's
High Court?

(1) Haryana

(3) Uttarakhand

(5) Madhya Pradesh

(2) Himachal Pradesh
(4) Uttar Pradesh

Which state will host the 14th Clean Energy Ministerial
and 8th Mission Innovation Meeting alongside G20
Energy Transitions Ministerial?
(1) Bihar (2) Odisha
(4) Punjab (5) Haryana

(3) Goa

General English

Directions (51-60): Various statements are given for the

51.

52.

Fb:-

questions below. Choose the options corresponding to
them mentioning the incorrect statements. If all the
statements are correct then choose None of these as
your answer.

A. After the shadow over ‘Nifty’ trades, the Singapore
stock exchange may need to brace for another shock.
B. In the Budget paving the way for a unified regulator
for India’s International Financial Services Centre —
housed in Gujarat's GIFT City — the stage is set for
GIFT authorities and the government to push for the
trade of Dollar-Rupee (USD/INR) currency futures in
GIFT.

C. In the absence of a separate regulator, the Reserve
Bank of India (RBI) has been reluctant to allow currency
futures trading on GIFT exchanges.

D. Now, the central bank may have to revisit the
proposal. GIFT authorities expected to meet RBI soon
to explore the possibility, banking sources told ET.

(1) Only Aand D (2) Only Cand A

(3) BothCand B (4) Both B and D

(5) None of these.

A. Bitcoin exchanges, rattled by Finance Minister Arun
Jaitley terming the cryptocurrency as illegal tender, are
creating a central repository of users that will help
create and maintain the real time record of transactions.
B. The purchase data of buyers and sellers of the
virtual currency can then be traced through either the
Aadhaar ID or the Permanent Account Number (PAN)
of the user.

C. Details such as the total number of cryptocurrencies
held, the value thereof as well as the pattern of buying
and selling by individual users will be available through
the central repository, according to a top industry
member

D. The committee has seven cryptocurrency exchanges
as its members. Khurana said the BACC aims to submit
the proposal with the government committee, which is
headed by Economic Affairs Secretary SC Garg, during
the course of this week.

53.

54.

55.

56.
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(1) Only Aand B
(3) BothCand D
(5) None of these

(2) Only C and B
(4) Both Aand D

A. The Indian Navy will now be able to use the facilities
at Dugm port in Oman following the signing of a pact
among the two countries, during Prime Minister
Narendra Modi’s visit, that will give India a foothold in
its extended neighbourhood.

B. The port will act as India’s entry point for wider West
Asia and Eastern Africa, a welcome development at a
time when China has deployed strategic assets in the
Indian Ocean Region, experts said.

C. India’s interest in Dugm port, which is merely at a
40-minute flight distance from Mumbai, has been
necessitated by the fact that the Chinese navy has
increased its activities in the western part of the Indian
Ocean Region besides setting up a military base in
Djibouti

D. An Indo-Omani joint statement issued at the end of
Modi’s visit reflected growing maritime cooperation

(1) Only A (2) Only B (3)Only C
(4) Only D (5) None of these

A. The search is on for a new generation of top
executives. Investigations aside, they will inherit a
mixed bag. Airbus’sA320neo short-haul aircraft are
flying at the shelves and have a market share of 59% in
the fight against Boeing'’s rival 737 MAX.

B. Its acquisition of half of Bombardier of Canada’s C
Series programme for one dollar last autumn will
strengthen its position in the market for smaller jets.

C. But Airbus is struggling to shift the rest of its range.
Its larger wide-bodies were outsold almost 4:1 by
Boeing in 2017. It is also running out for orders of the
A380.

D. Although Emirates ordered a further 36 last month,
keeping production going until 2030, some analysts
think that producing a trickle of super jumbos could lose
Airbus up to €250m a year

(1) Only Aand C (2) BothB and C

(3) Only Aand D (4) Both B and D

(5) None of these

A. Robert Friedland, the boss of lvanhoe Mines, a large
Canadian firm that digs out copper and zinc in Africa, is
not one for pessimism. In his speech to an annual
mining industry jamboree, Mining Indaba, in Cape
Town, his promises about the potential of the business
were as copious as the ore bodies his firm mines.

B. But amid the hyperbola about electric cars, Chinese
consumers and the “most disruptive copper discovery in
the world” there was a note of panic. Money, he
warned, is “a coward”, and may be about to flee.

C. The cause of fear is a new mining code that was
passed by parliament in the Democratic Republic of
Congo on January 24th. Congo is Africa’s biggest
copper producer; its reserves, mostly over the southern
copper belt, are among the world’s richest.

D. As important, it has emerged recently as the world’s
leading producer of cobalt, a by-product of copper
smelting that is used in batteries for electric cars. It also
produces gold, zinc, tin and diamonds.

(1) Only A (2) Both Aand B

(3)OnlyBandC (4) Only C

(5) None of these

A. The Maharashtra Real Estate Regulatory Authority
(MahaRERA) has issued notices to builders who have
not been updating details of their registered projects
every three months, which is the stipulated period.

B. As per Clause 20 of the Maharashtra RERA Act, the
information of registered project needs to be updated
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57.

58.
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every quarter, primarily in regard to project completion
and units sold.

C. However, following their mandatory registration with
the regulator, most of realty developers seem to have
either forgotten or ignored the norm of updating project
details every quarter.

D. More than 65% of the MahaRERA-registered
projects has not updated the information in the last
three months, showed a study by Propstack, a real
estate data analytics company.

(1) Both Cand D (2) Both D and B

(3) Both Aand B (4) Both Cand A

(5) None of these

A. The group has an estimated 43billion yuan in bond
repayments due this year and next. Partly to meet this
obligation it is reportedly hoping to sell around 100
billion yuan of assets over the next six months,
including offices in New York and London and resorts in
French Polynesia.

B. It will list Swissport, the world’s biggest airport-
servicing company, which it bought in 2015. But
shedding assets will not necessarily mean a cash
windfall.

C. It snapped up many of its assets abroad by pledging
shares in target companies as collateral, meaning that
most sale proceeds would go to creditors.

D. Analysts had foreseen an unravelling for some time,
before even the regulatory wrist-slapping.

(1) Only Aand D (2) Only C

(3) Both C and D (4) Both A and B

(5) None of these.

A. Past the neon lights of Reno and the cookie-cutter
homes of neighbouring Sparks, the 1-80 highway winds
through a thinly populated expense of arid hills and
lunar valleys in Storey County.

B. On one side of the road flows the Truckee River; on
the other bands of wild horses forage in parched grass.
Signs of civilisation are restricted to electricity pylons
and the odd rundown farmhouse.

C. The Wild Horse Saloon, a dark and smoky room
connected to a legal brothel, is the only sit-down
restaurant for miles. It is not an area that immediately
seems conducive to hosting a business park.

D. Yet Storey County in Nevada is home to the world’s
largest by some measures: the Reno Tahoe Industrial
Centre (TRI). The park spans 104,000 acres in total—
three times the size of San Francisco.

(1) Only Aand D (2) Only C

(3) Both C and D (4)OnlyB

(5) None of these.

A. Indian students are increasingly opting for admission
to Australian colleges as the US and the UK appear to
be shutting their doors with anti-immigrant rhetoric and
tighter rules that make it difficult to stay on after the
course is over.

B. The number of Indian students studying in Australia
has soared to a seven-year high, according to data
from the country’s high commission in New Delhi.

C. Australian universities such as New South Wales,
Deakin, Bond, James Cook, Canberra and Queensland
said they had a bumping 2017, going by the increase in
Indian applicants.

D. While Indian students have usually confined
themselves largely in the states of New South Wales
and Victoria, they are now looking at destinations like
Queensland and Melbourne as well, the high
commission said.
(1) Only Aand B

(3) Both Cand D

(5) None of these.

(2) Only Band C
(4) Both A and D

60.

A. Uber CEO Dara Khosrowshahi will meet Indian
government  officials, regulators and company
employees during his India visit on February 22-23.
This will be the maiden visit of Khosrowshahi to India.

B. The former Expedia executive was named CEO of
Uber in August last year. An Uber spokesperson
confirmed that Khosrowshahi will be in India on
February 22 and 23.

C. The spokesperson added that during his India trip,
Khosrowshahi will meet high-ranking government
officials, regulators, business partners, and employees.
D. He will also address the students at IIT-Delhi. India
is one of the key markets for Uber. It is locked with an
intense battle for leadership with SoftBank-backed Ola
in India and has a presence in 29 Indian cities.

(1) Only A (2) Only C (3) Only B
(4) Only D (5) None of these.

Directions (61-63): Sentences given in each question, when

61.

62.

5 | Page

properly sequenced form coherent paragraph. Each
sentence is labelled with a letter. Choose the most
logical order of sentences amongst the five choices
given to construct the paragraph.

A. As of November 2017, more than 68,000 Indian
students were studying in Australian institutions, up
14.65% over the same period in 2016.

B. Australian universities such as New South Wales,
Deakin, Bond, James Cook, Canberra and Queensland
said they had a bumper 2017, going by the increase in
Indian applicants.

C. The number of Indian students studying in Australia
has soared to a seven-year high, according to data
from the country’s high-.commission in New Delhi.

D. Indian students are increasingly opting for admission
to Australian colleges as the US and the UK appear to
be shutting their doors with anti-immigrant rhetoric and
tighter rules that make it difficult to stay on after the
course is over.

E. While Indian students have usually confined
themselves largely to the states of New South Wales
and Victoria, they are now looking at destinations like

Queensland and Melbourne as well, the high
commission said.

(1) DBCAE (2) BCDAE (3) DCBEA
(4) BCDAE (5) None of these.

A. Wolfgang Prock-Schauer can’t seem to be able to let
go of India’s airlines. After stints with Jet Airways and
Go Air, the Viennese sexagenarian recently joined as
chief operating officer of IndiGo.

B. Why Prock-Schauer has been brought in is fairly

clear. He has monitored scale-ups, especially on
overseas routes, including Jet's initial foreign
expansion.

C. That was also the brief given to him by previous
employer Go Air. The carrier’s plans were set back due
to delays in its ordered Airbus A320neo planes as the
result of glitches in their Pratt & Whitney engines.

D. The airline has sought permission to fly to
destinations such as Frankfurt, Paris, Gatwick,
Manchester, Birmingham, Brussels, Rome, Milan and
Zurich.

E. That made him the only executive to have worked in
CXO positions in three Indian carriers. Prock-Schauer
said he couldn’t comment for the story, except to say
IndiGo is the most promising airline company “not just
in India, but also among several of its international
peers”.

(1) ADCEB
(4) AEBCD

(2) ACBED
(5) None of these

(3) ABDCE
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63.

A. These products are currently imported without any
levy. Imported mobile handsets such as the latest
iPhones have become costlier after the February 1
budget raised customs duty on the devices to 20% from
15%.

B. Domestic handset makers had expected the
imposition of duty on components too in the budget.
Whether that will also lead to an increase in the price of
phones will depend on manufacturers absorbing the
levy or passing it on to consumers, experts said.

C. The government is likely to impose basic customs
duty on mobile phone components such as populated
printed circuit boards (PCBs), camera modules and
connectors from April 1, according to senior officials.

D. Their assembly in India will not only take the level of
local value addition beyond the current level of 10%,
but also encourage local manufacture and boost the
government's Make in India initiative, industry
executives said.

E. The relevant ministry had sought the levy on parts in
a pre budget representation. PCBs account for almost
half the manufacturing cost of a mobile phone.

(1) CABED (2) BDCAE (3) CBAED
(4) BDACE (5) None of these.

Directions (64-68): In the passage given below there are

Fb:-

blanks which are to be filled with the options given
below. Find out the appropriate pair of words in each
case which can most suitably complete the sentence
without altering the meaning of the statement.

On her way out, Janet Yellen, who stood down as the
Federal Reserve’s chair on February 2nd, paused to
add yet another sanction to those already imposed on
Wells Fargo for foisting unwanted insurance and
banking products on clients. The latest punishment is a
highly unusual one. Wells will be blocked from adding
assets to the $2trn held on its balance-sheet at the end
of 2017. Two other regulators had already imposed
fines and penalties soon after the shenanigans began
emerging in 2016. The bank has gone through a big
reorganization. The Fed’s belated = response

(64) took into account not only the errant
conduct but also the political(65) . The
government, as well as the bank, had been

embarrassed. At first glance, Wells is an odd target for
such treatment. During the financial crisis it proved itself
the best of the big banks, with relatively high
underwriting standards and manageable losses. The
scandal was huge—millions of clients were pushed into
unwanted products. But the financial costs were small
and the bank’s (66) and readiness to pay
compensation) high. On the other hand, its
(67) was blatant, which is rare in finance.
Also, it was able to bear tough sanctions. And the Fed
needed to make a statement about the sharpness of its
regulatory steel. In doing so, it has made Wells, not
long ago the model of a well-run bank, a model for
experimental punishment. One aspect of the bank’s
punishment (although the bank plausibly denies this
formed part of the agreement with the Fed) involves
managerial change. The Fed’s announcement noted
that four Wells directors will leave by the end 0f2018. A
purge of directors had long been urged by the bank’s
critics, such as Senator Elizabeth Warren. The board
has already seen heavy turnover and nearly 6,000
employees have been laid off, including a former chief
executive, John Stumpf, and the head of the division
where most of the transgressions took place. Other
departures continue quietly; the long-serving head of
risk announced his resignation last month. The Fed is
keen to avoid the impression given by past efforts to
punish banks—such as levying fines—that the

64.

65.

66.

67.

68.

(68) of misdeeds had been spared and that
shareholders had borne the cost. Wells’ travails are
sending a blunt warning to directors at other banks.

(1) presumably (2) doubtingly

(3) thoughtfully (4) clearly
(5) None of these
(1) opposition (2) fallout (3) support

(4) people (5) None of these

(1) reluctant
(4) contrition

(2) will
(5) None of these

(3) condition

(1) malaise
(3) malfeasance
(5) None of these

(2) philanthropy
(4) blessing

(1) perpetrators
(3) borrowers
(5) None of these

(2) carriers
(4) ambassadors

Directions (69-71): In given questions a paragraph is given

69.

70.

71.
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with some phrases/idioms/words in bold. Choose the
options which can replace them correctly. If no change
is required select none of these.

Harry Kane scored more goals than Cristiano Ronaldo
or Lionel Messi in 2017, but it is on the Champions
League stage the prolific Tottenham striker must shun
to be truly measured up to them. Kane will get his first
chance tonight as he leads Spurs to face Juventus in
Turin, where the Italians have lost just once in 27
Champions League games. It doesn’t get much better
than Juve’s defence, which has conceded just once in
their last 16 games. The lItalian champions blunted
Messi, Luis Suarez and Neymar over two legs to dump
out Barcelona on route to their second final in three
years last season. But they’re not taking t he
Englishman lightly. Midfielder Sami Khedira told the
BBC: “Harry Kane for me is maybe the most complete
striker”
(1) track
(4) gimme

(2) confine
(5) None of these

(3) perspire

Bank of India reported a loss of °. 2,341.2 crore for the
December quarter due to losses in bond trading and a
high provisions for bad loans where its classification
and the regulator’s diverged. The bank had reported a
net profit of *.101.7 crore a year ago. Its asset quality
performance deteriorated and provisioning requirement
more than doubled. The bank incurred a treasury loss
of *. 415 crore, versus a profit of *.1,734 crore a year
ago. Net interest income during the quarter declined
18.4% to ". 2,501crore. Its asset quality performance
was dismal with gross non-performing assets climbing
to 16.93% from 13.38% a year ago. Its net bad loans
were at 10.29%. In absolute terms the gross bad loans
crossed . 64,248 crores.

(1) met (2) merged

(4) shrieked (5) None of these

(3) copied

The advantage of staying outside IBC is that lenders
can ostracize the existing promoters to come up with a
turnaround proposal — the code limits this only to those
promoters who have cleared their arrears. Secondly,
lenders don't have to go for the liquidation of the
company, which the bankruptcy law prescribes in case
the resolution plan is not put in place within 270 days.
“After IBC was passed, this is one of the first cases that
bankers are pursuing outside of bankruptcy court but
with the intent to follow the same spirit, timeline and
process as IBC. If it is successful, many small
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companies may be resolved through this route,” said
one bank official. In this case, banks have not
converted their debt into equity under the strategic debt
restructuring scheme — a mechanism that makes it
easier for banks to change the management of a
company.
(1) repel

(4) hitch

(2) oust
(5) None of these

(3) unfasten

Directions (72-79): Read the following passage carefully and

Fb:-

answer the questions given below it.

The 136-crore fine imposed on Google for
discriminatory search operation was nothing more than
a slap on the wrist for the company. The Google issue,
though, is bigger than money. It is about power and
control. If India does not rein in foreign technology
companies, it will suffer under corporate colonialism.
Companies such as Google, Facebook and Amazon
will be able to monitor practically all Indian citizens and
influence their social and political preferences — while
they crush competitive businesses. This is because
technology creates a winner take-all system and
captures more information than Big Brother did in
George Orwell’'s 1984. These are the things India
needs to worry about far more than about search
results. Through our smart phones and their
applications, Apple, Google and WhatsApp track our
movements and habits, and know who we speak to and
what we say. They read our texts and emails. When we
do web searches or watch YouTube videos, we tell
them our thoughts and preferences. When we post our
photos on Facebook, they recognise our faces and our
friends’ and use them to learn who we know and where
we were. There is a saying in the tech industry: data is
the new oil. These companies capture all these data to
sell ads to us. That is how they make their billions. The
problem, as we saw with the reported Russian hacking
in the US elections, is that they lack scruples and
ethics. They will allow a person or government to serve
chicanery and propaganda to anyone who fits
specified criteria. India needs to develop legislation
even more stringent than Europe’s Data Protection
Regulation. Not only does it need to prevent the export
of data, it has to also ensure that all data, on all Indian
residents, are owned by them and used only with their
knowledge and explicit permission. The second issue
that Indian regulators need to concern themselves with
is technology monopolies. Silicon Valley’s moguls
openly glorify these, and tout their ability to gain unfair
competitive advantage by dumping capital. The big tech
companies use their massive war chests to copy or
steal from competitors. When all else fails, they acquire
them. Drowning in the Amazon, they tout free markets
only when they want other countries to open their
doors. In the Valley itself, invest or stake pride in having
an economy in which money is the ultimate weapon.
The most aggressive company of all is Amazon. It
dominated bookstores, publishing and distribution first.
Then cleaning supplies, electronics and assorted home
goods. Now it is set to preponderate all forms of retail
— as well as cloud services, electronic gadgetry and
small-business lending. And it is planning to launch
delivery services that will enable it to eat into the
business of United Parcel Service and FedEx. It will
have a finger in every pie and a hand in every pocket.
Amazon has been losing money — or earning razor-
thin margins — for more than two decades. But
because it was gaining market share and killing off
competition, investors rewarded it with a high stock
price. With that, it raised money at below-market
interest rates and used it to increase its market share.
Again, this is hardly the way free markets are supposed

72.

73.

74.

75.

76.

77.
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to work. Uber has used the same strategy to raise
billions of dollars to put potential global competitors out
of business. It has been dumping massive amounts of
capital into India to kill off local companies. Here, India
needs to learn from China, which used every trick in the
book to close off its markets and create barriers to
foreign companies. Doing so, let local technology
companies gain in size and power and learn to
innovate. China, very smartly, opened its doors at first
to Silicon Valley companies, letting them bring their
ideas there to train its entrepreneurs. Then it
precipitously locked them out so that local start-ups
could thrive. It realised that Silicon Valley had such a
monetary advantage that local entrepreneurs could
never compete. Having lost the Chinese market, US
tech companies see India as the consolation prize.
Their timing could not be better, because the Indian
market is only just forming. With the prices of smart
phones and internet access approaching affordability
for everyone, the country is about to experience a
technology boom next in size only to China’s. There are
huge fortunes to be made in India. A Silly-con Job India
doesn’t have to lose this battle to the modern-day East
India companies. It has the talent to build its own
infrastructure and to leap ahead. It has millions of
engineers who have been trained to develop IT
systems for the West, giving it a huge advantage. It
could be creating world changing technology
companies that challenge Silicon Valley itself, as well
as China. This will not happen if India allows the foreign
tech giants to cannibalise India’s young start-ups and
starve the emerging giants. This is a choice that India
needs to make very soon.

Choose synonyms of the given word as used in the
passage.
Precipitously
(1) Thoughtfully
(3) Headlong

(5) None of these

(2) Caringly
(4) Cold

Choose synonyms of the given word as used in the
passage.
Preponderate
(1) Surrender

(3) Mismanage
(5) None of these

(2) Prevalence
(4) Disarray

Choose antonyms of the given word as used in the
passage.
Chicanery

(1) Forthright

(3) Stratagem

(5) None of these

(2) Intrigue
(4) Skulduggery

Choose antonyms of the given word as used in the
passage.
Scruples

(1) Demur

(3) Tranquillity
(5) None of these

(2) Squeamish
(4) Compunction

What can India do to manage these tech giants?
(1) Create stronger laws on privacy of data.

(2) Learn from other countries 2019 management.
(3) Quietly increase its potential.

(4) Both 1 and 2

(5) None of these

How is Amazon ‘eating into other businesses’?

(1) Both 3 and 4

(2) It is taking hold of the countries’ laws and using
them to its own advantage

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

SBI CLERK MAINS_2024 TEST ID - SBM - 87205360

78.

79.

(3) It is employing East India Company like strategy.
(4) It is benefitting from the investor’s leniency.
(5) None of these

What should be India’s way ahead in coming years?
(1) Close its economy like china.

(2) Improve its technology to compete with the west.
(3) Use legal methods to improve local market.

(4) Start-ups encouragement

(5) None of these

What does reference to George Orwell mean?

(1) The companies’ have amassed load of income.
(2) Laws need to be in place to stop hacking

(3) Companies have been increasingly tax evasive.
(4) Both 2 and 3

(5) None of these

Directions (80-86): Read the following passage carefully and

Fb:-

answer the questions given below it.

Faced with complexity humans often resort to a
heuristic, a rough mental template that gets the job
done. That could come in handy at Tata Group, India’s
largest business, whose dizzying mix of scale, palace
politcs and sense of moral purpose defy any
categorisation. Tata’s boss, Natarajan Chandrasekaran,
known as Chandra, has been in the job for a year. He
spent 2017 pepping up morale and extinguishing fires.
Now he must squeeze Tata into a new strategic
framework that clarifies its structure and purpose. Is it a
150-year-old national monument, a philanthropic
vehicle or a conglomerate? In Schumpeter’s view Tata
should instead be positioned as a holding company—
like Berkshire Hathaway but minus the personality cult
and with Indian characteristics. Tata is a handful. It has
695,000 staff and is active in 17 industries. Its family of
firms has a market value of $155 billion. It mixes virtue
with profits; Tata’s leaders are expected to exude
decency and probity. The group was an early supporter
of Mahatma Gandhi, led India’s industrialisation drive in
the 1940s and played a big part in the IT-outsourcing
revolution in the 1990s. A structure with three layers,
largely an accident of history, magnifies the complexity.
At the bottom are 289 operating companies, a dozen of
which are big and listed. In the middle is Tata Sons, a
holding firm that owns stakes of varying size in the
operating businesses (Chandra is chairman of Tata
Sons). It is in turn majority-owned by the Tata family
trusts, charities led by Ratan Tata, the group’s 80-year-
old-patriarch, who has no direct heirs. The resulting
ambiguity has led Tata to be too tolerant of weak
businesses and to a complicated succession. Mr Tata,
who was chairman between 1991 and 2012, led a bold
globalisation drive, which included the acquisitions of
Jaguar Land Rover (JLR) and Corus, a British steel
firm. But he neglected profits and roamed over all three
layers. His successor, Cyrus Mistry, tried to cull bad
businesses but suffered from paralysis-by-analysis and
fell out with Mr Tata (he was ousted in 2016 and is now
suing Tata Group). Chandra created $60bn of value
when he was boss of TCS, Tata’s IT services arm, in
2009-17, and is known for metronomic consistency. His
superb record gives him a licence to ask hard questions
and makes it hard for Mr Tata to object. A few
romantics want the group to be a vehicle for building up
the nation, a goal with which the trusts may sympathise.
But Tata is not a state-owned firm or a charity, and
outside shareholders have $85 billion tied up in Tata
firms. They expect profit, not glory. Alternatively, Tata
could be run as a conglomerate, like General Electric in
its prime. But it has legal control of only 62% of its
empire, based on the value of firms in which it has a

80.

81.
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majority stake. Its gems—TCS, JLR and Titan, a
jeweller—are largely autonomous. The best path is to
be a holding company that makes strategic investments
but does not normally exercise operational control, like
Berkshire or Investor AB in Sweden. After all, Tata
Sons does not have an equal interest in all Tata-
branded firms. Chandra is a director of some operating
firms but derives his authority from being chairman of
Tata Sons. Once Ratan Tata retires, the trusts will
probably be run by arm’s length boards focused on their
fiduciary duty to hold Tata Sons accountable for its
performance. Viewed as a holding company, Tata Sons
has a net asset value (the market or book value of its
stakes, less its debts) of $84 billion. Its NAV has risen
by 547% since 2007, beating India’s stock market,
which made a total return of151%-a strong
performance but one mostly due to its 74% stake in
TCS, which comprises 84% of NAV. Of Tata Sons’ 289
affiliated businesses, 126 are loss making. Valued at
book, 66% of Tata Sons’ investments over the years sit
in underperforming units with a return on capital of less
than 10%. Tata Sons should set clear targets. It should
aim to continue to grow its NAV faster than India’s stock
market and its profits faster than nominal GDP. By 2030
that would allow the trusts to have a budget to match
the present budget of the Gates Foundation. It may
sound easy, but there probably will not be another
triumph like TCS to prop up performance. So Tata Sons
must be ruthless. It must ensure that the stars, TCS,
JLR and Titan, continue to thrive, which means leaving
them alone. And it needs new growth businesses.
Buried within it are promising operations, including its
retail, defence and financial-services arms. To grow big
these will require piles of capital. For example, Tata’s
financial business, which should be a big beneficiary of
its trusted brand, has a book value of$2bn and ranks
only 27th in India’s industry. Dealing with the
underperformers is critical. Surprisingly, Chandra has
given a second chance to two serial offenders. He has
approved a capacity expansion at Tata’s domestic steel
operation. And he has supported a new strategy at
Tata’s domestic trucks and cars unit, which has lost
market share. Over 25 years these two have generated
acceptable returns on equity only about half the time. It
is unlikely that they will do much better. Time for Sons
to grow up Elsewhere, though, Chandra has shown
backbone. He has sold Tata’s toxic mobile-telecoms
arm and is folding Corus into a joint venture with
Germany’s ThyssenKrupp. Although these deals
eliminate the risk of giant losses, they have not
released much capital. To do that Chandra should grit
his teeth and sell off all the peripheral stakes and
businesses. That could raise $8bn, making Tata simpler
to run and fortifying its balance-sheet. To succeed,
holding companies need to be a source of brains and
money rather than dependents of firms they invest in.
Tata Sons’ debt has risen to $10bn, shrinking its kitty. It
may need to buy out Mr Mistry’s family, which has an
18% stake in Tata Sons, worth $15bn. Under Chandra,
Tata Sons should aim to be a muscular holding firm that
invests in competitive businesses and produces strong
returns for its owners. That description cannot possibly
capture the epic scale of human endeavour within
Tata. But as a way to position the group for the next
150 years, it does the job.

Choose Synonym for the given word Endeavour
(1) Passive (2) Fun (3) Idleness
(4) Venture (5) None of these

Choose Antonym for the given word Fiduciary
(1) Trustee (2) Curator
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82.

83.

84.

85.

86.

(3) Oppressor
(5) None of these

(4) Custodian

Choose synonym for the given word Conglomerate
(1) Trust (2) Varied (3) Single
(4) Motley (5) None of these

Which problem has led the Tata group to be lenient in
its approach?

(1) Absence of legal heirs

(2) Chandra’s management policy

(3) Both 1 and 2

(4) Rise in market prices

(5) None of these

How can the group ensure profitability of its major
firms?

(1) Giving them regular bonuses.

(2) Sending reports and auditing in a time bound
manner

(3) Giving them autonomy

(4) Both 1 and 3

(5) None of these

What is author's view of the group investing in new
avenues?

(1) optimistic

(3) authoritative
(5) None of these

(2) pessimistic
(4) Both 1 and 3

What has been Chandra’s biggest strength?

(1) His ability to show cohesion among the workers.
(2) Improved wages and employment security.

(3) Asking of questions to seniors.

4 AlN1,23

(5) None of these

Directions (87-90): In each of the following questions a short

87.

88.

Fb:-

passage is given with one of the lines in the passage
missing and represented by a blank. Select the best out
of the five answer choices given, to complete the
passage.

“Who?” was the reaction of many Romanians when
Viorica Dancila became their third prime minister in just
seven months, on January 29th. That she is the first
woman to run the country’s government might have
been cause for celebration, if anyone thought she
would really be doing the job. Few do. As soon as she
had been elected, she vanished into the office of Liviu
Dragnea, the leader of her party, the ruling Social
Democrats (PSD). If Ms Dancila proves
unwilling or unable to do what he wants, she will be
dumped.

(1) And came back as soon as possible.

(2) It is Mr Dragnea who calls the shots.

(3) Mr Dragnea congratulated her.

(4) But he Mr Dragnea was not there

(5) None of these.

It makes sense for the government to let savers close
their small savings accounts prematurely. These
schemes include the popular Public Provident Fund
(PPF), a long-term saving product on which tax is
exempt at the time of contribution, up to a limit, during
accumulation and at the time of withdrawal. With
the diversification of the processes and instruments
through which household savings get mediated to the
productive sectors of the economy and to the
government, the need for the traditional small savings
schemes has come down. Most states, barring Madhya
Pradesh, Arunachal Pradesh, Kerala and Delhi, have
moved away from high-cost small savings and towards

89.

90.

cheaper open market loans. It is time to wind down
such crude instruments

(1) But this comes at a high cost to the government,
which has to bear the interest cost and forgo tax.

(2) The governments keep the rates in conjugation with
repo and reverse repo rates.

(3) There is wide diversification among the state
governments and central ministries.

(4) However, very less people get it.

(5) None of these

There has been an intense debate about the linking of
Aadhaar with various artefacts like bank accounts,
investment accounts and mobile numbers. Aadhaar-
linking with ration cards, MNREGA, scholarships, LPG
connections and other benefit delivery systems is
already in place. Those opposing this linking cite
privacy as their main argument. Cleaning up of
social benefit databases of duplicates and ghosts to
reduce leakages was one reason to start the Unique
Identification (ID) programme. The other was to provide
inclusive and verifiable identification. The idea was that
if unique IDs were created for people, this could be
used to clean up other databases through ‘seeding’ of
these unique IDs. This would increase the database to
far reaching areas and increase its jurisdiction in a
disastrous way.

(1) They believe that the right to privacy is violated if it
happens

(2) They demand that government must increase its
capacity before linking it.

(3) They argue that the hackers will know their private
matters.

(4) They assert that this will enable GOI to profile them
and provide it with more information than what it should.
(5) None of these.

Unilever, one of the world’s biggest advertisers, has
threatened to pull investment from digital platforms
such as Facebook and Google that “create division” in
society or fail to protect children. Keith Weed, chief
marketing officer, will announce the company’s plan in
a speech later on Monday at the annual Interactive
Advertising Bureau conference in California. In the
speech, Weed will call on the technology
“Unilever, as a trusted advertiser, do not want to
advertise on platforms which do not make a positive
contribution to society,” Weed plans to say, according
to a copy of the speech seen beforehand.
(1) industry to improve transparency and consumer
trust during an era of fake news and “toxic” online
content.
(2) industry to improve transparency and consumer
trust in an era of fake news and “toxic” online content.
(3) industry in improving transparency and consumer
trust in the era of fake news and “toxic” online content
(4) has bribed all the incumbent governors
(5) None of these

Direction (91-95): Each of these question below consist of a

9 | Page

guestion and two statements | and Il given below it. You
have to decide which of these statements are sufficient
to answer the given questions. Read both the
statements and

Give answer-

(a) Data in statement | alone is sufficient

(b) Data in statement Il alone is sufficient

(c) Data in statement | alone or statement Il alone is
sufficient

(d) Data even in both statement | and statement Il
together are not sufficient
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91.

92.

93.

94.

95.

96.

97.

Fb:-

(e) Data in both statement | and statement Il together
are sufficient

Six persons R, S, T, W, V and Y live in six different
floors. The lowermost floor is number 1 and the topmost
floor is 6. Who lives immediately above Y?

I. S lives on odd numbered floor but not on lowermost
floor. V does not live on lowermost floor.

Il. Only one person lives between V and S. W lives
immediately below Y.
@ a

4)d

@b
B) e

) c

Seven persons P, Q, R, S, T, U and V are sitting in a
row facing north. Who sits second to the left of Q?

1. V sits immediate right of U. Either U or V sits at one of
the ends. R does not sit at any of the extreme end.

Il. Two persons sit between U and P. P sits immediate
left of Q. Only one person sits between R and Q. V and
R are not immediate neighbours.
1) a @b

4d (5) e

) c

Six persons Y, T, X, K, L and N works in different
companies F, G, S, D, Q and M but not necessarily in
the same order. Which of the following person works in
company G?

I. N works in company D. Y works in company M. L
works in company Q. T neither works in company S nor
works in company F.

Il. X does not work in company G. K does not work in

company S.
(1)a @b 3 c
(4)d (5)e

What is the code for ‘budget’ in this code language?
I. ‘Budget is a missed opportunity’ is coded as ‘rt hg ds

wq vb'.

II. ‘condition for budget’ is coded as ‘ka yp hg'.
(1)a (2)b ®c
(4)d ®e

How is D related to P?

I. T is only daughter in law of D. D has only one son
and has no daughter. P is granddaughter of M.

II. M is married to D. M is mother of S.
(1)a (2)b

(4)d ®e

3)c

In each of the following questions, two statements
numbered | and Il are given. There may be cause and
effect relationship between the two statements. These
two statements may be the effect of the same cause or
independent causes. These statements may be
independent causes without having any relationship.
Read both the statements in each question

Statement |: There is a certain degree of credibility
about the conduct of the exam itself, as well as the
counseling and admission processes.

Statement II: It wouldn’t be an exaggeration to say that
corrupt individuals have entered the medical education
arena, and are willing to “sell” seats to students of rich
families, without giving importance to merit.

(1) Statement | is cause and Statement Il is its effect

(2) Statement | is cause and Statement Il is its effect

(3) Both statement | and Il are independent cause

(4) Both Statement | and Statement Il are effect of
independent causes

(5) Both statement | and Statement Il are effects of
some common cause

In each question below a statement (or a passage) is
followed by two assumptions numbered | and Il. An

assumption is something supposed or taken in for
granted. You have to consider the statement and the
following assumptions and then decide which of the
assumptions is implicit in the statement.

Statement: On an average, senior citizens pay around
Rs10,000 as premiums but the health insurance cover
is insufficient given the rising healthcare costs and their
increased medical attention.

Assumptions: I. Increasing the deduction limit in that
sense will encourage senior citizens to buy a higher
health insurance policy.

II. A deduction is the first tool to use to reduce your tax
liability.

(1) Only assumption | is implicit

(2) Only assumption Il is implicit

(3) Either assumption | or assumption Il is implicit

(4) Neither assumption | nor assumption Il is implicit

(5) Both assumption | and assumption Il is implicit

Direction (98-102): Study the following information carefully

98.

99.

100.

101.

102.

and answer the questions given below:

Ten persons P, J, M, R, N, Q, T, L, S and Y likes
different colours like red, violet, blue, green, white,
golden, silver, brown, orange and yellow studies in
different college A, B and C. At least three persons
studied in same college. Equal number of males and
females are there. All the above information is not
necessarily in the same order.

N is not a female. T studies in college A and likes
golden colour. S studies with R, who likes yellow but
not with T. R does not study with J. The one who likes
violet is not female and does not study in college A.
Neither P nor Q likes violet. S is not a male. Y studies
with T and does not like violet. N does not study in
college B or college C. M likes blue. P does not study in
college B. The one who likes silver studies in college C
and is'not a male. Neither Q nor S likes silver. Not more
than three persons studies in college A. The one who
likes white is a female and does not study in college C.
Y is a male. N neither likes red nor likes brown. J
studies in college B. The one who studies in college C
does not like brown. M does not studying in college C. L
likes green. The one who likes blue is female. L is not
a male. Q is not a male and does not study with R.

Which of the following person likes red colour?

T 2L 3)s

4 Q (5) None of these

How many persons are studies in college C?

11 22 3)3

(4) Cannot be determined

(5) None of these

Y likes which of the following colour?

(1) Green (2) Blue (3) Yellow
(4) Brown (5) None of these

How many females are studying in college B?
11 22 3)3
(4) Cannot be determined

(5) None of these

Which of the following combination is true?

(1) J likes violet and studies in college B

(2) Q likes white and does not study in college B
(3) L studies in college A

(4) Y likes brown and does not study in college C
(5) Both (1) and (4)

Direction (103-104): In the following questions, Some
statements are given and followed by some
Web :-
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103.

104.

105.

106.

conclusions. You have to decide from which the given
conclusions can be drawn from the given statements

Statements: All Monday are Tuesday.
Some Tuesday are Wednesday.

No Wednesday is Thursday.

All Thursday are Friday.

Conclusions: I. Some Monday are not Friday
1. All Wednesday are Friday is a possibility
I1l. All Tuesday are Friday is a possibility
(1) Only I follows

(2) Only Il and IlI follow

(3) Only I and IlI follow

(4) Only Il follows

(5) None of these

Statements: Some Dell are Hasee.

Some Hasee are HP. All HP are Lenovo.

No Lenovo is Samsung.

Conclusions: |I. Some Hasee are Samsung is a
possibility

Il. Some HP are not Samsung is a possibility

IIl. All Dell are Samsung is a possibility

(1) Only I and 11l follow

(2) Only Il follows  (3) Only Il follows

(4) All follow (5) None of these

Which of the following expression will be true if the
expression P<G <D =J2=L>Q < W is definitely true?
(1)D>P (2)Q<D (3)G=L
(4) Both (1) and (2) (5) None is true

Each question given below consists of a statement,
followed by two arguments numbered | and Il. You have
to decide which of the arguments is a 'strong' argument
and which is a 'weak' argument.

Statements: Massive ATM Card Hack hits Indian
Banks, 3.2 Million Debit Cards Affected.

Arguments: I. Turns out a massive debit card hack
have reportedly hit major Indian banks such as HDFC
Bank, ICICI Bank, Yes Bank, Axis Bank and SBI,
compromising as many as 3.2 million debit cards.

Il. The Axis Bank ATM network is fully secured and
customers should ideally use Axis Bank ATMs to
change their Debit Card PINs.

(1) Only argument | is strong

(2) Only argument Il is strong

(3) Either argument | or Il is strong

(4) Neither argument | nor Il is strong

(5) Both argument | and Il are strong

Direction (107-108): In each question below a statement (or a

107.

Fb:-

passage) is followed by two assumptions numbered |
and Il. An assumption is something supposed or taken
in for granted. You have to consider the statement and
the following assumptions and then decide which of the
assumptions is implicit in the statement.

Statements: The year 2018 is said to witness how
technology will contribute in uplifting the healthcare
sector with transparency being one of the key concerns.
Assumption: I. The adoption of artificial intelligence is
on the rise, making the healthcare ecosystem more
organized.

Il. Moreover, patients accustomed their medical record
fles every time, however, with the introduction of
electronic medical records system they can access data
anytime.

(1) Only assumption | is implicit

(2) Only assumption Il is implicit

(3) Either assumption | or assumption Il is implicit

(4) Neither assumption | nor assumption Il is implicit

(5) Both assumption | and assumption Il is implicit

108.

Statement: India’s capital city New Delhi has
introduced a ban on disposable plastic.

Assumptions: I. It was introduced after complaints
about the illegal mass burning of plastic and other
waste at three local rubbish dumps, which has been
blamed for causing air pollution.

Il. There is particular concern in the country about the
amount of plastic waste it produces.

(1) Only assumption I is implicit

(2) Only assumption Il is implicit

(3) Either assumption | or assumption Il is implicit

(4) Neither assumption | nor assumption Il is implicit

(5) Both assumption | and assumption Il is implicit

Direction (109-111): Study the following information carefully

109.

110.

111.

and answer the questions given below.

First 15 odd numbers are written from top to bottom.
The letters of the word ‘YOUNG' are written in
alphabetical order against each multiple of 3(One letter
against one number) from top to bottom. Only one letter
is between N and I. There are three letters are between
| and F. There are as many letters between F and U as
between Y and K. L is placed just below M. Only one
letter is between D and X. More than one but less than
three letters are there between X and C. C cannot be
written against 1 or 23.

How many alphabets in English alphabetical series are
there between the alphabets written against numbers
11 and 25?
(1) 10
4 11

(2)8
(5) None of these

@) 7

How many meaningful words can be formed by letter
against number 7,17,19 and 29, if the alphabet against
the number 29 is fourth previous letter of the alphabet
against the number 5 in English alphabetical series?
(1)2 21 (3)3

4) 4 (5) None of these

Letter F is written against which of the following
number?
(1)5
(4) 19

(211
(5) None of these

(3) 13

Direction (112-114): Study the following information carefully

112.

113.

11 | Page

and answer the questions given below.

Point X is midpoint for Point B and Point J as well as for
Point Z and Point M. Points Z and M starts from north to
south respectively. Points B and J is from West to East
respectively. Point R is 3m north of Point J. Point L is
2m east of Point R. Distance between points X and Z is
1m less than distance between points R and J.
Distance between points X and M is twice of X and Z.
Distance between Points X and B is more than X and J.
Point M is 7m east of Point Y. Lines XM and Point BX
are in the distance of consecutive number. Also X&M
and X&J are in consecutive distance.

Which of the following statement is true?

(1) Point L is south west of Point X

(2) If Point Z is 5m west of Point V, then Point V is 1m
north of Point L

(3) Points RLZ forms a straight line

(4) Point R is east of Point Z

(5) None is true

If Point Y is 6m south of Point H, then How far and in
which direction Point H with respect to Point Z?

(1) 6m, West (2) 5m, East (3) 7m, West
(4) 3m, East (5) None of these
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114.

If Point B is south of Point S, Distance between Point
YM is same as the distance between Point BS, What is
the distance between Point Z and Point S?
(1) 5m (2)5V2m

(4) 6m (5) None of these

(3)3V5m

Direction (115-119) Study the following information carefully

115.

116.

117.

118.

119.

Fb:-

and answer the questions given below:

Twelve persons K, Q, J, T, M\, N, R, S, L, Y, Dand B
was born on different months January, March and June.
They were born on different dates 12, 16, 23 and 29 of
the month. Each one of them reads different novels-
The pilgrim’s progress, clarissa, Tom Jones, Nightmare
Abbey, Sybil, Jane Eyre, Vanity Fair, David Copperfield,
Moby-Dick, Middlemarch, Jude the obscure and the
rainbow but not necessarily in the same order.

K does not read the Tom Jones. D was born in a month
which has less than 31 days but not on even number
date. Only one person born between R and the one
who reads Moby-Dick. Two persons were born between
K and the one who reads Nightmare Abbey but neither
of them was born after January. M was not born on
January. Number of persons born before Q and after B
was same, but neither of them was born on March. Q
reads Clarissa. Neither Q nor B read the novel
immediately before the one who reads Moby-Dick.
There are two persons born between the one who
reads David copper field and M. The one who reads
David Copperfield is born after R. Q was not born
immediately after N. J does not read Moby-Dick. L
reads middle march. The one who reads Jude the
obscure was born immediately before L. T was born
immediately before the one who reads Sybil. R does
not read Tom Jones and Jane Eyre. Two persons were
born between D and the one who reads Moby-Dick
novel. N does not read Tom Jones. Two persons were
born between N and J. Two persons were born
between Y and the one who reads the Rainbow. The
one who reads Rainbow was born after Y. The one who
reads Nightmare Abbey was born immediately before
M. R and N do not read the pilgrim’s progress. Only one
person was born between N and the one who reads
David Copperfield.

Which of the following person reads the pilgrim’s

progress?
1S @Y Q3T
4) K (5) None of these

Y reads which of the following novel?
(1) The Rainbow (2) Syhil

(3) Mobhy-Dick (4) Vanity Fair
(5) None of these

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following
does not belong to that group?

1)K

(2) The one who reads Sybil

(3) The one who reads Jane Eyre

#Q

(5) The one who reads the Rainbow

How many persons were born between T and the one
who reads Middle march?
1) 4 (2)5
4)2 (5) None of these

(3) 3

If K is related to Tom Jones, M is related to Vanity Fair,
in the same way which of the following is related to
Jude the obscure?
1Yy

(N @S

@R (5) None of these

Direction (120-124) Study the following information carefully

120.

121.

122.

123.

124.

and answer the questions given below:

Eight persons are sitting in a circle facing centre. They
are sitting as per the English alphabetical order. Eight
persons like different colour such as Red, Orange,
Blue, Yellow, Black, Green, Brown and Silver but not
necessarily in the same order.

Three persons sit between V and the one who likes
blue. The one who likes green sits immediate left of the
one who likes silver. The one who likes black sits fourth
to the left of the one who likes orange. Neither S nor W
likes orange. S sits second to the left of the one who
likes Brown. Two persons sit between the one who likes
silver and the one who likes yellow. T does not like
black. Neither Q nor W likes Silver.

Which of the following person likes black colour?
1w (2R ®)P
4) X (5) Either (3) or (4)

If X sits second to the left of the one who likes silver,
then who sits immediate right of the one who likes
Brown colour?
@P

B)w

(5) None of these

(2 X
(4) Cannot be determined

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following
does not belong to that.group?

(1) U-Green (2) S-Red
(3) R-Orange (4) Q-Yellow
(5) R-Black

If P likes black, then how many persons sitting between
P-and the one who likes yellow when counted from left
of S?
11
4)4

(2)2
(5) None of these

3) 3

Who sits second to the left of fifth to the right of T?
1) Q (2) The one who likes brown
(3) Both (1) and (2) (4) Either P or X

(5) None of these

Direction (125-130) Study the following information carefully
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and answer the questions given below:

When a word and number machine arrangement is
given for an input line having words and numbers, it
arranges them following a particular rule. The following
is the illustration of input and re-arrangement.

Input: Response 7 8 condition returns 10 11
development 9 objectives

Step I: PRP 81 Response 7 8
development objectives

Step Il: PRP 81 OLF 121 Response 7 8 returns 10
objectives

Step lll: PRP 81 OLF 121 FXGC 20 Response 7 8
returns

Step IV: PRP 81 OLF 121 FXGC 20 TKLF 16 7 returns
Step V: PRP 81 OLF 121 FXGC 20 TKLF 16 OFF 49
And Step V is the last step of the rearrangement of the
above input.

As per the rules followed in the above steps, find out in
each of the following questions the appropriate steps
for the given input.

Input: Demography 12 Technologies 5 young 6 crying
10 7 economy

returns 10 11
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125.

126.

127.

128.

129.

130.

Which of the following statement is true?

(1) Six steps are required to complete the given
arrangement

(2) There are two elements between ‘12’ and ‘5’ in step
Il

(3) ‘ITIF’ is placed second from the left end in step Il
(4) ‘OFP’ is exactly between 25’ and ‘FLOP’ in last step
(5) None is true

Which of the following element is third from the right
end in step IV?

(1) 49 (2) 24 (3) FLOF
(4)5 (5) None of these

Which of the following numbers are perfect square in
step III?

(1) 49 (2) 25 (3) 36

(4) Both (1) and (2) (5) None of these

How many elements are there between ‘ITIF’ and 24’ in
last step?

@M1 22 (3)3

44 (5) None of these

Which of the following step represents the following
output, ‘OBRS 12 ITIF 20 NMD 49 FLOF 24 5 young'?
(1) Step IV (2) Step | (3) Step 1l
(4) Step Il (5) None of these

Which of the following element is third to the left of 20°,
if ‘20’ and ‘the element which is second from the right
end’ are interchanged in step 11?7

1) 12 (2) Technologies )5

(4) Young (5) None of these

Direction (131-135): Study the following information carefully

131.

132.

133.

Fb:-

and answer the questions given below:

Seven persons, P, L, M, N, O, Q and R are sitting in a
column some of them are facing east and some of them
facing are west. Each one of them got different ranks
from 1 to 7 but not necessarily in the same order.
Person name starts with consecutive alphabets are not
immediate neighbours of each other (All are sitting one
above another).

Neither M nor N sits at any of the ends. L does not sit at
any of the extreme end. M and N faces opposite
direction. O faces east direction. Only one person sits
between O and P. P sits above O. Q and P got
consecutive ranks. R got 1st rank. P’s rank is twice the
rank of O. Two persons sit between R and the one who
got 5th rank. L does not got 5th rank. N’s rank is twice
the rank of Q’s rank. There persons sit between M and
N. N did not got 4th rank. Difference between L and P’s
rank is equal to Q’'s rank. Immediate neighbour of P
faces same direction. N and P face same direction. The
one who got 2nd rank sits third to the left of L. Q and R
face same direction which is opposite to P. L and M are
not immediate neighbours. N sits above the one whose
rank is 4.

Q got which of the following rank?

12 (2)3 ()5
4) 4 (5) None of these

Which of the following person got 2nd rank?
1P (20 ®)Q
4)L (5) None of these

How many persons are sit between O and the one who
got 1st rank?

12)2 (2)5 (3) 4

4)3 (5) None of these

134.

135.

What is the average rank of P and N?
(1)4 @3 (3)5
4)2 (5) None of these

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following
does not belong to that group?

DR

(2) The one who sits at second to the right of R

3)M

(4) The one who sits immediate left of P

B)P

Direction (136-140): Study the following information carefully

136.

137.

138.

139.

140.

and answer the questions given below:

Percentage (%) represents 2, and (&) represents 0. If
Percentage appears in unit's place then its value is
doubled to 4 like that it continues. Using the given
terminology answer the following questions. For

example: %=2 %&=4, 0=4+0=4 &%&%=0, 8,
0,2=8+2=10

What will the code for &%&%%&%?

(1) 80 (2) 64 (3)90

(4) 85 (5) None of these

Which of the following represent 202’ in this code
language?

(1) %&&&Y&Y%
(3) %&%&Y6&%
(5) %%&8Y6&&

(2) 8&%&&Y6EYo
(4) %%&&Y%&Y%

If $=0 and #=1 then what will be the one’s complement
for ‘HSHHSHSH ?

(1) SHSHHSHS (2) $HPSHIHS
(3) $HISHSSS (4) $HSHSSHS
(5) HISSHIHS

What is the abbreviation of ‘SMTP’?
(1) Service Mail Transfer Protocol
(2) Simple Main Transfer Protocol
(3) Structured Mail Transfer Protocol
(4) Simple Mail Transfer Protocol

(5) None of these

Which of the following language is commonly used to
create website?

(1) HTML 2cC

(4) FORTAN (5) None of these

Quantitative Aptitude

(3) BASIC

Directions (141-145): What should come in place of the

141.

142.

143.

144.

13 | Page

guestion mark (?) in the following questions?

200.1 x9.9-25x%x625+12 x 144 =7 —26.49

(1) 1627.98 (2) 1842.28 (3) 1958.8
(4) 1972.88 (5) 2172.98

\48 + V80 + V176 + V324 - V121 =2 + 7 + 4411

(1) 4(N5 +V7) (2) 6(N3 + \5)

(3) 4(V3 +5) (4) 3(N5 +\7)

(5) 9(V2 +3)

1265 + 25.3 + 102 x 98 — (23)2 = ?

(1) 8517 (2) 9517 (3) 8717
(4) 7087 (5) 9087

312167 + 3v21952% of 280 - 3V704969% of 56 = ?
(1) 41.56 (2) 51.46 (3) 51.66
(4) 65.56 (5) None of these
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145.

Directions (146-150): In

146.

147.

148.

149.

150.

{[33(17/25)]x [34(22/27)]} + {[35(28/52)] x
[36(37/57)]}="2
(1) 1853.78
(4) 2650.29

(2) 3259.55
(5) 2493.13

(3) 2474.94

the following questions, two
equations | and Il are given. You have to solve both the

equations.

Give Answer-

(@lfa>b (b)Ifa<b (c)ifazb
(d)Ifas<b (e) If a = b or the relationship
cannot be established

I. 8a+b=10 Il. 4a+2b=13

(1)a (2)b ®)c

(4)d (5)e

. (@+3) (b+2)=12 Il. 2ab+4a+5b=11

(1)a (2)b )¢

(4)d (5)e

I. (3a-2)/b = (3a+6)/(b+16) II. (a+2)/(b+4) =
(a+5)/(B+10)

Q) a @b ®3)c

(4)d 5)e

I. a?+20a+4=50-25a II. b2-10b-24=0

(1a @b ) c

4)d (5) e

I. (a%-10a+16)/(a® -12a +24) = 2/3 1I. b?-b-20=0
(1)a @b ®3)c

(4)d (5)e

Direction (151-155): Study the following table and answer the

151.

152.

153.

Fb:-

questions correctly, two different tables were given
where it consists of marks scored by some students in
term 1 and term 2

TERM-1I
Student subject | Physics | Chemistry | Maths | Computer
Anil - 78 75 76
Sunil 55 - 65 70
Sathish 75 80 - 85
Dinesh 85 90 90
TERM-1I
Student subject | Physics | Chemistry | Maths | Computer
Anil 72 - 76 70
Sunil 50 55 - 75
Sathish 80 82 84
Dinesh - 90 92 95

What is the average of dinesh in both terms if he scored
10% more than the Sathish in computer in 1st term and
10% less than Sathish in physics in 2nd term?

(1) 82.40 (2) 88.38 (3)89.43

(4) 78.35 (5) None of these

What is the ratio of maths in 1st term to the 2nd term if
Sathish mark is 20% higher than Sunil in 1st term and
Sunil mark is 12% less than Sathish in 2nd term?

(1) 154:153 (2) 154:143 (3) 141:153
(4) 154:163 (5) None of these

What percent approximately the total marks of Anil in
1st term is more than that of Anil in second term (the
physics mark in 1st term of Anil is same as 2nd term
and chemistry mark in 2nd term of Anil is same as 1st
term of Anil) ?
(1) 2.40%

(4) 0.6892%

(2) 1.38%
(5) None of these

(3) 1.6892%

154.

155.

What is the difference between the average of
computer in 1st term and 2nd term (if dinesh score 5%
more than Sunil in 1st term and Sathish score 5% less
than dinesh in 2nd term)?

(1) 8.3453 (2) 6.4375

(4) 4.4444 (5) None of these

(3) 5.4353

What is the ratio of Sathish in chemistry in 1st and 2nd
term together to Dinesh in maths in both terms

together?
(1) 81:91 (2) 88:38 (3) 82:31
(4) 81:98 (5) None of these

Directions (156-160): Study the charts carefully and answer

156.

157.

158.

159.

160.

14 | Page

the related questions. The bar graph shows the profit %
earned on six different articles. The pie-chart shows the
cost price of six different electronics sold by a store in
2015.

Total cost price = Rs. 72000
Sales

Purifier,
26%

Grinder,
18%

140,
60% Profit%

50% 48%

40%

30% -

20% -

10%

0% -

Grinder

Purifier  Mixer Juicer AC Heater

The selling price of Juicer and Grinder together is
approximately what percent of the selling price of
Heater and Mixer together?
(1) 88% (2) 96%

(4) 80% (5) 150%

(3) 100%

The marked price of Heater is what percent of the cost
price of grinder?

(1) 35% (2) 40%

(4) Data inadequate (5) None of these

(3) 22%

What is the difference between the selling price of
Purifier and that of Heater?

(1) Rs.1520.67 (2) Rs.26450

(3) Rs.3457.45 (4) Rs.2491.20

(5) Rs.1457.8

The selling price of Juicer is approx. what percent of the
selling price of AC?
(1) 85%
(4) 70%

(2) 75%
(5) 115%

(3) 90%

The marked price of Mixer is approx. what percent of
the selling price of Purifier if 20% discount is available
on Mixer?
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(1) 55%
(4) 36%

(2) 51%
(5) 44%

(3) 45%

Directions (161-165): In each of the following questions, a

161.

162.

163.

164.

165.

Fb:-

question is followed by two or three statement. Read all
the statements and find that which statements are
required to answer the question and answer
accordingly.

What is the respective ratio of initial investments of P
and Q?

I. The initial investment of Q was Rs. 12000.

Il. P started the business by investing a certain amount
and he invested for the whole year. Q joined P after 4
months the start of the business and invested for the
rest of the year. The profit earned by P and Q are in the
respective ratio 7:8.
(1) Both I and Il

(4) Neither I nor Il

(2) Only 1l
(5) Either l or 1l

(3) Only 1

In how many days 6 men and 5 women can complete
the work working together?

Statement I: The ratio of efficiency of man to woman is
2:1

Statement Il: 9 Women can complete three-five of the
work in 15 days.

Statement Ill: 6 Men and a child together can complete
1/4th work in 12 days while 6 women and the child
together can complete two-third of the work in 16 days
(2) I and either Il or 11l

(2) Any combination of 2 statements can give the
required result

(3) Only I and Il

(@) AllL, Iand 11l

(5) None of these

How many students are there in the institute of
Computer, Electrical and Mechanical department
(Consider only three departments)?

Statement |: 20% of the students study Mechanical.
Statement 1l The number of students studying
Computer and Electrical are in the ratio of 5:3.
Statement |Ill:  The number of students studying
Electrical is more than that of studying Mechanical by
100.

(1) Only 1l and 1l

(2) 1l and either | or 1l only

(3) Any two of the three

(4) All'L, I1and 111

(5) Question cannot be answered even with the
information in all the three statements

What is the cost of flooring a rectangular hall?
Statement |: The ratio of length and breadth of the hall
is 5:4.

Statement Il: The length of the hall is 50 metres and
the cost of flooring is Rs. 1000 per square metre.
Statement Ill: The perimeter of the hall is 180 metres
and the cost of flooring is Rs. 1000 per square metre.
(1) Only land 1l

(2) Only Il and 1l

(3) Any two of the three

(4) Only I and IlI

(5) I and either 1l or 111

In a concert in school, amount gathered by selling the
tickets was Rs 60000 when all were of equal value.
Each student got 1 ticket. What was the cost of 1 such
ticket?

Statement |: If the price of each ticket had been Rs 50
less, the total amount gathered would have been 15000
less.

Statement II: If the price of each ticket had been Rs 50
more, the total amount gathered would have increased
by 25%.

(1) If the data in statement | alone is sufficient to
answer the question.

(2) If the data in statement Il alone is sufficient to
answer the question.

(3) If the data either in statement | alone or statement |l
alone are sufficient to answer the question.

(4) If the data given in both | and Il together are not
sufficient to answer the question.

(5) If the data in both the statements | and Il together
are necessary to answer the question.

Directions (166-170): In each of the following number series,

166.

167.

168.

169.

170.

171.

172.

a wrong number is given. Find out the wrong number.

23, 38, 53, 68, 85, 98

(1) 53 (2) 85 (3) 98
(4) 68 (5) None of these

5, 8, 14, 26, 50, 98, 154

(1) 26 (2) 98 (3) 14
(4) 154 (5) None of these

18, 119, 708, 3534, 14136, 42405

(1) 3534 (2) 119 (3) 42405
(4) 708 (5) 18

8, 19, 41, 107, 184, 283, 404

(1) 19 (2) 283 (3)41
(4) 107 (5) 184

851, 601, 551, 501,476, 463.5, 457.25

(1) 601 (2) 551 (3) 501
(4) 463.5 (5) None of these

Diraj invests Rs. 25,500 in a scheme which earns him
simple interest at the rate of 20% p.c.p.a. for two years.
At the end of two years, he reinvests the principal
amount plus interest earned in another scheme which
earns him compound Interest at the rate of 10% p.c.p.a.
What will be the total interest earned by Diraj over the
principal amount at the end of 4 years?

(1) Rs. 17,697 (2) Rs. 15,017

(3) Rs. 23,597 (4) Rs. 24,247

(5) None of these

Sanjai works as a state contractor for MST and supplies
bitumen mix for road construction. He has two varieties
of bitumen, one at Rs. 42 per kg and the other at Rs. 25
per kg. How many kg of first variety must Sanjai mix
with 25 kg of second variety, so that he may, on selling
the mixture at 40 kg, gain 25% on the outlay?

(1) 30 (2) 20 (3)25

(4) 15 (5) None of these

Directions (173-177): Study the given information carefully to
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answer the questions that follow.

MNC consists of employees working in different
departments, viz BPO, Web designer, IT, Content writer
and System Admin. The total employee in MNC 2400
and the ration of male to female employees in the MNC
is 5:3. Twelve percent of the males work in the BPO
department. Twenty-four percent of the females work in
the System Admin department. The ratio of males to
females working in the BPO department is 6:11. One-
ninth of the females work in the IT department and
Forty-two percent of the males work in the Content
writer department. The number of females working in
the Content writer department is 10 percent of the
males working in the same. The remaining females
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work in the Web designer department. The total number
of employees working in the IT department is 285.
Twenty-two percent of the males work in the Web
designer and the remaining employees work in the
System Admin department.

The number of males working in the IT department
forms approximately what percent of the total number of
males in the MNC?
(1) 5%
(4) 4%

(2) 12%
(5) 18%

(3) 21%

What is the difference between males in System Admin
department and Males in IT department?
(1) 10 (2) 15

(4) 16 (5) None of these

(3) 18

The total number of employees working in the System
Admin department forms what percent of the total
number of employees in the MNC?

(1) 19.34% (2) 16.29%

(4) 23.15% (5) None of these

(3) 11.47%

The number of females working in the Content writer
department forms what percent of the total number of
females in the MNC?
1) 7%
(4) 1%

(2) 2%
(5) None of these

(3) 4%

What is the total number of females working in the BPO
and Web designer departments together?
(1) 363 (2) 433

(4) 521 (5) None of these

(3) 545

P and Q are partners in a Company out of which P is
sleeping partner and Q is working partner. P invests Rs.
80,000 and Q invests Rs. 60,000. Q receives 20%. of
profit for managing the business and the rest is shared
between both in ratio of their investments. P's share in
the profit of Rs. 8000 is?

(1) Rs. 3657.15 (2) Rs. 4210.25

(3) Rs. 5428.35 (4) Rs. 6487.75

(5) None of these

A scooter is available at 30% discount at shop “P” and
the same is available at only 15% discount at shop “Q”.
Mr. Jai has just sufficient amount of Rs. 35,000 to
purchase it at show room “P”. What is the amount that
Mr. Jai has less than the required amount to purchase it
at that shop “Q"?
(1) Rs 2500

(4) Rs 9000

(2) Rs 5000
(5) None of these

(3) Rs 7500

Mr. Kalyan’s total annual entire salary, which was Rs. 6
lakhs per year in 2015, has been reduced by 20% in
2016. In 2015 his family expenditure for education was
60% of the total annual gross salary. The prices of
average expenditure for education have increased by
10% between 2015 and 2016. Assuming that the family
consumed the same amount of education in 2016, the
percentage expenditure on education, calculated on
total annual entire salary in 2016, is approximately:

(1) 66.4% (2) 75.6% (3) 82.5%
(4) 94.7% (5) None of these

Deekshitha has 5 Patiala in her wardrobe. One of them
is white the second is blue, the third green, the fourth is
yellow and the last is pink. In her wardrobe, she also
has 6 tops. One of them is white and the other 5 are
black. She opens her wardrobe in the dark and picks
out one top and one Patiala pair without examining the
colour. What is the likelihood that neither the top nor the
Patiala is white?
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(1) 5/9
(4) 1/3

(2) 4/9
(5) None of these

3) 2/3

PQR is a right angle triangle with right angle at Q. if the
semi-circle on PQ with PQ as diameter encloses on
area of 243 sq.cm and the semicircle on QR with QR as
diameter encloses an area of 108 sg.cm then the area
of the semicircle on PR with PR as diameter will be.

(1) 305 sg.cm (2) 325 sq.cm

(3) 351 sg.cm (4) 362 sq.cm

(5) None of these

A van and a taxi are available to cross a jungle. The
speed of the taxi is twice that of the van. The capacity
of the taxi is 100 persons and that of van is 60 persons.
The average occupancy of the van is thrice that of the
taxi. The tickets for the van and the taxi cost Re 2 and
Re 2.50 respectively. What is the ratio of the average
rupee collection of the taxi to that of the van in a day?
Assume there is no wastage time between trips and the
occupancy of the van/taxi is defined as the ratio of the
actual number of persons boarding it and its capacity.
(1) 25:18 (2) 15:17 (3) 18:25

(4) 17:16 (5) None of these

A sum of money for the first two years at a rate of
interest is 7% p.a., for the next two years it is 8% p.a.
and 9% p.a. for the period exceeding four year; all at
simple interest. If a person earns aninterest of Rs.
15072 by the end of the 8 years, what is the amount at
the end of the period of investment?

(1) Rs 56308.70 (2) Rs 48768.25

(3) Rs 37908.36 (4) Rs'24368.52

(5) None of these

In a certain batch, 240 candidates are male and 200
candidates are female. 50% of the male candidates and
40% of the female candidates are law candidates.40%
of the male law candidates and 50% of the female law
candidates passed the final exam. What percentage of
law candidates passed the exam?

(1) 45% (2) 42%

(4) 47% (5) None of these

(3) 46%

Three persons Venu, Banu and Renu invested different
amounts in a secure deposit scheme for one year at the
rate of 9% per annum and earned a total interest of Rs.
2430 at the end of the year. If the amount invested by
Banu is Rs. 3750 more than the amount invested by
Venu and the amount invested by Renu is Rs. 1500
more than the amount invested by Banu, what is the
amount invested by Banu?

(1) Rs.8250 (2) Rs.9500

(4) Rs.9750 (5) None of these

(3) Rs.8645

Nandhini & Vaishnavi start a hotel with investment of
Rs.15000 and Rs.13500 respectively. After 4 months,
Nandhini takes out half of her capital. After 2 more
months, Vaishnavi takes out one fourth of his capital
while Preethi joins them with a capital of Rs.21000. at
the end of a year, they earn a profit of Rs.15510. find
the share of each member in the profit?

(1) 4800, 5670, 5040 (2) 5000, 5870, 5240

(3) 4600, 5470, 4840 (4) 4000, 4870, 4240

(5) None of these

At his usual rowing rate, Sunith can travel 12 miles
downstream in a certain river in 6 hours less than it
takes him to travel the same distance upstream. But if
he could double his usual rowing rate for his 24-mile
round trip, the downstream 12 miles would then take
only one hour less than the upstream 12 miles. What is
the speed of the current in miles per hour?
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(1) 2 2/3 mph
(4) 3 mph

(2) 2 mph
(5) None of these

(3) 1 ¥amph

A special coupon is to be held to select students who
will live in the only ac room in a hostel. There are 80
Year-3, 160Year-2 and 120 Year-1 students who
applied. Each Year-3's name is placed in the lottery 3
times; each Year-2's name, 2 times and Year-1's name,
1 time. What is the probability that a Year-2's name will
be chosen?
(1) 8/17

(4) 5/17

(2) 6/17
(5) None of these

(3) 717

The length and breadth of the hall are 60 feet and 30
feet respectively. Square tiles of a 4 feet length of
different colors are to be laid on the floor. Red tiles are
laid in the 1st row on all sides. If green tails are laid in
the one — two time of the remaining and yellow in the
rest, approximately how many yellow tiles will be there?
(1) 52 (2) 63 )72

(4) 35 (5) None of these
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The National Dengue Day is observed on May
16 every year in India, with the recommendation
of Union Ministry of Health and Family Welfare.
The day aims to create awareness about
dengue and calls to intensify preventive
measures and preparedness for the control of
disease.

Guwahati now has India’s first railway station run
by solar power. The project of installing solar
panels was commissioned last year in April
2017. Around 2352 solar modules with a
capacity of generating 700 kwp has been set up
over the roof of the Guwahati railway station.
Solar panels have been installed at the roof-top
solar power plant.

Shivangi Pathak (16) has become the India’s
youngest women to scale Mt Everest from Nepal
side. Born in Hisar of Haryana, Shivangi climbed
Mt Everest to spread the message that women
could overcome any obstacle to achieve their
goals.

According to the annual State of Global Air
Report, published the Health Effects Institute
(HEI), more than 95% of the world’s population
is breathing unhealthy air and the poorest
nations are the hardest hit. India has largest
numbers of people exposed to household air
pollution in 2016: 560 million in India and
followed by 416 million in China.

The 1st regional workshop on star rating of
garbage- free cities, organized by the Ministry of
Housing and Urban Affairs (MoHUA) in
collaboration with the New Delhi Municipal
Council (NDMC) was inaugurated in New Delhi.
The Swachh Bharat Mission (Urban) focuses on
two key objectives- eradication of open
defecation and 100% scientific solid waste
management (SWM).

Gujarat Government has launched the digital
platform ‘Pocket Cop Project’ in order to ensure
that the police force of the state is equipped with
modern day technology. Under the project,
every officer in charge of the police station,
Investigating Officer, PCR van and officials
handling the passport verification process shall
be equipped with a smartphone enabled with
internet connectivity.

Subhash Chandra Garg An inter-ministerial
committee of government has recommended the
ban on private cryptology and officially issuing
digital currency. The government had
constituted the committee  under the
chairmanship of Secretary of the Department of
Economic Affairs, Subhash Chandra Garg, to
study issues related to virtual currency. It
included the top officials of the Reserve Bank,
SEBI and the Ministry of Information
Technology.

It has been mandatory for vendors to bill the
customers by adopting the policy of No Bill, No
Payment by Indian Railways. According to
Indian Railways, if a seller refuses to bill you on
the train or railway platform, then you do not
have to pay it to him. With the implementation of
this scheme, the arbitrariness of the vendors will
take a break and system transparency will come.
Union Minister Nitin Gadkari said that LIC has
offered Rs 25,000 crore annually and 1.25 lakh
crore in five years. In the first phase of the plan,
34,800 km will be upgraded. The project will be
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financed through cess, toll revenue, market loan,
private sector participation, insurance fund,
pension fund, masala bonds and other
initiatives.

Jharkhand has launched the "Amrit Vahini" App
for the online booking of hospital beds. Corona
patients in Jharkhand can book hospital beds
online through the "Amrit Vahini" App launched
by CM Hemant Soren.

This tax was applied by South Africa on June 1,
2019. South Africa has left behind the United
Kingdom and France in terms of pollution and
will soon fill the landfills there. Carbon tax is a
means of controlling pollution, in which the
amount of carbon emission is charged on the
production, distribution and use of fossil fuels.

Jharkhand has clinched the 1st Position among
the 36 States & UTs of India based on the
progress of implementation of Smart City
projects, Rajasthan came second in the
rankings. The rankings were released by the
Ministry of Housing & Urban Affairs (MoHUA).
The Ministry of Railways has approved the
renaming of the Kevadiya railway station in the
Narmada district of Gujarat, as Ekta Nagar
railway station.

The Statue of Unity’s Kevadiya railway station
falls under the Vadodara division.

The station code of Ekta Nagar railway station
will be EKNR. The numerical code of the station
will be 08224620.

Last year, the Ministry of Railways had said
tourists visiting the world’s tallest statue in
Gujarat “Statue of Unity” will be able to
experience the rich cultural history of the state at
the Kevadiya railway station itself.

Under the public-private partnership (PPP)
initiative, the Vadodara Division of Western
Railways had awarded first of its kind contract in
the Indian Railways network for the development
of an Art Gallery with a Souvenir shop at
Gujarat’'s Kevadiya Railway station.

Recently renamed stations -

Jhansi railway station - Veerangana Laxmibai
railway station

Faizabad - Ayodhya Cantt

Habibganj - Gond Queen Rani Kamlapati

The Centre has approved construction of 1.5
lakh houses for urban poor under the Pradhan
Mantri Awas Yojana. The Housing and Urban
Affairs Ministry announced that latest approval
entails an investment of Rs. 7,227 crore with
central assistance of Rs. 2,209 crore.

Tata Sons Emeritus Chairman, veteran
industrialist and philanthropist Ratan Tata’s
authorized biography titled "Ratan N. Tata: The
Authorized Biography" will be launched in
November 2022. The biography is penned by a
former senior bureaucrat and retired 1AS officer
Dr Thomas Matthew. It will be published by
HarperCollins. The book chronicles around the
84-year-old Ratan Tata’s childhood, college
years, and early influences, among other things.
The Centre has constituted the Cauvery Water
Management Authority (CMA) to address river
water sharing disputes among the states of
Tamil Nadu, Karnataka, Kerala and Puducherry.
Government will initially contribute a sum of Rs 2
crore for the functioning of the authority.

Tata Motors Ltd. has signed a Memorandum of
Understanding  (MoU) with the  State
Government of Maharashtra for deployment of
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1000 Electric Vehicles (EV) across its range of
passenger and commercial vehicles in the State.
The company also partnered Tata group
company, Tata Power Ltd to set up of EV
Charging Stations in the State.

Thomas Antony is the Cartoonist. He has won
the World Press Cartoon Awards in the best
caricature category. The 13th edition of the
World Press Cartoon awards has 9 winners from
eight countries in three continents— Europe, Asia
and South America. Antony is the lone
cartoonist selected from Asia selected for the
prize. He currently works as Executive Artist of
Malayalam daily ‘Metro Vaartha.

The Union Government has set up an executive
committee, under the chairmanship of Prime
Minister Narendra Modi to spread Mahatma
Gandhi’'s legacy among the people at the
national and international level. The committee
will comprise of senior cabinet ministers, the
leader of opposition in the Rajya Sabha,
renowned Gandhians, social activists and noted
public figures.

Alabama’s Senate has approved a stringent
abortion law, which would make performing an
abortion at any stage of pregnancy a crime
punishable by up to 99 years or life in prison.
Egyptian President Abdel Fattah al-Sisi has
been sworn in for a second four-year term in
office with 97% of valid votes in favor defeating
Moussa Mostafa Moussa who was the only
opponent.

The Telangana government issued an order
providing two per cent reservation in
government jobs in Telangana to meritorious
sportspersons. The move however, will not
affect the overall percentage of reservation in
the state.

Balkavi Bairagi noted hindi film lyricist and a Lok
Sabha member between 1984 and 1989 and
also a

former Rajya Sabha MP has passed away.

In a first, a Post Office Passport Seva Kendra
(POPSK) run by an all-woman team has started
operations in Phagwara, Punjab. It was 192nd
POPSK in the country, but the first one to be
operated by an all-woman team.

Odisha’'s Ganjam has declared itself a child
marriage free district, the first in the State.

The district administration has been able to stop
as many as 450 child marriages and video-
record 48,383 marriages in two years — 2020
and 2021.

After verification, the Ganjam administration
declared it a child marriage free district.
Sarpanchs and task force committee members
had sent recommendations that no child
marriage had taken place in their respective
areas.

About the programme:

Ganjam had started a programme Nirbhaya
Kadhi (Fearless bud).

As many as one lakh teenagers have undergone
counselling in the past two years.

India will host the ICC Women's ODI Cricket
World Cup 2025.

This was confirmed by the International Cricket
Council (ICC) during its ongoing ICC Annual
Conference in Birmingham.
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Bangladesh will host ICC Women's T20 World
Cup 2024 for the first-ever time, while England
will host ICC Women's T20 World Cup 2026.
The Women's ODI World Cup 2025 will be the
fifth time India will host an ICC Women's
tournament.

VVS Laxman, Daniel Vettori appointed to ICC
Cricket Committee -

Veteran cricketers VVS Laxman and Daniel
Vettori have been appointed to the ICC Men’s
Cricket Committee as current player
representatives.

West Indies cricketer Roger Harper was also
appointed as the second past player
representative, joining former Sri Lankan skipper
Mahela Jayawardena.

The election for the ICC Chairman's position will
take place in November 2022.

The position is currently occupied by Greg
Barclay.

His term is scheduled to come to an end this
year.

The term of the ICC Chairman will run for a
period of two years, from December 1, 2022 to
November 30, 2024.

India and Germany have agreed to diversify
bilateral cooperation.

Both sides also agreed to focus on
collaborations in the field of green energy and
climate action.

They reviewed the potential of ongoing
cooperation initiatives, including for promoting
trade links and investment.

Olaf Scholz sworn in as chancellor of Germany,
and ended the 16-year tenure of Angela Merkel.
For the past 40 years, only three individuals
have occupied this position.

India-Germany Bilateral Trade Relations
Germany is India’s largest trade partner among
European countries. Indian mainly exports in

textile sector, chemical products, electrical
engineering products, food stuffs, metal &
leather goods to Germany

German goods like metal goods, chemical

products, electrical engineering products, motor
vehicles and vehicle parts are highly demanded
in India.

Odia

World Day of War Orphans is marked on 6
January to create awareness about the plight of
children who have lost their parents due to
conflict.

History:

World Day of War Orphans was started by the
French organisation SOS Enfants en Detresses,
which aimed to help children affected by conflict.
Significance:

On World Day of War Orphans, several
awareness programmes are organised to create
awareness about the trauma endured by
orphaned children.

Indermit Gill has been appointed as the Chief
Economist of World Bank, becoming the second
Indian to take up the post after Kaushik Basu.
Gill has been appointed as chief economist and
senior vice-president for development
economics at the multilateral development bank.
He will be succeeding Cuban-American
economist Carmen M Reinhart.

About Indermit Gill -

Indermit Gill is an Indian National, who is
currently Vice President for Equitable Growth,
Finance, and Institutions, where he led work on
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macroeconomics, trade, debt,
governance.

He was a professor of public policy at Duke
University between 2016 and 2021.

He was also a professor at the University of
Chicago and the Georgetown University.

He holds a Ph.D in economics from University of
Chicago.

He was also a non-resident senior fellow in the
Global Economy and Development program at
the Brookings Institution.

He had spearheaded the 2009 World
Development Report on Economic Geography.
His work includes introducing the 'middle income
trap' concept to describe how developing
countries stagnate after reaching a certain level
of income.

He also published on policy issues faced by
developing countries and about green growth,
sovereign debt, poverty and inequality,
managing natural resource wealth and labor
markets.

About World Bank -

The World Bank is an international financial
institution that provides grants and loans to the
low and middle-income countries for pursuing
capital projects.

World Bank Chief Economist Role -

The Chief Economist of the World Bank is a
senior economist, who is tasked with providing
intellectual leadership and direction to the
International  Financial Institution's  overall
economic research agenda and international
development strategy.

The World Bank Chief Economist is a member of
the Bank’s senior management team, who
advises the World Bank President and the
institution's management on economic issues.
The Indian Space Research Organisation is
collaborating with the Raman Research Institute
to build the X-Ray Polarimeter Satellite (XPoSat)
that is scheduled to be launched later this year.
According to ISRO, "XPoSat will study various
dynamics of bright astronomical X-ray sources in
extreme conditions".

It has been billed as India’s first, and only the
world’s second polarimetry mission that is meant
to study various dynamics of bright astronomical
X-ray sources in extreme conditions.

The other such major mission is NASA’s
Imaging X-ray Polarimetry Explorer (IXPE) that
was launched in 2021.

X-rays have much higher energy and much
shorter wavelengths, between 0.03 and 3
nanometers, so small that some x-rays are no
bigger than a single atom of many elements.
Indian Bank announced that it has been
selected as a Clearing and Settlement Bank by
the Indian Clearing Corporation Ltd (ICCL).

As a result, this public sector bank is now
authorized to provide banking services to
members of the Bombay Stock Exchange (BSE)
for clearing and settlement operations.
Additionally, the bank has introduced an e-TDR
(electronic Term Deposit Receipt) product, in
collaboration with ICCL, to enable online
transmission of Fixed Deposit Receipts (FDR)
and margin on behalf of the clearing members.
The NVS-01 satellite has successfully launched
by the Indian Space Research Organisation
(ISRO) using the GSLV-F12.

After a 19-minute flight, it was accurately placed
into a Geosynchronous Transfer Orbit.

poverty and
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GSLV-F12 is the 15th flight of India’s GSLV
(Geosynchronous Satellite Launch Vehicle) and
the 9th flight with indigenous cyro stage.

This is the 6th operational flight of GSLV with
indigenous cryogenic stage.

Its purpose is to provide continuity for the NavIiC
(Navigation in Indian Constellation) services,
which is an Indian Regional Navigation Satellite
System (similar to GPS) that offers accurate and
real-time navigation within India and up to a
1500 km region around the country.

Telangana State has achieved a significant
milestone in financial inclusion by attaining
100% coverage of the Pradhan Mantri Jan Dhan
Yojana (PMJDY).

Since the launch of this national mission, the
state has made remarkable progress in
extending banking services to all sections of the
population.

Pradhan Mantri Jan Dhan Yojana -

Pradhan Mantri Jan Dhan Yojana (PMJDY) is
the National Mission for Financial Inclusion.
Pradhan Mantri Jan-Dhan Yojana (PMJDY) was
launched by Narendra Modi on 28th August
2014.

Prime Minister Narendra Modi first announced
this scheme during his Independence Day
speech on 15th August 2014.

The government's decision to - make income
proof mandatory for investments of Rs 10 lakh or
more in small savings schemes is a proactive
step towards combating money laundering and
terrorist financing.

Some small saving schemes are -

Public Provident Fund (PPF)

National Savings Certificates (NSC)

Post Office Savings Account

Post Office Time Deposit

Post Office Recurring Deposit Account

Post Office Monthly Income Scheme (POMIS)
Sukanya Samriddhi Yojana

Senior Citizens Saving Scheme (SCSS)

The Comptroller and Auditor General of India,
Girish Chandra Murmu has been re-elected as
the External Auditor of the World Health
Organisation (WHO) for a four-year term from
2024 to 2027.

The CAG is already holding this position in the
WHO since 2019 for a four-year term from 2019
to 2023.

The election was held yesterday in the Seventy-
sixth World Health Assembly in Geneva.

The CAG was re-elected, with an overwhelming
majority of 114 out of 156 votes in the first round
of voting.

The External Auditor of the World Health
Organization (WHO) is an independent auditor
who is appointed by the World Health Assembly
(WHA) to audit the financial statements and
operations of WHO.

The External Auditor is responsible for providing
an independent and objective opinion on the
financial statements of WHO, and for reporting
on any significant findings or recommendations.
The smallest state by area, Goa got its
statehood on May 30, 1987.

It was a Portuguese territory since Alfonso de
Albuquerque conquered it in 1510 by defeating
Adil Shah of Bijapur who was ruling the region.
400 years later, India took back Goa from the
Portuguese.

This year Goa celebrates its 36th anniversary of
statehood.
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Ans.42(1)

Ans.43(3)

Ans.44(4)

Fb:-

May 30 is the day when Goa was declared a
state separate from Daman and Diu.

This took place in the year 1987 and since the,
the day is observed as "Goa Statehood Day".
After it received its statehood, Panaji was given
the status of the capital of Goa and Konkani
language became the official language

World No Tobacco Day is an annual event held
on May 31, organized by the World Health
Organization (WHO) to promote awareness
about the detrimental consequences of tobacco
usage .

Theme -

This year the theme for World No Tobacco Day
is "We need food, not tobacco".

History -

The Member States of the WHO created World
No Tobacco Day in 1987 to draw global
attention to the tobacco epidemic and the
preventable death and disease it causes.

In 1987, the World Health Assembly passed
Resolution WHA40.38, calling for 7 April 1988 to
be "a world no-smoking day".

In 1988, Resolution WHA42.19 was passed,
calling for the celebration of World No Tobacco
Day, every year on 31 May.

The Eknath Shinde-led Shiv Sena-Bharatiya
Janata Party government named cricket great
Sachin Tendulkar as Maharashtra’s "Smile
Ambassador" under the state’s "Swachh Mukh
Abhiyan" to spread awareness about oral health
and hygiene across the state.

The former Indian cricketer will be the
campaign’s brand ambassador for the next five
years.

The SMA campaign has been conceptualised in
association with the Indian Dental Association
(IDA) in order to promote oral hygiene.

The SMA aims to educate people about the
importance of good oral hygiene by spreading
awareness about the same.

Senior bureaucrat Angshumali Rastogi was
appointed India’s representative to the council of
the International Civil Aviation Organization
(ICAO) in Montreal, Canada, according to a
Personnel Ministry order.

Rastogi, a 1995 batch officer of the Indian
Railway Service of Mechanical Engineers
(IRSME), has been appointed in place of Shefali
Juneja for three years.

Other Important Appointment -

Hemang Jani, Secretary of the Capacity Building
Commission, has been named Senior Adviser to
the Executive Director, World Bank, Washington
DC, for three years.

Sai Venkata Ramana Anil Das will be an adviser
to the Executive Director, World Bank,
Washington DC, in place of Suresh Yadav, for
three years.

Anand Singh, a 2000 batch IAS officer of Kerala
cadre, will be Senior Adviser to the Executive
Director, International Monetary Fund,
Washington DC.

Jujjavarapu Balaji, a 2001 batch IAS officer of
the Assam-Meghalaya cadre, has been
appointed to the post of Minister (Agriculture),
Embassy of India, Rome.

Balaji's batchmate from Manipur, Nidhi Mani
Tripathi will be Minister (Economic), High
Commission of India, London. Tripathi has been
appointed for a tenure of three years.

Ponnuraj V, a Karnataka cadre IAS officer of the
2000 batch, will be a senior adviser to the

Ans.45(4)

Ans.46(1)

Ans.47(3)

Ans.48(5)

Ans.49(2)
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executive director of the Asian Development
Bank, Manila.

Debjani Chakrabarti, a 2002 batch Odisha cadre
IAS officer, has been appointed as Minister
(Economic & Commercial), Embassy of India,
Tokyo for three years.

Venkatesh Palani Samy, Agricultural Research
Service (2007), will be the adviser (Agriculture
and Marine Products), Embassy of India,
Brussels.

IAS officer Nidhi Srivastava has been appointed
as First Secretary (Legal), Permanent Mission of
India (PMI), World Trade Organization, Geneva
for a tenure of three years.

Vivek Chaudhary will be Counsellor (Economic),
Economic Wing, Embassy of India, Washington
DC, and Bhavesh R Trivedi has been appointed
Director, SAARC Secretariat, Kathmandu.

Bola Tinubu was sworn in as the President of
Nigeria.

The inauguration ceremony, held at Eagles
Square in the capital city of Abuja.

Key Points about Nigeria -

Capital: Abuja.

President: Bola Tinubu.

Currency: Nigerian Naira (NGN).

Largest City: Lagos (one of the fastest-growing
cities in the world).

Independence: Nigeria gained independence
from British colonial rule on October 1, 1960.
Economy: Nigeria has the largest economy in
Africa, driven primarily by oil exports.

Religion: Nigeria is religiously diverse, with Islam
and Christianity being the dominant religions.
The urban unemployment rate in India has
continued its downward trajectory, reaching
6.8% in the January to March 2023 quarter.

In the preceding two quarters, the urban
unemployment rate stood at 7.2%, while in the
January to March 2022 quarter, it was 8.2%.
Since the peak of 20.8% during the national
lockdown in April to June 2020, the
unemployment rate has steadily decreased.
Equitas Small Finance Bank has entered into a
partnership with IBM Consulting to develop and
construct a digital banking platform.

This collaboration aims to enhance Equitas’
digital product offerings and service capabilities,
as the bank adapts its business for the digital-
first generation.

Equitas SFB aims to leverage the collaboration
with IBM to enhance its digital products and
services.

Praveen Kumar Srivastava has been sworn in as
the Central Vigilance Commissioner.

He is a retired 1988-batch Indian Administrative
Service officer of the Assam-Meghalaya cadre
He had been serving as the acting Central
Vigilance Commissioner since December,
following the completion of Suresh N Patel's
tenure as the chief of the probity watchdog.

The Central Vigilance Commission (CVC) is the
apex body responsible for maintaining probity in
public administration, preventing corruption, and
promoting good governance.

Justice  Mamidanna Satya Ratna  Sri
Ramachandra Rao has officially become the
28th Chief Justice of the Himachal Pradesh High
Court.

In June 2012, Justice M S Ramachandra Rao
was appointed as a Judge of the High Court of
Andhra Pradesh.
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Ans.50(3)

Ans.51(4)

Ans.52(4)

Ans.53(1)

Ans.54(1)

Ans.55(3)

Ans.56(2)

Ans.57(5)
Ans.58(4)

Ans.59(3)

Ans.60(4)
Ans.61(3)
Ans.62(4)
Ans.63(1)
Ans.64(1)
Ans.65(2)

Ans.66(4)

Ans.67(3)

Fb:-

He later assumed the role of the Chief Justice
for the State of Telangana from August 31,
2021.

Additionally, he has served as a Judge of the
Punjab and Haryana High Court.

Notably, his grandfather was also a judge of the
High Court of Andhra Pradesh from 1960 to
1961.

India is set to host the 14th Clean Energy
Ministerial (CEM-14) and 8th Mission Innovation
(MI-8) meeting in Goa from July 19th to 22nd,
2023.

With the theme "Advancing Clean Energy
Together", this year's CEM and MI meetings will
bring together global stakeholders.

Mission Innovation (MI) is a global forum
comprising 23 countries and the European
Commission.

MI aims to accelerate the clean energy
revolution and progress towards the goals of the
Paris Agreement and pathways to net-zero
emissions.

General English

In 2, ‘In the budget is incorrect usage. The
correct usage is ‘With the budget’. In 4, ‘are’ is
missing. ‘GIFT authorities are expected is
correct usage.

In 1, ‘maintain the real time record’ is incorrect.
‘maintain a real time record’ is correct usage. In
4, ‘proposal with the government’ is incorrect.
‘proposal to the government’ is correct usage.

In 1, ‘among the two’ is incorrect usage.
‘Between the two’ is correct usage.

In 1, ‘at the shelves’ is incorrect usage. ‘off the
shelves’ is correct usage. In 3, ‘out for orders of
A380’ is incorrect. The correct usage is ‘out of
orders for A380'.

In 2, ‘hyperbola’ is incorrect. The correct word is
‘hyperbole’ meaning exaggeration. In 3, ‘over
the southern copper belt’ is incorrect usage. The
correct usage is ‘in the southern copper belt'.

In 4, ‘has not updated’ is incorrect usage. The
correct usage is ‘have not updated’. In 2, ‘in
regard to’ is incorrect usage. The correct usage
would be ‘with regard to’.

All of the options are correct.

In 2, ‘forage in’ is incorrect usage. The correct
usage is ‘forage for meaning to look or search
for.

In 3, ‘bumping 2017’ is incorrect usage. The
correct usage is ‘Bumper 2017° meaning
profitable.

In 4, ‘largely in the states’ is incorrect usage.
The correct usage is ‘largely to the states.

In 4, ‘with an intense’ is incorrect usage. ‘in an
intense’ is correct usage.

The passage here wants to convey that
response undoubtedly took into account. Option
a presumably is synonym for the same.

Here the passage wants to convey that there
was a fallout of the situation.

Here the passage wants to convey the message
that there was a regret among them. Contrition
is synonym for regret.

Here the passage wants to convey that there
was wrongdoing by the bank. Malfeasance is
synonym for the wrongdoing.

Ans.68(1)
Ans.69(4)
Ans.70(5)

Ans.71(4)

Ans.72(3)
Ans.73(2)
Ans.74(1)
Ans.75(3)
ANns.76(4)

Ans.77(4)

Ans.78(2)

Ans.79(1)

Ans.80(4)
Ans.81(3)
Ans.82(4)
Ans.83(1)

Ans.84(3)

Ans.85(4)

Ans.86(3)
Ans.87(2)
Ans.88(1)

Ans.89(4)

Ans.90(2)
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Perpetrators mean people who do illegal things.
It is exactly fit for the passage.

Shun means to be unable to deliver. That is
exactly the opposite of the message that the
passage wants to convey. ‘gimme’, which means
to deliver or put on a good show.

The passage here wants to convey that the
regulators of the bank departed from their paths.
Diverged is synonym for the same.

The passage wants to convey the message that
lenders want to enlist existing promoters. Hitch
is a synonym for enlisting meaning to sign up for
a responsibility.

The passage clearly tells us that India needs to
create stringent norms for safeguarding the
access to public data. Also, it tells us that India
should learn from shrewdness of china and
employ similar management techniques.

‘But because it was gaining market share and
killing off competition, investors rewarded it with
a high stock price. With that, it raised money at
below-market interest rates and used it to
increase its market share.’ This passage clearly
tells that investors employed a strategy of killing
the competition.

The passage clearly lays out for us that India
needs to improve.  infrastructure  and
subsequently improve in technology.

Options 2 and 3 are out of the context of the
passage as-there is no talk of hacking or tax
evasion here. However, the main issue is about
companies gaining a lot more than anticipated.

‘Ratan Tata, the group’s 80-year-old-patriarch,
who has no direct heirs. The resulting ambiguity
has led Tata to be too tolerant of weak
businesses. This line clearly tells,

‘It must ensure that the stars, TCS, JLR and
Titan, continue to thrive, which means leaving
them alone.’ This clearly tells.

The author is neither authoritative nor
pessimistic as he neither discourages the
scheme nor forces it to happen. He simply
believes newer avenues should be invested in
congregation with autonomy of older ones.
Option 3 is clearly mentioned in the passage as
it tells that he has the ability to ask questions
from Mr. Ratan Tata.

The line following the Blanks tell that someone
has authority over her. Option 2 here is correct
as it tells someone else is taking decisions.

The passage at end tells that governments are
shying away from the scheme. That means it
must be costing them heavily.

‘This would increase the database to far
reaching areas and increase its jurisdiction in a
disastrous way.” This line clearly indicates that
they fear that it will increase the reach in areas
where it shouldn’t.

Only option 2 is grammatically correct.
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Reasoning Ability and Computer Aptitude Ans.104(1)

Ans.91(4) 7 \)PC
6 Samsuny
5 S N /
4 Only I and III follow
3 S Ans.105(4) Both options (a) and (b) are true
2 v Ans.106(1) Explanation: Only argument | is strong
= Statement implies the disadvantages of using
1 W the debit card. As the given assumption implies

Ans.92(5) also the disadvantage of using debit cards. So
' R P Q TV argument | is strong. Argument Il tells the
‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ advantage of using debit card, it does not
Ans.93(1) support the given statement.
Ans.107(5) The adoption of artificial intelligence, which is

k M used to uplift the healthcare system. And also
T G with the introduction of electronic medical
X records system they can access data anytime.
) So both | and Il follows
K Ans.108(1) Because using plastics which cause air
L Q pollution. So plastics has been banned in the
capital city of India. So only | follows.
N D Ans.(109-111):
Number Case 2

Ans.94(5)  Code for budget is hg.

Ans.95(5) ¢

I

e

N
=|-|Z|C|=|O|o|m=|Z|o—

19

21

Q
25

27

D is grandfather of P. 29

Ans.109(4)
Ans.110(2)  Alphabet against the number 29 is E.
'Deck’, Only one word can be formed.

Ans.96(4) Both Statement | and Statement 1l are effect of
independent cause
Statement | is effect of conducting an exam is to

test the quality of students. 22:'(111112(?’1) 14).
Statement Il is effect of selling seats to students : ) 2 am L
by comparing their income by rich and poor —
categories. ,
Ans.97(1) Only assumption | is implicit 3m
Statement implies that Medical attention is to be 2m
increased. So if the deduction is limit is
increased, So the people will be encouraged to 8 sm X oamo ]
buy a health insurance policy. So only | follows.
Ans.(98-102): 4m
P Silver C Female
J Violet | B Male _ "
Y m
i?f ?’1;1&0“' g i&n:‘le Ans.112(5)
N Orange | A :\-1ale Ans.113(3) 7m, west
r - = Point Y is 6m south of Point H, Point HZ forms a
Q White B Female . .
T Golden | & Male straight line.
L Green |BIC__ | Female Ans.114(2) . -
S Red C Female —
sm
Y Brown | A Male 7m Sm\z .
Ans.98(3) b
Ans.99(4)
AnleO(4) B sm X am J
Ans.101(4)
Ans.102(5) j4m
Ans.103(2)

\ Ans.(115-119):

Only II and I1I follow
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Ans.115(4)
Ans.116(3)
Ans.117(5)
Ans.118(2)
Ans.119(1)

Jan 12 K The
pilgrim’s
progress

Jan 16 Q clarissa

Jan 23 T Tom Jones

Jan 29 T Mightmare
Abbey

Mar 12 M Sybil

Nar N Jane Evre

Mar 2 R Wanity Fair

Mar 29 s David
Copperfield

June Y Moby-Dick

June L Middlemarch

June 23 B Jude the
obscure

June 29 D The
Rainbow

Red

Ans.(120-124):

Ans.120(5)
Ans.121(2)
Ans.122(5)
Ans.123(4)
Ans.124(3)

sihver

u
orange
T; _F_,_,-o-'-'_ l_l-\-\--""‘m
‘X
W green

e _1_ —
Q- Brown

yellow 5

black

Ans.(125-130): Words are arranged in ascending order.

Fb:-

Different
code has been used for odd and even number
letters in the words.
Even number of letters:
CRYING — Number of letter in the word is 6
(even). So the code is

CRYING

o”?ﬁs

If number of letters is even then the code is
second letter from left +1, we split the word and
the code for middle two letters opposite letter
and second letter from the right +1.

Odd number of letters:

Economy - Number of letter in the word is 7
(odd). So the code is

ECONOMY

M D

If number of letters is odd then the code is
second letter from left +1. We split the word and
the code for middle letter opposite letter and
second letter from the right +1.

Numbers are arranged consecutively with the
number of letters count in a word. If a word has
even number of letters then its code will be twice
of that number else if it is odd then square of the
number will be placed.

Input(4) demography 12 Technologies 5 young
6 crying 10 7 economy

Step I: OBRS 12 Demography 12 Technologies
5 young 10 7 economy

Ans.125(5)
Ans.126(2)
Ans.127(1)
Ans.128(4)
Ans.129(1)
Ans.130(2)

Step Il: OBRS 12 ITIF 20 12 Technologies 5
young 7 economy
Step lll: OBRS 12
Technologies 5 young
Step IV: OBRS 12 ITIF 20 NMD 49 FLOF 24 5
young

Step V: OBRS 12 ITIF 20 NMD 49 FLOF 24
OFP 25

ITIF 20 NMD 49 12

Ans.(131-135):

Ans.131(2)
Ans.132(2)
Ans.133(4)
Ans.134(3)
Ans.135(5)
Ans.136(3)
Ans.137(4)
Ans.138(2)

Ans.139(4)
Ans.140(1)

Ans.141(5)

Ans.142(3)

Ans.143(2)

Ans.144(5)

Ans.145(3)

Ans.146(2)

Ans.147(5)

Ans.148(2)
7 | Page

&%&%%&%=0+64+0+16+8+0+2=90
%%&&%6&%

128+64+0+0+8+0+2=202

HEHHSHSH

10110101->1’s complement is 01001010~
>SHSSHSHS

HTML(Hypertext markup language) is use to
create website

Quantitative Aptitude)

1980.99-1562.5+1728=7-26.49
3735.48-1562.5=?

2172.98="

N(16x3)+ V(16x5)+ \(16x11)+18
11=2+7+411
AN3+4NE+4V11+7=2+T+411
4(\N3+45)=?
1265/25.3+9996-529="7
50+9996-529="?

10046-529="?

9517="?
23+28/100%280-89/100x56="?
23+78.4-49.84="?

51.56=7
{33(17/25)x34(22/27)}+
{35(28/52)%36(37/57)} =?
(842/25x940/27)+ (1848/52x2089/57) =?
(33.68x34.81)+ (35.54x36.65) =?
2474.94="

From both equation

a=7/12, b=16/3

b>a

ab+3b+2a +6 =12
2ab+6b+4a=12----(i)
2ab+5b+4a=11 ---- (i)

From eq. (i) --- (ii)

B=1

From eq. (i)

a=1

a=b

(3a-2)/b = (3a+6)/(b+16)
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Ans.149(5)

Ans.150(5)

Ans.151(5)

Ans.152(4)

Ans.153(3)

Ans.154(2)

Ans.155(1)
Ans.156(2)

Ans.157(4)

Ans.158(4)

Fb:-

48a-8b = 32 ---- (i)

(a+2)/(b+4) = (a+5)/(b+10)

b =2a--- (i)

From Equation (i) & (ii)

a=1, b=2

b>a

From the given Equation

a=1, -46

& b=-2,12

a and b relationship cannot be determined
From 1st equation

a’2-6a=0

a=0,6

From 2nd equation

(b+4) (b-5)

b=-4,5

a and b relationship cannot be determined
1st term — Computer = (10/100)x85

=85

Dinesh computer mark = 85+8.5 => 93.5
2nd term — Physics = (10/100)x80= 8

Dinesh physics mark = 80-8 => 72

Average = (1st term avg + 2nd term avg) / 2=
(89.6250+87.25)/2 = 88.43

Sathish Maths mark in 1st term

= (20/100)x65 = 13

=65+13 =78

Sunil Maths mark in 2nd term = (12/100)x84
=10.08

=84-10.08 =73.92 => 74

1stterm overall maths mark - 308

2nd term overall maths mark — 326

ratio = 308:326 => 154 :163

1stterm — 72+78+75+79 = 301

2nd term- 72+78+76+70 = 296

Percentage = ((301-296)/296)x100 = 1.6892%
Dinesh score 5% more than Sunil in 1st term =
(5/100)x70 = 3.5 => 70+3.5 = 73.5

1st term computer average

= (76+70+85+73.5)/4

=76.125

Sathish score 5% less than Dinesh in 2nd term
= (5/100)x95 = 4.75 => 95-4.75 = 90.25

2nd term computer average =
(90.25+95+75+70)/4 = 82.5625

Difference = (82.5625-76.125) = 6.4375

162: 182 =81: 91

CP of Juicer = (12/100)x72000

= 8640

Profit% = 25%

SP of Juicer = (8640x125)/100 = 10800

CP of cooler = (18/100)x72000 = 12960
Profit% = 48%

SP of cooler = (12960x148)/100 = 19180.80
Total SP of Juicer and cooler together = 10800 +
19180.80 = 29980.80

CP of Heater = (21/100)x72000 = 15120
Profit% = 42%

SP of Heater = (15120x142)/100 = 21470.40
CP of Mixer = (10/100)x72000 = 7200

Profit % = 36%

SP of Mixer = (7200x136)/100 = 9792

Total SP of Heater and Mixer = 21470.40 + 9792
=31262.40

Required % = (29980.80/31262.40)x100
=95.9%

= 96%(approx.)

Since, we don’t have discount of

Heater .So, we can’t find the marked price.
CP of Purifier = (26/100)x72000 = 18720
Profit% = 28%

SP of Purifier = (18720x128)/100 = 23961.60
SP of Heater = 21470.40

Ans.159(1)

Ans.160(2)

Ans.161(2)

Ans.162(2)

Ans.163(4)
Ans.164(3)

Ans.165(3)

Ans.166(2)
Ans.167(4)
Ans.168(1)
Ans.169(3)
Ans.170(1)
Ans.171(1)

Ans.172(5)
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Required difference = 23961.60 — 21470.40
=2491.20

CP of Juicer = (12/100)x72000 = 8640

Profit% = 25%

SP of Juicer = (8640x125)/100 = 10800

CP of AC = (13/100)x72000 = 9360

Profit % = 35%

SP of AC = (9360x135)/100 = 12636

Required % = (10800/12636)%100

= 85.47% = 85%

CP of Mixer = (10/100)x72000 = 7200

Profit% = 36%

SP of Mixer = (7200x136)/100 = 9792

Discount on Mixer = 20%

MP of Mixer = (9792/80)x100 = 12240

CP of Purifier = (26/100)x72000 = 18720
Profit% = 28%

SP of Purifier = (18720%128)/100 = 23961.60
Required % = (12240/23961.60)x100 = 51.08%
=51%

Let P’s initial investment = Rs. X

Q’s initial investment = Rs. y

From both the statements,

Ratio of the equivalent capitals of P and Q
=(xx12) : (yx8)

=> 12x/(yx8) = 7/8

=>x/ly=7/12

From | and Il: we have number of days in which
9 women can complete the work. So using
efficiency we can find the number of days
required by man to complete the work and then
the required answer

From Il and Ill: we have number of days in which
9 women can complete the work. So days
required by child can be find out, and then by
men.

From | and Ill: We get 3 equations in 3 variables
— man, woman and child, so can be found.

Using | and Il, percentage of students in three
departments can be found out. Using this data
and I, we will get final answer.

Using any two statements, the length and
breadth can be found. And Rate of flooring is
also available.

Let cost of 1 ticket = Rs x. So total

students who got tickets is 60000/x

From statement |,

(x — 50) x 60000/x = 60000 — 15000

Solving we get cost of 1 ticket, x = Rs 200
Similarly from statement I,

(x +50) x 60000/x = (125/100) x 60000

Solving we get cost of 1 ticket, x = Rs 200
Difference: +15, +15, +15...

Difference: +3, +6, +12, + 24, ,+96

X7-7, x6-6, x5-5, x4-4

Difference: +11, +33, +55, +77, ...

Difference: -200, -100, -50, -25, -12.5, -6.25
Total amount after 2 years Diraj

= 25500 + (25500 x20x2) /100 = 35700

C.I earned on this principle amount 35700 for 2
years

= 35700 [(1+ 10/100)? -1]

=7497

Total interest earned = 10200 + 7497

=17,697

Let x kg of first variety is mixed with

second variety required cost price = 40/125
x100 = Rs.32

Now apply allegation
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Rs.25/ 25 kg Rs42/xkg
\\ Rs32 Ans.182(3)
(42-32=10) \ (32-25=7)
Required ratio = 10:7
Required kg = 25/10x7=17.5 kg
Ans.(173-177):Total no. of employees = 2400
No. of males = 5/8x 2400 =1500 Ans.183(1)
No. of females = 900
Males (BPO)= 12% of 1500 =180
Females (BPO)= 11/6x180= 330
Females (System Admin) = 24% of 900 = 216
Females (IT) = 1/9 x900 = 100
No of Males in IT = 285-100 =185
No. of males in Content writer = 42% of 1500
=630 Ans.184(3)
Females (Content writer ), 10% of 630 = 63
Males (Web designer) = 22x1500/100 = 330
No. of females in Web designer
= (900 -330 -216
100-63)=191
No. of Male in System admin = 1500 -180 — 185
630 -330 =175
Ans.173(2) Desired % = 185/1500 x 100 = 12.
33% = 12% Ans.185(5)
Ans.174(1) No of males in System Admin
= No of males in IT =185
Difference = 10
Ans.175(2) Required % = (216 + 175)/2400 x100
=16.29%
Ans.176(1) Required % = 63/900%100 = 7%
Ans.177(4) Female in (BPO + Web designer)
=390+191 =521
Ans.178(1) Profit received by Q as working partner
= 20% of Rs. 8000
= 20x8000/100
= Rs. 1600
Balance in profit = 8000-1600
= Rs. 6400
Ratio of investment of Q & P=60000: 80,000
=6:8=3:4
Hence share of Q in investment = 3x6400/7
= Rs. 2742.85
Therefore, Share of P= 8000 - 1600 — 2742.85
= Rs. 3657.15
Ans.179(3) Let the marked price bey.
Cost price (CP) = 30 % discount on MP
= 0.7y = 35000
= y= Rs.50000 MP Ans.186(4)
SP at Shop “P” = Rs. 35000
SP at Shop “Q” = 50000 X 0.85
= Rs 42500;
Difference = Rs (42500-35000)
= Rs 7500
Ans.180(3) Kalyan'’s salary in 2016 = 600000-
(600000%20/100)
= 600000-(6000%20)
= 600000-120000
= 480000 Ans.187(1)
Expenditure on education in 2015 =360000
Expenditure on education in 2016
= 360000+360000(10/100)
= 360000+36000
= 396000
Therefore expenditure on education in 2016
= 396000/480000x100 = 82.5%
Ans.181(3) Probability that Patiala is not white = 4/5
Probability that top is not white = 5/6
Required probability = Probability that Patiala is
not white x Probability that top is not white Ans.188(1)
= 4/5x5/6
Fb:- 9 | Page

=4/6

=2/3

Required area = /2 (PR/2)?

=m/2 (PR)?/4

=m/2 [(PQ?+QR?)/4]

=11/2 [PQ?/4 + QR?/4]

=11/2 (PQ%4) + /2 (QR?/4)

=243 +108

=351 sg.cm

Average Rupee collection = Speedx

capacity x Occupancy x Ticket rate

Ratio of average Rupee collection of taxi to that
of van = product of above rates

= 2x100x%1x2.5: 1x60%3x%2

=500:360

=50:36

=25:18

Let the principal be x

According to the question,

Xx7x2/100 +xx8x2/100 +Xx9%4/100 = 15072
14X/100 + 16X/100+36X/100 = 15072
66X/100 = 15072

66X = 1507200

X =22836.36

Total amount end of the period

= 15072+22836.36 = Rs 37908.36

There are 200 female candidates in

the batch, and 40% of them are law candidates
Now, 40% of 200 equals (40/100)x200=80
Hence, the number of female law candidates in
the class is 80.

Now, 50% of the female law candidates passed
the final exam:.

Hence, the number of female law candidates
who passed is 40.

There are 240 male candidates in the class and
50% of them are law candidates

Now, 50% of 240 equals50/100%240=120
Hence, the number of male law candidates is
120.

Now, 40% of the male law candidates passed
the final exam:

Hence, the number of male law candidates who
passed is 48

Hence, the total number of law candidates who
passed is 88

The total number of law candidates in the class
is:200

Hence, the percentage of law candidates who
passed is 88/200x100 =44%

Let amount invested by venu = x

Amount invested by Banu = x+3750

Amount invested by Renu = x+5250

Now, ( x+ x+3750 x+5250) x9/100 =2430

3x +9000 = 2430 x 100/9

3x = 27000 -9000

x=18000/3

x=6000

Hence amount invested by Banu = 6000+3750
= Rs 9750

Nandhini: Vaishnavi: Preethi

= (15000x4+ 7500 x8) : (13500x6+10125 x6) :
(21000x6)

=120000: 141750 : 126000

=160:189:168

Nandhini’s share= Rs(15510 x 160 /517)

= Rs.4800

Vaishnavi’s share = Rs(15510 x 189/ 517)

= Rs.5670

Preethi's share = Rs(15510 x 168 / 517)

= Rs.5040

Let the speed of Sunith in still water be x mph
and the speed of the current be y mph
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Then, Speed upstream = (x —y) mph
Speed downstream = (X + y) mph
Distance = 12 miles

Time taken to travel upstream — Time taken to Ans.189(1)
travel downstream = 6 hours

12/(x-y) — 12/(x+y) =6

x2=y?+4y—1

Now he doubles his speed. i.e., his new speed =

2x

Now, Speed upstream = (2x —y) mph

Speed downstream = (2x +y) mph Ans.190(4)

In this case, Time taken to travel upstream —
Time taken to travel downstream = 1 hour
12/(2x-y) — 12/(2x+y) = 1

4x2=y2+24y—2

10 | Page

From 1 and 2 we get

Ay+y*=(24y +y?)/4

Y=8/3==> 2 2/3mph

Total names in the coupon,

= 80%x3+160x2+120x1

= 240+320+120 = 680

Number of Year-2's names,

=160x2 = 320

Required probability,

= 320/680=32/68 = 8/17

Area left after laying red tiles = [(608)%(30-8)]
=52x22 = 1144 sq.ft

Area under green tiles = 1144 / 2 = 572 sq.ft
Area under yellow tiles = 1144-572=572 sq.ft
Number of yellow tiles = 572/ 16 = 35
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(1) =9 gRa®r # 190 T § O fF ol IR 9rn # fawifoa 2
Part-(1) : General and Financial Awareness (50 Questions) (50 Marks) (35 Min.)
Part-(Il) : General English (40 Questions) (40 Marks) (35 Min.)
Part-(Ill) : Reasoning Ability and Computer Aptitude (50 Questions) (60 Marks) (45 Min.)
Part-(IV) : Quantitative Aptitude (50 Questions) (50 Marks) (45 Min.)
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(10) I Sl 81 I I eal AR A A THl & SR < | B FaTd Bfod 8 Fdhd & MR T M 8T
b & | ey ff e R =t w9y &€ g |
(11) AFEd BF AR IRREE IR TSIV, AT FeT /HR H G TR afed €| dIg 1 AMdad (- Ararsel Hbl
7 fHl IR FaR UG BT §¢ B |l 3707 U 81 7@ AHdT | 99 &7 Iecias &3l W 3Aad B [A0g
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General and Financial Awareness

YRA H B A1 PN ST faa e HrT SArell 82
(1) 1578 (2) 16 75 (3)17 7
(4) 18 7% (5) STHI IS a1

FRafifed wed & ¥ & 91 3d YR $T Ugar IR e Jeferd

Ydd W 87
(1) A (2) 310t (3) TaTeret
(4) Rt (5) HIABTT

AU P REB Y A3 TIRE Hadg B dia HRd B I Y
JY B! Al I 5 7S 32

(1) Rraivft R¥ig (2) Rrarh SusT
(3) Rt foreers (4) TRraih ure
(5) Rrarf e=m
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& SIER, fay & SHeN &1 foa Ula=d ag Ugwul &
WRATS TR &b Tudh 7 g2

(1) 85% (2) 90%
(4) 80% (5) 75%

" 3T WG & fore ey of TS 3 FI D
e ot 3 o s o

(2) SSTQR SiRIT gaTS ol
(3) 4o SR BT 31T
(4) =S SFRTPT 5T 3rgT

(5) PIABIAT SR gaTs 37T

FRI-GH SR B ©R A R ygeht &g srfemer waf

Mo @ 7S o

(1) T&TSH (2) aRTOT=R (3) Hurd

(4) THipeH (5) 7S faeett

5 o0 WEHR A g 90 & fog f3forea wew muide Big
Tolde” P YRS Bl 82

(1) ORI (2) ISR (3) 3nfe=m
(4) TR (5) Rumaa ue=

frafofd & 3 frue! sregerdr & 1S S SfR-HaTerm Ifbifa &t
RGN & AR HURd & fhPid st & I IR Ufdae T

(3) 95%

ST AfeT?

(1) Uy 9 (2) T AraH
(3) fa9s afeEh (4) THTd TH. Higat
(5) ST A BIS 781

59 WHRT AU 3 9 gRT T S1Ad a4d [Bd S B
Rrprad w A fod, A 9de S ey fbar 82
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(3) W Ui 3ifw gfsan
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(1) fSEr (2) BXTTE (3) AT U™
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(1) Sf&ror 3rpiceT (2) mfpea™ (3) AUt

(4) ST (5) 0 QA HIE TEF
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(1) Ffed (2) IR (3) HBRTY
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WA B B Hefi 2 82

(1) YoT X9 = (2) TR Yo TIH
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TG ITH 82

(1) T 3R WYL

(2) < 3T SR |

(3) WU 3R dipgls Aifca

(4) THEIS AT 3R TgT

Ty Te-t Fefafad B 3 i a7 Q Jefid 82
(1) FTEA (2) Xd e
(4) TR /ATIRABT (5) 3ff=ar

e TR W AN & o T i B ORI BT TR 61 b
iU g WHR gRI 13T AT &1 TE &I 87

(1) R At (2) Ty Rig

(3) AT TR (4) IHT TG

(5) ¥ Y
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(1) TS HEIESIEE (3) Teiftan
(5) TTHI D T

(4) 3/aTH
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(2)

(3) B

(4) IIRRA

) =
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(4) Qid] ARI0

(3) 31T &

30 S 2023 B! {5 Iy BT RIUAT fas /=1 71am?
(1) I (2) FicH (3) Tar
(4) AfbreTg (5) fogrR

%1 TS $I TAT I aret fay derg oy feaw 2023 @ ofim @&

(1) & s g8, e caat
(2) TP ¥ T 3R
(3)%@@3@‘%2@@%
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General English

Directions (51-60): Various statements are given for the

51.

52.

53.

54.

Fb:-

questions below. Choose the options corresponding to
them mentioning the incorrect statements. If all the
statements are correct then choose none of these as
your answer.

A. After the shadow over ‘Nifty’ trades, the Singapore
stock exchange may need to brace for another shock.
B. In the Budget paving the way for a unified regulator
for India’s International Financial Services Centre —
housed in Gujarat's GIFT City — the stage is set for
GIFT authorities and the government to push for the
trade of Dollar-Rupee (USD/INR) currency futures in
GIFT.

C. In the absence of a separate regulator, the Reserve
Bank of India (RBI) has been reluctant to allow currency
futures trading on GIFT exchanges.

D. Now, the central bank may have to revisit the
proposal. GIFT authorities expected to meet RBI soon
to explore the possibility, banking sources told ET.

(1) Only Aand D (2) Only Cand A

(3) Both C and B (4) BothB and D

(5) None of these.

A. Bitcoin exchanges, rattled by Finance Minister Arun
Jaitley terming the cryptocurrency as illegal tender, are
creating a central repository of users that will help
create and maintain the real time record of transactions.
B. The purchase data of buyers and sellers of the
virtual currency can then be traced through either the
Aadhaar ID or the Permanent Account Number (PAN)
of the user.

C. Details such as the total number of cryptocurrencies
held, the value thereof as well as the pattern of buying
and selling by individual users will be available through
the central repository, according to a top industry
member

D. The committee has seven cryptocurrency exchanges
as its members. Khurana said the BACC aims to submit
the proposal with the government committee, which is
headed by Economic Affairs Secretary SC Garg, during
the course of this week.

(1) Only Aand B (2) Only C and B

(3) Both C and D (4) Both A and D

(5) None of these.

A. The Indian Navy will now be able to use the facilities
at Dugm port in Oman following the signing of a pact
among the two countries, during Prime Minister
Narendra Modi’s visit, that will give India a foothold in
its extended neighbourhood.

B. The port will act as India’s entry point for wider West
Asia and Eastern Africa, a welcome development at a
time when China has deployed strategic assets in the
Indian Ocean Region, experts said.

C. India’s interest in Dugm port, which is merely at a
40-minute flight distance from Mumbai, has been
necessitated by the fact that the Chinese navy has
increased its activities in the western part of the Indian
Ocean Region besides setting up a military base in
Djibouti

D. An Indo-Omani joint statement issued at the end of
Modi’s visit reflected growing maritime cooperation

(1) Only A (2)Only B (3)Only C
(4) Only D (5) None of these

A. The search is on for a new generation of top
executives. Investigations aside, they will inherit a
mixed bag. Airbus’sA320neo short-haul aircraft are
flying at the shelves and have a market share of 59% in
the fight against Boeing’s rival 737 MAX.

55.

56.

57.

4 | Page

B. Its acquisition of half of Bombardier of Canada’s C
Series programme for one dollar last autumn will
strengthen its position in the market for smaller jets.

C. But Airbus is struggling to shift the rest of its range.
Its larger wide-bodies were outsold almost 4:1 by
Boeing in 2017. It is also running out for orders of the
A380.

D. Although Emirates ordered a further 36 last month,
keeping production going until 2030, some analysts
think that producing a trickle of super jumbos could lose
Airbus up to €250m a year

() Only Aand C (2) BothBand C

(3) Only A and D (4) Both Band D

(5) None of these.

A. Robert Friedland, the boss of lvanhoe Mines, a large
Canadian firm that digs out copper and zinc in Africa, is
not one for pessimism. In his speech to an annual
mining industry jamboree, Mining Indaba, in Cape
Town, his promises about the potential of the business
were as copious as the ore bodies his firm mines.

B. But amid the hyperbola about electric cars, Chinese
consumers and the “most disruptive copper discovery in
the world” there was a note of panic. Money, he
warned, is “a coward”, and may be about to flee.

C. The cause of fear is a new mining code that was
passed by parliament in the Democratic Republic of
Congo on January 24th. Congo is Africa’s biggest
copper producer; its reserves, mostly over the southern
copper belt, are among the world’s richest.

D. As important, it has emerged recently as the world’'s
leading producer of cobalt, a by-product of copper
smelting that is used in-batteries for electric cars. It also
produces gold, zinc, tin-and diamonds.

(1) Only A (2) Both A and B

(3) Only Band C (4) Only C

(5) None of these.

A. The Maharashtra Real Estate Regulatory Authority
(MahaRERA) has issued notices to builders who have
not been updating details of their registered projects
every three months, which is the stipulated period.

B. As per Clause 20 of the Maharashtra RERA Act, the
information of registered project needs to be updated
every quarter, primarily in regard to project completion
and units sold.

C. However, following their mandatory registration with
the regulator, most of realty developers seem to have
either forgotten or ignored the norm of updating project
details every quarter.

D. More than 65% of the MahaRERA-registered
projects has not updated the information in the last
three months, showed a study by Propstack, a real
estate data analytics company.

(1) BothCand D (2) Both D and B

(3) Both Aand B (4) Both C and A

(5) None of these.

A. The group has an estimated 43billion yuan in bond
repayments due this year and next. Partly to meet this
obligation it is reportedly hoping to sell around 100
billion yuan of assets over the next six months,
including offices in New York and London and resorts in
French Polynesia.

B. It will list Swissport, the world’s biggest airport-
servicing company, which it bought in 2015. But
shedding assets will not necessarily mean a cash
windfall.

C. It snapped up many of its assets abroad by pledging
shares in target companies as collateral, meaning that
most sale proceeds would go to creditors.

D. Analysts had foreseen an unravelling for some time,
before even the regulatory wrist-slapping.
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58.

59.

60.

(1) Only Aand D
(3) Both Cand D
(5) None of these.

(2) Only C
(4) Both Aand B

A. Past the neon lights of Reno and the cookie-cutter
homes of neighbouring Sparks, the I-80 highway winds
through a thinly populated expense of arid hills and
lunar valleys in Storey County.

B. On one side of the road flows the Truckee River; on
the other bands of wild horses forage in parched grass.
Signs of civilisation are restricted to electricity pylons
and the odd rundown farmhouse.

C. The Wild Horse Saloon, a dark and smoky room
connected to a legal brothel, is the only sit-down
restaurant for miles. It is not an area that immediately
seems conducive to hosting a business park.

D. Yet Storey County in Nevada is home to the world’s
largest by some measures: the Reno Tahoe Industrial
Centre (TRI). The park spans 104,000 acres in total—
three times the size of San Francisco.

(1) Only Aand D (2) Only C

(3) Both C and D (4)OnlyB

(5) None of these.

A. Indian students are increasingly opting for admission
to Australian colleges as the US and the UK appear to
be shutting their doors with anti-immigrant rhetoric and
tighter rules that make it difficult to stay on after the
course is over.

B. The number of Indian students studying in Australia
has soared to a seven-year high, according to data
from the country’s high commission in New Delhi.

C. Australian universities such as New South Wales,
Deakin, Bond, James Cook, Canberra and Queensland
said they had a bumping 2017, going by the increase in
Indian applicants.

D. While Indian students have usually confined
themselves largely in the states of New South Wales
and Victoria, they are now looking at destinations like
Queensland and Melbourne as well, the high
commission said.
(1) Only Aand B

(3) Both C and D

(5) None of these.

(2) Only Band C
(4) Both A and D

A. Uber CEO Dara Khosrowshahi will meet Indian
government  officials, regulators and company
employees during his India visit on February 22-23.
This will be the maiden visit of Khosrowshahi to India.
B. The former Expedia executive was named CEO of
Uber in August last year. An Uber spokesperson
confirmed that Khosrowshahi will be in India on
February 22 and 23.

C. The spokesperson added that during his India trip,
Khosrowshahi will meet high-ranking government
officials, regulators, business partners, and employees.
D. He will also address the students at [IT-Delhi. India
is one of the key markets for Uber. It is locked with an
intense battle for leadership with SoftBank-backed Ola
in India and has a presence in 29 Indian cities.

(1) Only A (2) Only C (3) Only B
(4) Only D (5) None of these.

Directions (61-63): Sentences given in each question, when

61.

Fb:-

properly sequenced form coherent paragraph. Each
sentence is labelled with a letter. Choose the most
logical order of sentences amongst the five choices
given to construct the paragraph.

A. As of November 2017, more than 68,000 Indian
students were studying in Australian institutions, up
14.65% over the same period in 2016.

62.

63.

B. Australian universities such as New South Wales,
Deakin, Bond, James Cook, Canberra and Queensland
said they had a bumper 2017, going by the increase in
Indian applicants.

C. The number of Indian students studying in Australia
has soared to a seven-year high, according to data
from the country’s high commission in New Delhi.

D. Indian students are increasingly opting for admission
to Australian colleges as the US and the UK appear to
be shutting their doors with anti-immigrant rhetoric and
tighter rules that make it difficult to stay on after the
course is over.

E. While Indian students have usually confined
themselves largely to the states of New South Wales
and Victoria, they are now looking at destinations like

Queensland and Melbourne as well, the high
commission said.

(1) DBCAE (2) BCDAE (3) DCBEA
(4) BCDAE (5) None of these.

A. Wolfgang Prock-Schauer can’t seem to be able to let
go of India’s airlines. After stints with Jet Airways and
Go Air, the Viennese sexagenarian recently joined as
chief operating officer of IndiGo.

B. Why Prock-Schauer has been brought in is fairly
clear. He has monitored scale-ups, especially on
overseas routes, including Jet's initial foreign
expansion.

C. That was also the brief given to him by previous
employer Go Air. The carrier’s plans were set back due
to delays in its ordered Airbus A320neo planes as the
result of glitches in their Pratt & Whitney engines.

D. The airline has -sought permission to fly to
destinations such. as Frankfurt, Paris, Gatwick,
Manchester, Birmingham, Brussels, Rome, Milan and
Zurich.

E. That made him the only executive to have worked in
CXO positions in three Indian carriers. Prock-Schauer
said he couldn’t comment for the story, except to say
IndiGo is the most promising airlinecompany “not just in
India, but also among several of its international peers”.
(1) ADCEB (2) ACBED (3) ABDCE
(4) AEBCD (5) None of these

A. These products are currently imported without any
levy. Imported mobile handsets such as the latest
iPhones have become costlier after the February 1
budget raised customs duty on the devices to 20% from
15%.

B. Domestic handset makers had expected the
imposition of duty on components too in the budget.
Whether that will also lead to an increase in the price of
phones will depend on manufacturers absorbing the
levy or passing it on to consumers, experts said.

C. The government is likely to impose basic customs
duty on mobile phone components such as populated
printed circuit boards (PCBs), camera modules and
connectors from April 1, according to senior officials.

D. Their assembly in India will not only take the level of
local value addition beyond the current level of 10%,
but also encourage local manufacture and boost the
government's Make in India initiative, industry
executives said.

E. The relevant ministry had sought the levy on parts in
a pre budget representation. PCBs account for almost
half the manufacturing cost of a mobile phone.

(1) CABED (2) BDCAE (3) CBAED
(4) BDACE (5) None of these.

Directions (64-68): In the passage given below there are

5 | Page

blanks which are to be filled with the options given
below. Find out the appropriate pair of words in each
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64.

65.

66.

67.

68.

case which can most suitably complete the sentence
without altering the meaning of the statement.

On her way out, Janet Yellen, who stood down as the
Federal Reserve’s chair on February 2nd, paused to
add yet another sanction to those already imposed on
Wells Fargo for foisting unwanted insurance and
banking products on clients. The latest punishment is a
highly unusual one. Wells will be blocked from adding
assets to the $2trn held on its balance-sheet at the end
of 2017. Two other regulators had already imposed
fines and penalties soon after the shenanigans began
emerging in 2016. The bank has gone through a big
reorganization. The Fed’s belated response
(64) took into account not only the errant
conduct but also the political(65) The
government, as well as the bank, had been
embarrassed. At first glance, Wells is an odd target for
such treatment. During the financial crisis it proved itself
the best of the big banks, with relatively high
underwriting standards and manageable losses. The
scandal was huge—millions of clients were pushed into
unwanted products. But the financial costs were small
and the bank’s (66) and readiness to pay
compensation) high. On the other hand, its
(67) was blatant, which is rare in finance.
Also, it was able to bear tough sanctions. And the Fed
needed to make a statement about the sharpness of its
regulatory steel. In doing so, it has made Wells, not
long ago the model of a well-run bank, a model for
experimental punishment. One aspect of the bank’s
punishment (although the bank plausibly denies this
formed part of the agreement with the Fed) involves
managerial change. The Fed’s announcement noted
that four Wells directors will leave by the end 0f2018. A
purge of directors had long been urged by the bank’s
critics, such as Senator Elizabeth Warren. The board
has already seen heavy turnover and nearly 6,000
employees have been laid off, including a former chief
executive, John Stumpf, and the head of the division
where most of the transgressions took place. Other
departures continue quietly; the long-serving head of
risk announced his resignation last month. The Fed is
keen to avoid the impression given by past efforts to
punish banks—such as levying fines—that the
(68) of misdeeds had been spared and that
shareholders had borne the cost. Wells’ travails are
sending a blunt warning to directors at other banks.

(1) presumably
(4) clearly

(2) doubtingly
(5) None of these

(3) thoughtfully

(1) opposition
(4) people

(2) fallout
(5) None of these

(3) support

(2) reluctant
(4) contrition

(2) will
(5) None of these

(3) condition

(1) malaise
(4) blessing

(2) philanthropy
(5) None of these

(1) perpetrators
(4) ambassadors

(2) carriers
(5) None of these

(3) borrowers

Directions (69-71): In given questions a paragraph is given

69.

Fb:-

with some phrases/idioms/words in bold. Choose the
options which can replace them correctly. If no change
is required select none of these.

Harry Kane scored more goals than Cristiano Ronaldo
or Lionel Messi in 2017, but it is on the Champions
League stage the prolific Tottenham striker must shun
to be truly measured up to them. Kane will get his first

(3) malfeasance

70.

71.

chance tonight as he leads Spurs to face Juventus in
Turin, where the ltalians have lost just once in 27
Champions League games. It doesn’t get much better
than Juve’s defence, which has conceded just once in
their last 16 games. The lItalian champions blunted
Messi, Luis Suarez and Neymar over two legs to dump
out Barcelona on route to their second final in three
years last season. But they're not taking t he
Englishman lightly. Midfielder Sami Khedira told the
BBC: “Harry Kane for me is maybe the most complete
striker”
(1) track
(4) gimme

(2) confine
(5) None of these

(3) perspire

Bank of India reported a loss of *. 2,341.2 crore for the
December quarter due to losses in bond trading and a
high provisions for bad loans where its classification
and the regulator’s diverged. The bank had reported a
net profit of *.101.7 crore a year ago. Its asset quality
performance deteriorated and provisioning requirement
more than doubled. The bank incurred a treasury loss
of *. 415 crore, versus a profit of *.1,734 crore a year
ago. Net interest income during the quarter declined
18.4% to . 2,501crore. Its asset quality performance
was dismal with gross non-performing assets climbing
to 16.93% from 13.38% a year ago. Its net bad loans
were at 10.29%. In absolute terms the gross bad loans
crossed °. 64,248 crores.

(1) met (2) merged

(4) shrieked (5) None of these

(3) copied

The advantage of staying outside IBC is that lenders
can ostracize the existing promoters to come up with a
turnaround proposal — the code limits this only to those
promoters who have cleared their arrears. Secondly,
lenders don’'t have to go for the liquidation of the
company, which the bankruptcy law prescribes in case
the resolution plan is not put in place within 270 days.
“After IBC was passed, this is one of the first cases that
bankers are pursuing outside of bankruptcy court but
with the intent to follow the same spirit, timeline and
process as IBC. If it is successful, many small
companies may be resolved through this route,” said
one bank official. In this case, banks have not
converted their debt into equity under the strategic debt
restructuring scheme — a mechanism that makes it
easier for banks to change the management of a

company.
(1) repel (2) oust (3) unfasten
(4) hitch (5) None of these

Directions (72-79): Read the following passage carefully and
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answer the questions given below it.

The 136-crore fine imposed on Google for
discriminatory search operation was nothing more than
a slap on the wrist for the company. The Google issue,
though, is bigger than money. It is about power and
control. If India does not rein in foreign technology
companies, it will suffer under corporate colonialism.
Companies such as Google, Facebook and Amazon
will be able to monitor practically all Indian citizens and
influence their social and political preferences — while
they crush competitive businesses. This is because
technology creates a winner take-all system and
captures more information than Big Brother did in
George Orwell’'s 1984. These are the things India
needs to worry about far more than about search
results. Through our smart phones and their
applications, Apple, Google and WhatsApp track our
movements and habits, and know who we speak to and
what we say. They read our texts and emails. When we
do web searches or watch YouTube videos, we tell
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them our thoughts and preferences. When we post our
photos on Facebook, they recognise our faces and our
friends’ and use them to learn who we know and where
we were. There is a saying in the tech industry: data is
the new oil. These companies capture all these data to
sell ads to us. That is how they make their billions. The
problem, as we saw with the reported Russian hacking
in the US elections, is that they lack scruples and
ethics. They will allow a person or government to serve
chicanery and propaganda to anyone who fits
specified criteria. India needs to develop legislation
even more stringent than Europe’s Data Protection
Regulation. Not only does it need to prevent the export
of data, it has to also ensure that all data, on all Indian
residents, are owned by them and used only with their
knowledge and explicit permission. The second issue
that Indian regulators need to concern themselves with
is technology monopolies. Silicon Valley’s moguls
openly glorify these, and tout their ability to gain unfair
competitive advantage by dumping capital. The big tech
companies use their massive war chests to copy or
steal from competitors. When all else fails, they acquire
them. Drowning in the Amazon, they tout free markets
only when they want other countries to open their
doors. In the Valley itself, invest or stake pride in having
an economy in which money is the ultimate weapon.
The most aggressive company of all is Amazon. It
dominated bookstores, publishing and distribution first.
Then cleaning supplies, electronics and assorted home
goods. Now it is set to preponderate all forms of retail
— as well as cloud services, electronic gadgetry and
small-business lending. And it is planning to launch
delivery services that will enable it to eat into the
business of United Parcel Service and FedEx. It will
have a finger in every pie and a hand in every pocket.
Amazon has been losing money — or earning razor-
thin margins — for more than two decades. But
because it was gaining market share and killing off
competition, investors rewarded it with a high stock
price. With that, it raised money at below-market
interest rates and used it to increase its market share.
Again, this is hardly the way free markets are supposed
to work. Uber has used the same strategy to raise
billions of dollars to put potential global competitors out
of business. It has been dumping massive amounts of
capital into India to kill off local companies. Here, India
needs to learn from China, which used every trick in the
book to close off its markets and create barriers to
foreign companies. Doing so, let local technology
companies gain in size and power and learn to
innovate. China, very smartly, opened its doors at first
to Silicon Valley companies, letting them bring their
ideas there to train its entrepreneurs. Then it
precipitously locked them out so that local start-ups
could thrive. It realised that Silicon Valley had such a
monetary advantage that local entrepreneurs could
never compete. Having lost the Chinese market, US
tech companies see India as the consolation prize.
Their timing could not be better, because the Indian
market is only just forming. With the prices of smart
phones and internet access approaching affordability
for everyone, the country is about to experience a
technology boom next in size only to China’s. There are
huge fortunes to be made in India. A Silly-con Job India
doesn’t have to lose this battle to the modern-day East
India companies. It has the talent to build its own
infrastructure and to leap ahead. It has millions of
engineers who have been trained to develop IT
systems for the West, giving it a huge advantage. It
could be creating world changing technology
companies that challenge Silicon Valley itself, as well
as China. This will not happen if India allows the foreign
tech giants to cannibalise India’s young start-ups and

72.

73.

74.

75.

76.

77.

78.

79.

starve the emerging giants. This is a choice that India
needs to make very soon.

Choose synonyms of the given word as used in the
passage.
Precipitously

(1) Thoughtfully (2) Caringly (3) Headlong
(4) Cold (5) None of these

Choose synonyms of the given word as used in the
passage.

Preponderate

(1) Surrender
(4) Disarray

(2) Prevalence
(5) None of these

(3) Mismanage

Choose antonyms of the given word as used in the
passage.
Chicanery

(1) Forthright
(4) Skulduggery

(2) Intrigue
(5) None of these

(3) Stratagem

Choose antonyms of the given word as used in the
passage.
Scruples

(1) Demur

(4) Compunction

(2) Squeamish
(5) None of these

(3) Tranquillity

What can India do to manage these tech giants?
(1) Create stronger laws on privacy of data.

(2) Learn from other countries 2019 management.
(3) Quietly increase its potential.

(4) Both 1 and 2

(5) None of these

How is Amazon ‘eating into other businesses’?

(1) Both 3and 4

(2) It is taking hold of the countries’ laws and using
them to its own advantage

(3) It is employing East India Company like strategy.

(4) It is benefitting from the investor’s leniency.

(5) None of these

What should be India’s way ahead in coming years?
(1) Close its economy like china.

(2) Improve its technology to compete with the west.
(3) Use legal methods to improve local market.

(4) Start-ups encouragement

(5) None of these.

What does reference to George Orwell mean?

(1) The companies’ have amassed load of income.
(2) Laws need to be in place to stop hacking

(3) Companies have been increasingly tax evasive.
(4) Both 2 and 3.

(5) None of these.

Directions (80-86): Read the following passage carefully and
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answer the questions given below it.

Faced with complexity humans often resort to a
heuristic, a rough mental template that gets the job
done. That could come in handy at Tata Group, India’s
largest business, whose dizzying mix of scale, palace
politics and sense of moral purpose defy any
categorisation. Tata’s boss, Natarajan Chandrasekaran,
known as Chandra, has been in the job for a year. He
spent 2017 pepping up morale and extinguishing fires.
Now he must squeeze Tata into a new strategic
framework that clarifies its structure and purpose. Is it a
150-year-old national monument, a philanthropic
vehicle or a conglomerate? In Schumpeter’s view Tata
should instead be positioned as a holding company—
like Berkshire Hathaway but minus the personality cult
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and with Indian characteristics. Tata is a handful. It has
695,000 staff and is active in 17 industries. Its family of
firms has a market value of $155 billion. It mixes virtue
with profits; Tata’s leaders are expected to exude
decency and probity. The group was an early supporter
of Mahatma Gandhi, led India’s industrialisation drive in
the 1940s and played a big part in the IT-outsourcing
revolution in the 1990s. A structure with three layers,
largely an accident of history, magnifies the complexity.
At the bottom are 289 operating companies, a dozen of
which are big and listed. In the middle is Tata Sons, a
holding firm that owns stakes of varying size in the
operating businesses (Chandra is chairman of Tata
Sons). It is in turn majority-owned by the Tata family
trusts, charities led by Ratan Tata, the group’s 80-year-
old-patriarch, who has no direct heirs. The resulting
ambiguity has led Tata to be too tolerant of weak
businesses and to a complicated succession. Mr Tata,
who was chairman between 1991 and 2012, led a bold
globalisation drive, which included the acquisitions of
Jaguar Land Rover (JLR) and Corus, a British steel
firm. But he neglected profits and roamed over all three
layers. His successor, Cyrus Mistry, tried to cull bad
businesses but suffered from paralysis-by-analysis and
fell out with Mr Tata (he was ousted in 2016 and is now
suing Tata Group). Chandra created $60bn of value
when he was boss of TCS, Tata’s IT services arm, in
2009-17, and is known for metronomic consistency. His
superb record gives him a licence to ask hard questions
and makes it hard for Mr Tata to object. A few
romantics want the group to be a vehicle for building up
the nation, a goal with which the trusts may sympathise.
But Tata is not a state-owned firm or a charity, and
outside shareholders have $85 billion tied up in Tata
firms. They expect profit, not glory. Alternatively, Tata
could be run as a conglomerate, like General Electric in
its prime. But it has legal control of only 62% of its
empire, based on the value of firms in which it has a
majority stake. Its gems—TCS, JLR and Titan, a
jeweller—are largely autonomous. The best path is to
be a holding company that makes strategic investments
but does not normally exercise operational control, like
Berkshire or Investor AB in Sweden. After all, Tata
Sons does not have an equal interest in all Tata-
branded firms. Chandra is a director of some operating
firms but derives his authority from being chairman of
Tata Sons. Once Ratan Tata retires, the trusts will
probably be run by arm’s length boards focused on their
fiduciary duty to hold Tata Sons accountable for its
performance. Viewed as a holding company, Tata Sons
has a net asset value (the market or book value of its
stakes, less its debts) of $84 billion. Its NAV has risen
by 547% since 2007, beating India’'s stock market,
which made a total return of151%-a strong
performance but one mostly due to its 74% stake in
TCS, which comprises 84% of NAV. Of Tata Sons’ 289
affiliated businesses, 126 are loss making. Valued at
book, 66% of Tata Sons’ investments over the years sit
in underperforming units with a return on capital of less
than 10%. Tata Sons should set clear targets. It should
aim to continue to grow its NAV faster than India’s stock
market and its profits faster than nominal GDP. By 2030
that would allow the trusts to have a budget to match
the present budget of the Gates Foundation. It may
sound easy, but there probably will not be another
triumph like TCS to prop up performance. So Tata Sons
must be ruthless. It must ensure that the stars, TCS,
JLR and Titan, continue to thrive, which means leaving
them alone. And it needs new growth businesses.
Buried within it are promising operations, including its
retail, defence and financial-services arms. To grow big
these will require piles of capital. For example, Tata’s
financial business, which should be a big beneficiary of

80.

81.

82.

83.

84.

85.

86.

8 | Page

its trusted brand, has a book value of$2bn and ranks
only 27th in India’s industry. Dealing with the
underperformers is critical. Surprisingly, Chandra has
given a second chance to two serial offenders. He has
approved a capacity expansion at Tata’s domestic steel
operation. And he has supported a new strategy at
Tata’s domestic trucks and cars unit, which has lost
market share. Over 25 years these two have generated
acceptable returns on equity only about half the time. It
is unlikely that they will do much better. Time for Sons
to grow up Elsewhere, though, Chandra has shown
backbone. He has sold Tata’s toxic mobile-telecoms
arm and is folding Corus into a joint venture with
Germany’s ThyssenKrupp. Although these deals
eliminate the risk of giant losses, they have not
released much capital. To do that Chandra should grit
his teeth and sell off all the peripheral stakes and
businesses. That could raise $8bn, making Tata simpler
to run and fortifying its balance-sheet. To succeed,
holding companies need to be a source of brains and
money rather than dependents of firms they invest in.
Tata Sons’ debt has risen to $10bn, shrinking its kitty. It
may need to buy out Mr Mistry’s family, which has an
18% stake in Tata Sons, worth $15bn. Under Chandra,
Tata Sons should aim to be a muscular holding firm that
invests in competitive businesses and produces strong
returns for its owners. That description cannot possibly
capture the epic scale of human endeavour within
Tata. But as a way to position the group for the next150
years, it does the job.

Choose Synonym for the given word Endeavour
(1) Passive (2) Fun (3) Idleness
(4) Venture (5) None of these

Choose Antonym for the given word Fiduciary
(1) Trustee (2) Curator (3) Oppressor
(4) Custodian (5) None of these

Choose synonym for the given word Conglomerate
(1) Trust (2) varied (3) Single
(4) Motley (5) None of these

Which problem has led the Tata group to be lenient in
its approach?

(1) Absence of legal heirs

(2) Chandra’s management policy

(3) Both 1 and 2

(4) Rise in market prices

(5) None of these

How can the group ensure profitability of its major
firms?

(1) Giving them regular bonuses.

(2) Sending reports and auditing in a time bound
manner

(3) Giving them autonomy

(4) Both1 and 3

(5) None of these

What is author's view of the group investing in new
avenues?

(1) optimistic

(4) Both1 and 3

(2) pessimistic
(5) None of these

(3) authoritative

What has been Chandra’s biggest strength?

(1) His ability to show cohesion among the workers.
(2) Improved wages and employment security.

(3) Asking of questions to seniors.

(4) Al 2, 3.

(5) None of these.
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Directions (87-90): In each of the following questions a short

87.

88.

89.

Fb:-

passage is given with one of the lines in the passage
missing and represented by a blank. Select the best out
of the five answer choices given, to complete the
passage.

“Who?” was the reaction of many Romanians when
Viorica Dancila became their third prime minister in just
seven months, on January 29th. That she is the first
woman to run the country’s government might have
been cause for celebration, if anyone thought she
would really be doing the job. Few do. As soon as she
had been elected, she vanished into the office of Liviu
Dragnea, the leader of her party, the ruling Social

Democrats (PSD). . If Ms Dancila proves
unwilling or unable to do what he wants, she will be
dumped.

(1) And came back as soon as possible.
(2) It is Mr Dragnea who calls the shots.
(3) Mr Dragnea congratulated her.

(4) But he Mr Dragnea was not there
(5) None of these

It makes sense for the government to let savers close
their small savings accounts prematurely. These
schemes include the popular Public Provident Fund
(PPF), a long-term saving product on which tax is
exempt at the time of contribution, up to a limit, during
accumulation and at the time of withdrawal. With
the diversification of the processes and instruments
through which household savings get mediated to the
productive sectors of the economy and to the
government, the need for the traditional small savings
schemes has come down. Most states, barring Madhya
Pradesh, Arunachal Pradesh, Kerala and Delhi, have
moved away from high-cost small savings and towards
cheaper open market loans. It is time to wind down
such crude instruments

(1) But this comes at a high cost to the government,
which has to bear the interest cost and forgo tax.

(2) The governments keep the rates in conjugation with
repo and reverse repo rates.

(3) There is wide diversification among the state
governments and central ministries.

(4) However, very less people get it.

(5) None of these

There has been an intense debate about the linking of
Aadhaar with various artefacts like bank accounts,
investment accounts and mobile numbers. Aadhaar-
linking with ration cards, MNREGA, scholarships, LPG
connections and other benefit delivery systems is
already in place. Those opposing this linking cite
privacy as their main argument. Cleaning up of
social benefit databases of duplicates and ghosts to
reduce leakages was one reason to start the Unique
Identification (ID) programme. The other was to provide
inclusive and verifiable identification. The idea was that
if unique IDs were created for people, this could be
used to clean up other databases through ‘seeding’ of
these unique IDs. This would increase the database to
far reaching areas and increase its jurisdiction in a
disastrous way.

(1) They believe that the right to privacy is violated if it
happens

(2) They demand that government must increase its
capacity before linking it.

(3) They argue that the hackers will know their private
matters.

(4) They assert that this will enable GOI to profile them
and provide it with more information than what it should.
(5) None of these.

90. Unilever, one of the world’s biggest advertisers, has
threatened to pull investment from digital platforms
such as Facebook and Google that “create division” in
society or fail to protect children. Keith Weed, chief
marketing officer, will announce the company’s plan in
a speech later on Monday at the annual Interactive
Advertising Bureau conference in California. In the
speech, Weed will call on the technology

“Unilever, as a trusted advertiser, do not want to
advertise on platforms which do not make a positive
contribution to society,” Weed plans to say, according
to a copy of the speech seen beforehand.

(1) industry to improve transparency and consumer
trust during an era of fake news and “toxic” online
content.

(2) industry to improve transparency and consumer
trust in an era of fake news and “toxic” online content.
(3) industry in improving transparency and consumer
trust in the era of fake news and “toxic” online content
(4) has bribed all the incumbent governors

(5) None of these

& (91-95): 379 T UAS TY H 1D Th U SR &) HYF | 3R 11 R
flumu g s sg PR © B RTmust IR P
o g7 HY=T W ¥ B T Ui 81 <l HYUHl bl U R IR S
(1) BYF | 3Ppd g yaf @
(2) BUT 11 3P S T §
(3) U | B T HYA || 3P T &
(@) AT Y 1 3R 11 B fram R o Se1 v 761 §
(5) ST YT 1 3R 11 B e W e T @

91. BEAGEIR S, T, W, V 3R Y BT 3cHT-3fTHT Aiora o 384 B
Fan Afra & We 1 8 iR Ja SR A &1 6 AT Sar
B1Y P W SW B a1 87
1. S Ueh fqws T shHifed Afder TR Y& 8, Afdp fgaw dfta
R TSI EA R V I et A R St I|ar g
1. Had T AfGT V 3R S & S @al g1 W, Y & X =il Igal

|
(MA (2)B 3)C
(4)D (5) E

92. I@AMKP, QRS T, UARVIW B! R T& I T Ufad
A IS T1 QP TS 3R TR I J31 77
LV, U Recaa e dsdaigl ard u a1 v 5l te aR W
eI 2| R e ot aifod ©R I 7 ST 3
I. AU SR P& S | 984 81 P, Q P Mbean arff Rw
I5d1 21 Had Uh AT R 3R Q & &9 H 931 81 V 3R R

fRpcan TS T8 €1
MA (2) B 3)C
(4) D (5)E

93. BEAMMY, T, X K L3R N, TS 3eH-T HURTIF, G, S, D, Q
AR M H FH A g AfpT o= 98 F e @ H HI
fafafed # ¥ F $u 6 H S a1 g2
I.NHUHI D AP BRAT | Y HUAT M T BH PRAT 81 L U Q
HeMBIA eI TANBUA S AR A F & B BRAT 5
II. X BT G H BTH T8 BaT g1 K HU S 7 ¥ T8l dra1 gl
MA ()8 @3)C
(4) D (5)E

94. T DS UV H 'budget' & foTT HIs FT§?
I. ‘Budget is a missed opportunity’ B 1t hg ds wq vb' BIE fan

TG

II. ‘condition for budget’ Pl 'ka yp hg’.ﬁng%l
MmA (2)B 3)C
4D (5)E

95. D, P U P el e?
. T, D % UHHAE §8 &1 D &1 Had T el § 3R ITD! HIS det
TEI 81 P, MBI UM
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96.

97.

Il M, D 9 fIarg SR8 M, S BT HI 3|
M A 8
(4) D (5)E

o usl 7 ¥ s § < S 1 3R 11 R U g1 SFY Byl
T BRUN 3R THIG BT G4 8 Fobdl g1 T SHI YT JHM BRI
& YHT I Woid BRU 8 Jbd ol T HU fopet off Gy & famm
AT HRUI S Jbd & | UAD U T SHI HU=1 B U 3R IR S|
FYT 1: TN S Jara- & IR § 9 P Ryg-iaar 8, a8
AR 3R yaw ufshar 4|

HYF |I: T8 He1 sffazrifad 78t gt i Yy safaaal 3 Rifdsen
e & &7 § vaw fbar @, 3R Avgdr & Hed F foA, 3R
URaRT & BE B e 99 31 B TR B

(1) BUT | HRUT 2 3R HYF || THHT UHIE §

(2) BUT 1| HRUT g 3R HYF | THHT UHIG §

(3) T BYT | 3R 1| AT PRU S

(4) ST U | 3R HUF 1| AT BRI BT UHE &

(5) T HYUF | 3R HY || FS T BRI & YHT §

3)C

H fGT TN Ud® UY H TH HYT (@ TP 3Eavu) & A af
YAYROME | 3R 11 3T T g1 gderom %o off fau € ¥ 9w
AF R HY 3R Fuferad qduRonsh &7 srerga A
7R R a0 X b Y § ¥ $A-I1 Ydurom HuF o
afHfed Bl

HYF: 3G, INY ARG NRIH S =0 F ATHT 10,000 ST
BT YT B AfhT WG T AN dg 3R 3! 961 83
RifP e ST & HRUN WA SHT HaR AT g

JdURUNG: 3T A”A § dHeldt @ JHT B IgThR aRy ARRD!
P TP I WY ST Ui Wilen & fou dieafea fean

S|

g Bl 3MUP ¢ Dl HH B & I ITaNT B3 arell Ugall
IUHI B

(1) HId QHYROT | Sdi-fed &

(2) HId QIYROT || Si-ifed §

(3) T1 a) AR | g7 gdyRon || raiRd 3

(4) 7 T IR | 3R 7 & R i1 fiRd 8

(5) T gdURoT | 3R gdeRon |1 afed §

=T (98-102): =2 € 7 TFHRY &7 AFYdD Sied= B SR A 3y

98.

99.

Fb:-

T T} BT IR <

T ARBIP, J, M,R N, Q T, L, S 3R Y 3HT-3eT Bidisil A, B
3R ¢ ¥ Ugd ¢ 3R faft &1 @, S, i), &), ibe, YRR,
Tidl, W, AN SR did ¥ B wEE A 81 FH  HH aF
faaal ¥ U & dras J 3reqgH foar g1 ot 3fR afgarsit o
THH GG B | SWiad I+ TR sRedt 781 it &) e |

gl

N U& Tfed el §1 T HIaa A B 312007 Hal § 3R GIe I
e HIAT 21 S R P Y 3T Hdl g, off U 37 Bt W
PG, AT T P WY eI R J & I1Y e g} pRel g1 5
ST TG PRl ¢ 98 HAfedl T8l § SR Bietl A H ST eI
FRAT G| A al P 3R A 8 Q I UiE FRA B S GIW AR 71 Y [T
& Y 3ATTT BT § 3R I ST IS eI &1 N DIae B AT
dloel C H ST g1 BT §IM el T B TG Bl g1 P
Biae B H 3T T8 ST g1 o did) Ul Bl § 98 DIl C
T Uedr § 3R 98 T3V el 81 7 a1l Q 3R A & S Y =i Wi g
Piarot A H T F SoTeT e 31T T8t B &1 S gbe Udg
1 ¢ 98 U AfRdl 8 3R dio C H ugrs Tel ol 81 Y b
qBY g1 N 7 & a1 3R A g YT UG FHRal gIdpiad B H
LT HRAT g1 HIaST C T LT A aTa BT 4T TS 8l 81
M BTl C § UQTS 81 Bl 21 L &1 83 U¥e g1 off e udig
P13 Ig Al 71 L J¥Y 7181 g1 Q oV ol § SR R &b WY
3T Tel PRAT B

9 & @ o 91 safdd ard 31 uEe HRa1R?
mT )L

*Q (5) TTH 4 P15 TaI

Pictel C & fbda safa Sreag= S 3| 87
(M1 )2
(4) FReffa 76t fooar s 9par g

3)S

3)3

100.

101.

102.

(5) 99 A PIS 75T
Y & g T H @ 1 1 31 iRiE 22

M (2) e

(@) 1 (5) STH I PIS TI
Piow B H foban AT ug W1 77

M1 )2

@) Pyiia =& foar s gear g

(5) TTH A PIS TET

9 & Qo 1 g g8l 87

(1) ) B ST 37 T 2 3R Biaiel B | 3T Rl &
(2) Q e UHe R © 3R Bbiee B H Ugrs el BRa ¢ |
(3) PIAST A H L ST Bl 3|

(4) Y DY T T UG § SR Blaret C H 3 el Sl o
(5) THT (1) 3R (4)

(3) dtar

3)3

33T (103-104): FEfifad ushi # oo Ui & I Fo iy Gy Ty

103.

104.

105.

106.

€ 3MUe U8 1 B © [ U u e 4 19 4 few u Fsed
BEANESIRSERE

FY: G THIR ATAaR €, $S TR §UaR §
PIS M GUaR AR e 8, 9§ AR ThaR ¢
free: 1. o WHaR YEHaR e &

1. Tt §HAR & YHAR S Bl YA &

1. 92t TTCAR & YhaR 8 B1 FHTET &

(1) HIF | STTRYT BT §

(2) P |1 3R 11 ST HRA &

(3) P | 3R |11 3T B §

(4) HIT || BT STV FRAT &

(5) ST A FIS 751

PY: DS Dell Hasee & DS Hasee HP g

T4t HP Lenovo % ﬁg 4t Lenovo Samsung q@%
frspd: 1. P Hasee *® Samsung aefﬁfﬁﬂ'l-ﬂTﬂT%

. S HP%Samsung W@ﬁaﬁﬁﬂmﬁ%

1. g Dell & Samsung Eﬂﬁaﬁﬂm%

(1) Had | 3R 111 3RO FHRA §

(2) BT |11 STERVT Bl §

(3) HaT |1 STTRT HAT &

(4) Tt SRV IR B

(5) TH A BIS el

fafiaa oo & Q ©F 91 o 9 SN afe TSP P < G <
DzJiz2L>Q<WREATETITIE?

(1) D>P @Q .

@ FId (1) 3R Q) (5) PR IATE
12 U U v U H U By 8, 39 918 o o | 3R 11 fan
T E | 3D T8 1T PR1 ¢ 1 38 T 0 & q & 91 U
TG q § AR BIF U ‘HHAR' T ¢

FYF: TS TAM H THTH B1S 8P HRAIT S &) gHIfad B g,
3.2 ARd sfye &1 yuifad gan gl

qh: 1. 98 TAM H S B1S 8P 3 HDFC 8, ICICI 9, Yes 5,
Axis §@ 3R SBI SR T YR St 3 3.2 faferom Sfae wref
Y =T fpar g

I1. Axis §% T Aead O e ¥ J&d § ok et oY oo
3fde F1S O &) T P T Axis S TTH o1 emef U 3
JYIRT HAT TR

(1) HId b | ASTgd §

(2) Had ad || ASTEd §

@) T arad | a7 1| Aeled §

(4) AT TH | AR TE I Aoled §

(5) T A | 3R 1| ASlgd &

3) G=L

3= (107-108): K UdS UY H TP HUF (@1 TH IR F TG g

10 | Page

gRUG | SR 11 Y MY R 1 T Y qdeRonSd St we HE
2 | 3MUs! HYF 3R Fufafad gdyronst & sreme a1 §
3R O fofa a1 8 3 gduronsit & @ HiF-a1 Hy= & Afga 81
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107.

108.

HYT: I8 2018 el § [P H uRexiar & Iy ey Ja1 87 &1

g@ﬂﬁmﬁﬁtﬁ?ﬁﬁﬁﬁ AN T Ay farst & & ues
|

QHYRUTG: 1. $HAF S BT T 9 6T 8, Pl @

Ty uRfRufae! d sifie Tnfed Sar gl

Il. 3T 3ATa], TS 3 &R TR U AfSHa Rois wigal &1

Todee NSha Rabls Jumeh B Yoatd & Iy g el oft

TG ST BT IULNT HR Jobd 7

(1) Had YR | 3affed §

(2) HIe QHYRT || Sdi-ifed &

(3) T1 3 AR | 7 gdyRon 11 rfiRd

(4) 7 A QYR | 3R 7 8 gdyron 1| srafiEd 8

(5) ST QEYRT | 3R gduRoT || Safied 8

PY: YR B AT R TS et A fewived wifes W
ufsy o e 2

qduRong: 1. I T R F el § @ifed R
3UET &b Y TS JAT W STerclt g3 ol & IR H Rt &
m?%wmﬁﬁmw%w%%@ﬁtﬁm
TRl

Il | 39 & e ek Bt HET & IR H oy Riar g1

(1) $ad QHYROT | Sfdi-fed &

(2) HId QAYRT || Sdi-ifed &

(3) T1 A QYR | 7 RN || S-fed &

(4) 7 T QYR | 3R 7 & gderRon 1| srafied &

(5) 1T QRO | 3R gdeRon 11 ffed §

=T (109-111): 2 &} 7 SHHR FT AFYES T HR SR A

109.

110.

111.

feu M usi FTIW &

Tgd 15 fawH Sl SR F 2 I foreh 7 g1 Tsg 'YOUNG'!
& 3eR B qUHTEN HH B SFWR I 1 Ud® 3 F U 4 forar
T § (U ST & 95 T 3M&R) | had Ueh &R N 3R | &b ol
Rl IR FP AT NT AR EI Y AR K TUT F IR U a9
3feRT Bt T SRR &1L M & R 59 81 Had TP 3MeR D
AR X & T gl T I 34 AT I A HH &R X MR C &
STEH R 19723 F 95 C TS forar s gpar 31

3Tt quinTer Aoft & fbam eraR, T®=am 11 3R 25 & S ford Tw
3R & o9 82
(1) 10
@ 11

(2)8

(5) FTHIA DI T

TW@AT 7, 17, 19 3R 29 F Fed ford MU 21eR J fHan Il weat
1 fmTr far S ovar 8, afe Weam 29 & 9ad, TXT 5 & gaal

3)7

R 7T 31eR & 1Y DS ofeR | 93 o7

(M2 (2) 1 3)3
4 4 (5) STHI DTS TQI

3eR F g Tom © ¥ frud 9ed forar man g7

(M5 1 (3) 13
(4) 19 (5) 99 ¥ IS TeI

&= (112-114): TR & 7 THGR) &1 TS SETT B R

112.

Fb:-

T Ui FTIW S

f¥g x g B ok g ) & fow men fig B ofk Wy €t g z iR
fig M & fom W meg fig 31 g Z 3R M FHRT: IR 4 feor
I YR I g1 fig B ok ) Huwr: Uy 9 gd 9 9ad g1 fig
R fig JFImAzergIfigL fig RF 2l yd & 31
figx iRz b da Bt gf), fig R 3R J & Fg B g F 1 MR
FARIfAg X iR M P g fig x 3R z # g/ J A B Ifg x
IRfigp g figx iRV atim §) fig Mg v. & 7
ex gd g1 31 XM 3R g Bx & wumTa Twmstt &t gff 81 X
3R M 3R X 3R J HHRT &t &t gl W 3

fEddor areuT 9l g2

(1) g L S X & ehRor-ufm A g

uRefigz fgvruimAs i e afdgy, figL®
SWHA1HRWR g

113.

114.

(3) fig RLZ e et am &reht &
@) [RigRr Mgz gd A gl
(5) PTs 1t 9 Te1 B

gfe fig v, foig H & 6 Hier afdr @t 3R B, i fig z & w=nf
foig H T fpaT @R iR frwr femm & &7

(1) 6 Hiex, ufyA (2) 5 Hex, gd

(3) 7 Hiex, ufym (4) 3 TR, gd

(5) STH A FH¥ T

afe fig B, fig s F RO A g, fig ym SR fig vs & St &t
T g Mgz R g s Taapt @ wme?
(1) 5m (2)5V2m

(4) 6m (5) STH I PIS Tl

(3)3V5m

A= (115-119): R & T IFH &1 wHGdS g B R A

115.

116.

117.

118.

119.

11 | Page

fau e U BT W &

IREAGIK, Q J, T, M, N, R S, L, Y, D 3R B BT ST TG, AR
3R S & faftm 7T 7 gu 41 3901 5 HelR & fafte a’ia
12,16, 23 3R 29 WR g3 UT| 378 ¥ YAD 3HTHT-3eT IU

& frafr vir, i, ofg o, Teim U, Rifvd, oF

3o 3R &t Y81 Afdp Sedl et o 3t opw o €|
K T i et Iedl 81 D B 9= 39 Hei | gan T, forad 31
I o oA B, AT 9 wHifhd diie | e R SR Ai-fgs
@ UgA a0 & g $ad U &) afad BT o il oT| K iR <Y
¥t vear & & s <) afkml &1 o gen 3 Afd
I A 6l &1 i S Sl & S1a T8 g3 U1l M BT SH
SHER & T g U1l Q ¥ g U1 gU Afdadt ot T ok B
I1c;, O] gU ATl 31 T ThamH o, Afth 378 9 Hig

3

3

858

Tie-f3& IU=TT UgdT & & offd g1 Tl N <1 iy gl Ugar gl

3 faqal T S N 3R J & i g3 uTl v 3R S &t e ugan

2 & i < cafckial &1 o7 g3 ATl S S Ugdl § I

S Y & SIC g3 UT| S AR cHR Uelt Ugal § STBT SFH M P

A U BT g1 R 3R N a1 &t Rafry v &1 761 ued 71

?%HWHI%HWN@?GH%@ PHIURHTS B Ugdl g &
g3 Tl

fofaftea & 9 o= < ol o9 earg?

Ms @Y @3)T

4K (5) 9 Y IS TaI

y Fafafed ST & 3 o9 W@ ugar 32

OEESE (2) fafea (3) Hiel-fem
(4) 3T R 5) THIDE T

g o d 9 IR we [T & § g9F ¢ ik 9T 3 Ue
g 94 & | g o 9 o I 39 99E ¥ Tefia el 82

(MK (2) o Rifsd ugar g

@) ST R B Ugd 8(4) Q

(5) S S el U ®

foram safad &1 o T 8IR S s @ ugdr § & st ganm um?
(1) 4 5 (3)3
(5) TTHI DR T

)2
gfe K, o g § G6fid g, M, At R @ defd g, df &
J B IS < 3ieqag? I Tafdrd g2

my @) N
(5) STH A PIS Tl

(4)R

3)S
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&= (120-124): R § T TFGR BT TAYES HETT B AR AR

120.

121.

122.

123.

124.

e usi H1IW S

TS TfH TH g & IR NG Hg BT AR TG b o9 g1 I
SIST JUTATET 55 H P SR o0 & | TS TNT SIeT-3HAT- T URig
ST e b U S wH A

&7 o v iR S & i Rl § & o 98 g1 WF udie
A1 § I8 I AR Bt Abedd 18 3R I8T & S RieaR u¥ig
HRAT 8 I < TG § 98 3RS UG PR ard & 918 3R
AR IoAT I TS AR T & W 3Rl g IaATRI S,
TS TS R T P 918 3R ORI ™M | g1 &) e, RyeaR
TG A a1 IR A T B g FRA Id S S A Ssd g1 T
) HIA IS el 81 Tl Q 3R A & W HY Rk 1™ 31

9 & P 91 afdd e 1 T Har 87
(Mw 2R 3)P
(4) X (5) T (3) AT (4)

g X, ek Ui -7 a1 & R R g R”IF W 3371 8,
3 T $ ad b Nebedd e o1 961 22
(mre 2) X

(4) Puffea =& fear s gear g

(5) 379 A PIS el

g ue & ¥ IR v [T a8% ¥ E § ok 3uf 3 U
T 910 81 e 3 A o 39 g  gefd i 82

B)W

(1 u-d= (2) S-a1d (3) R-3MRW

(4) Q-Uier (5) R-

gfe p &b UG BT T, o P 3R Hell The HA ard & g
P AT S5 € afe s ) 91 3R A T Srar 22

(11 )2 ®3)3

4 4 (5) STHI DTS TQI

B T P 2 R UiEd B 1S 3R W22

MmaQ (2) S TS U E Rl 8

(3) T (1) 3R (2) (@ TAPATX

(5) 3T I B3 TRl

=1 (125-130): 2 & T SHER FT AFYED T B SIR A

125.

126.

Fb:-

feu Ui BT IR E:

S B3 Veq, 3R WA HGRIT UM H Teh 37YC N8 Weg 3R
T < St B, @ g% I% fdt Ry fam & srgmRor A
FafRYd T ¢ | FEfiad 37e 3R T: a1 &1 IeTeR0I &)
%TYC: Response 7 8 condition returns 10 11 development 9
objectives

TRUT I: PRP 81 Response 7 8 returns 10 11 development
objectives

TRUT |I: PRP 81 OLF 121 Response 7 8 returns 10 objectives
TROTII: PRP 81 OLF 121 FXGC 20 Response 7 8 returns

TRUT|V: PRP 81 OLF 121 FXGC 20 TKLF 16 7 returns

TRUTV: PRP 81 OLF 121 FXGC 20 TKLF 16 OFF 49

IRWUV FR F 1 S RO |

IWRIFd @R # T ¢ Fml & oER, fAU MU gge & fou
IugH A =Rl # Fafefed usi &1 3w 31d Bl

%1YC: Demography 12 Technologies 5 young 6 crying 10 7
economy

A I B O Y TE 72

(1) foT 7T SgaRT B R IR F U B8 IR0 B ATl g
(2) TROT 11 H 12" 3R '5' & St o 3faad g

(3) "ITIF =R 1| 914 BR T TR VI W W8

(4) 'OFP' 3R TRUTH 25' 3R 'FLOP' F FA H g

(5) B3 W HI TET 8

9 & S 1 39U IR IV 7 S0 3R | dR1 82
(1) 49 (2) 24 (3) FLOF

5 (5) 9 4 P15 TaI

127.

128.

129.

130.

Fafefad TReamsit & § o1 a1 T wror 1§ guf aFf g2
(1) 49 2) 25 (3) 36

(
(4) ST (1) 3R (2) (5) TTH AP T

A RTF ITIF 3R 24" & S o 3faud @2
(M1 2)2 3)3

(4) 4 (5) 79 4 IS TeI
o & 9 o o1 o1 FEfifad emseye & g=ifdT 8, ‘0BRS 12

ITIF 20 NMD 49 FLOF 24 5 young'?
(1) OV (2) =R

(4) TR 1| (5) STH I PIS TeI

RO || H, 20 3R T BR J GIRT 3agd B ATOY H 3rea seall
P W, TR 1| H 20 & ST JIRT B T 3/aqd grm?
(112 (2) Technologies (3)5

(4) Young (5) STH I PIS Tl

(3) T

A= (131-135): R & T IFH BT WHEGdS T B R A

131.

132.

133.

134.

135.

fau e U BT W &

Jid afdma, L, M, N, O, P, Q 3R R TP HaR H 33 § I8 I
FO BTG G & IRP § 3R I70 A $3 BT W UHT Bt 3R g
ITH Y UdD BT 19 7 db SfaT-3e 3P e 8, Afeb SRt
T8 % te & w9 ¥ g 59 cfeqal &1 99 Hard sl &
31&RT P Y & BIA 8, I Th IR b McpecH TS 781 & (@t
TH-TR P FW IS )

Ta M R T N B i eifdm 3R R Sar 31 L i off
3ifoT BR W e dod1 71 M 3R N &7 T Th-giR & fqudia
R A g1 o H oW yd = & 81 0 SR P & o Had Us &
e 9BAT 81 P,0 F SR Sad1 81 Q 3R P & Id FRR | R
B 15t 3 AT 1 P BT ¥, O & ¥ § AT B1 &) AfH R 3R
S 5 97 3o U T § & 8 964 § | L DY 53 I &1 fem g
NBTIF,QF B H AT gl A ABRIM ARN F T I 2 |
N 1 A I T8l firelTl L 3R P & ¥ob T 3R Q F I &b SRR
21 P ¥ Fivead usiit tep € faxm &1 I o €1 N 3R P
T = 1 AT AR § | RO gORT Y e 8 98 L Bt 18
IR TR M W 81 Q 3R R TH g1 FI=M 7 [T v § St
PP T P AW § | L 3R M Fbean usif) g €1 N, forae!
P48 ITP FIWEI

QP FEH I I firam

(12 (2) 3 3)5
(4) 4 (5) STH I PIS TRl

70 7 3 o 1 fad &l guRT ¥ firadn g7

(MNP @o0 _ . ®aQ
L (5) STHI DTS el

e AT 0 3R SR 15t ¥op feidT © & g dod &2
M2 @5 3) 4
43 (5) STH A PIS Tl

P 3R N &I 3Nd I T 2?2

(1) 4 3 ®3)5
(4)2 (5) TH Y IS TBI

9 uig ¥ 4 IR e FfET P S 9uE g 9IR ZufiT 9 e

g 90 § | P B ¥ 319 11 39 g ¥ Teifid el 82
(MR

(2) SR & T 3R T ™M R 51 g

B)M

(4) SN 0t & vy aTg SadT 8

(5) P

=T (136-140): TR & T TFHR BT THEGIS T Y R A

12 | Page

feem i eI e

U= (%) BT FFReuwr 2 8 3R (&) &1 feuwr o g1 afe ufermra
THIS B VI W ¢l 3UBI JH SHHT bR 4 81 o1l § o1 I8
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136.

137.

138.

139.

140.

SR 21 & TS WeaTaell T TN B Rafafad udt F W <)
JeTEru & fore:

%=2

%&=4, 0=4+0=4

8%&%=0, 8,0,2=8+2=10

8%8%%8&% P foTT IS o1 BRI 2
(1) 80 () 64 (3) 90

(4) 85 (5) STHI DTS Tel

ZTH A B T 3G BIe HIW H 202" BT FRET0 et 82
(1) %&&&%H&% (2) 8%&&%&%

(3) BR%%&% (4) %BRR%&Y

(5) %%K%BEE

e ¢ = 0 3R # = 1 A #$##$#$# B AT B T Reb S
(1) $#$###$ (2) $#$$#3#$ (3) $#$$#3$$
(4) $#$#38#$ (5) #$$$#3#$

'SMTP" &7 guf Tu=1 =19 o1 82

(1) Service Mail Transfer Protocol
(2) Simple Main Transfer Protocol
(3) Structured Mail Transfer Protocol
(4) Simple Mail Transfer Protocol

(5) S99 A BIS T8

%%ﬁﬁqmwmmmaﬁﬁésmauﬁﬂﬁ
?
(1) HTML ) C

(4) FORTAN (5) T AP TaT

Quantitative Aptitude

(3) BASIC

%(1%%45):ﬁmu%ﬁﬁuwﬁa(?)%wwwm
?

141.

142.

143.

144.

145.

146.

147.

200.1 x 9.9-25 x 62.5 + 12 x 144 =? - 26.49

(1) 1627.98 (2) 1842.28 (3) 1958.8
(4) 1972.88 (5) 2172.98

V48 + V80 + V176 + V324 - V121 = 2 + 7 + 411

(1) 4(V5 +7) (2) 6(¥3 + 5 (3) 4(V3 + \5)
4) 3(V5 +\7) (5) 9V2 + \3)

1265 + 25.3 + 102 x 98 — (23)> = ?

(1) 8517 (2) 9517 (3) 8717

(4) 7087 (5) 9087

3V12167 + 280 BT 3¥21952% - 56 BT 31704969% =?

(1) 41.56 (2) 51.46 (3) 51.66
(4) 65.56 (5) T A PIS TaT
([33(17/25 1% [34(22/27)1} + {[35(28/52)]x [36
(B7/571}=?
(1) 1853.78 (2) 3259.55 (3) 2474.94
(4) 2650.29 (5) 2493.13

frd= (146-150): FFfafad ust § 3 IR | 3R 1 e U &1 e
S gl 61 8 HRATE |
G?Ra;:
(@dta>b b aTa<b (©3EGazb
(d)afg as<b
(e) TE a = b AT HIS it Frayy w7} fobaT ST qpe @
. 8a+b=10 II. 4a+2b=13
(1) a )b (3)c
4)d (5) e
I. (a+3) (b+2)=12 II. 2ab+4a+5b=11
Ma (2) b (3B)c
4)d (5)e

Fb:-

148.

149.

150.

I. 3a-2)/b = (3a+6)/(b+16) Il. (@a+2)/(b+4) = (a+5)/(B+10)

Ma )b 3)c
4d (5) e

l. a+20a+4=50-25a Il. b>-10b-24=0
Ma )b 3)c
4d (5) e

l. (@>-10a+16)/(a® -12a +24) = 2/3 Il. b*>-b-20=0
(1a ) b 3)c
4d (5) e

& (151-155); A9 29d &7 3w B 3R U BT &l IR ¢, 4

151.

152.

153.

154.

155.

SIT-fAT 2q foam T § Sl < 1 9k < 2 & F Tl gRT
Siff o 7T i i B

TERM-1I

Student subject | Physics | Chemistry | Maths | Computer
Anil - 78 75 76
Sunil 55 65 70
Sathish 75 80 - 85
Dinesh 85 90 20
TERM-1II
Student subject | Physics | Chemistry | Maths | Computer
Anil 72 - 76 70
Sunil 50 55 75
Sathish 80 82 84 -
Dinesh - 90 92 95

T e # R 1 ofed 1 8, afe S o 1 ¥ dger |
TR B e T 10% 31w 3f IR fhan § ok < 2 |

Wfde 7 Tdrd 10% A 3 gl fpare?
(1) 8240 (2) 88.38 (3) 89.43
(4) 78.35 (5) TH I P T&T

e 1 3R e 2 B 7T &1 SrUTd 9T §, Al T BT 3idh < 1
ﬁﬁ‘%ﬂaﬁzo% 31 B ok of 2 H giat 7 ofch el & 12%
FHR?

(1) 154:153
(4) 154:163

(2) 154:143

(5) FH Y I 5T

a & e 1 H U $d o, 1A & o 2 W U ot 3 ¥
T fora ufawia e § @ifRa 31 o 1 # ifde # o
3 o 2 & FHF T 3R 340 & oH 2 7 39g & U i < 1

(3) 141:153

F I R)?
(1) 2.40% (2) 1.38% (3) 1.6892%
(4) 0.6892% (5) STH I PIS TeI

i 1 R o 2 H FgeR FT ol & o m ofcR § @fe e 1 |
%1 & 3icp T Bl qa | 5% 3 B iR e 2 A wdiw &

3iep T2 b1 el H 5% HH 8)?

(1) 8.3453 (2) 6.4375 (3) 5.4353

(4) 4.4444 (5) 3T Y P TaT

o 1 ek ed 2 W TarE § 9w &) U 3 ok GFT o A
=1 oY Tfora & UTe sies T SruTd 9T 87

(1) 81:91 (2) 88:38 (3) 82:31

(4) 81:98 (5) 375 A P gl

&= (156-160): TC FT AHYAS S B 3R Taferd st &1 IW

13 | Page

31 IR U ST AHAT-HAT axgsft W iffa @ o g=ifar 81
-3¢ 2015 B Ueh WR GRT 31 T S HTHT- 3T SATS R
B AT Hed T 3|

Fo AT Ted = 3. 72000
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Sales

156.

157.

158.

159.

160.

Heater,
21%

Juicer,
12%

Profit%

Purifier,
26%

Grinder,
18%

60%

48%

50%

40%

30%

20% -

10%

0% -

AC Heater

Purifier Mixer Grinder Juicer

IR IR MESR B s g, er 3R BRR &t fasva geg &1

fopa uferera 22

(1) 88% (2) 96% (3) 100%
(4) 80% (5) 150%

TR Bt Siford Yoo, MESR &1 ANTa G 1 a1 wfarera 82
(1) 35% (2) 40%  B)2%
(4) ST STC (5) 99 A IS T

Wﬁ%wﬁ%ﬁ%%%ﬁﬁw

(1) Rs.1520.67
(4) Rs.2491.20

TR Bt {30 Ted, AC &1 fasha gea 1 fsa wfawra 82

(2) Rs.26450
(5) Rs.1457.8

(3) Rs.3457.45

(1) 85% (2) 75% (3) 90%
(4) 70% (5) 115%

AR &1 siferd Hou, TRwRR & fasa geu &1 foaa ufara 8
g R W 20% Fe Iuas 87

(1) 55% (2) 51% (3) 45%

(4) 36% (5) 44%

frdw (161-165): R Ui & ¥ Ul § U Uy IR ITF A9 A A

161.

162.

Fb:-

Hy fear T 31 9t HYE ) U SR T1d B [ PH-F Byl
J 7l T ITR a1 S ThelT § 3R TGIIR SR S|

P 3R Q & TR AT &1 e Srurd oam 82

1. Q &1 TR 9w ¥ 12000 §

1. P 3 T FAfa A 1 A Hras sgaam R foban SR IR
TR ¥ & forg faw fram| Q U & P& g & 4 IgH 916 P
o 1Y M g1 77 3R /Y 98 & fore 3w fBan) p 3R Q gRT
ST AT BT HA: ST 7: 8

(M aAt R wafE g

(2) Pad 1 A g

(3) Fad | I 7

@TdRTIGIEEg

(5) T AT 1 T §

@g‘rﬁﬁ6wmsnﬁmwmufﬁwmwm
?

HY I: GV 3R FIRA B prferel BT 3 2: 18

PY II: 9 Al 15 TG & 3/5 BT TR HR Thell §

163.

164.

165.

FYT 1II: 6 T3V 3R T g 12 oAl & Uh-AUTE B [ IR
Febd g, Taid 6 AR iR a1 U 1Y 16 31 & <1-fags &
R R GHA &1

(M1 Raa A v g

(2) T it 2 Y=t &1 TS ¥ 3Taegs TR ¢ 96hd &

(3) Fad | MR 17l ®

@ g, 1R vafa g

(5) 399 A PIS TET

HHR, sdfdgwd R HbMHHd TN F TR # fbe ©H 8
@Fad N AU TR TR B3)?

BYT I: BHI BT 20% ABNDA AT B §

FYA II: TR 3R FAfGCHA BT 37eqT B aTel B BT T
5:3 % U A &

FY 11: AGCH DT LT B ITA ST BT TRAT AP (b
BT T B dTel B B GBI F 100 3P B

(1) Fad 11 3R 1 7 §

(2) Fad 11 R TT A 1 AT 1| Pad T @

@I A AP I

(@) 4, 11 3R T g

(5) T HU S THBR! & I U T IR e} 1301 o Tl &

T AAIHR gidd P B Pl AN T 22

PYF 1: BT DI TS 3R AISTS BT U 5:4 &

HYF |I: 5T B! a8 50 HieX g 3R B Bt @Nd $1000 Ufd
Fif ez g

DY I BT BT IR 180 Hex B 3R Bf &t arTd 1000 U
Fif ez g

(1) Fad | 3R 11 7Efed §

(2) Fad 11 3R 1 vafE §

@A dd P AW

(4) Fad | 3R 1 7afed ®

(5) | R T 1 7 11l v §

A B U I B, e SR ST AR 60,000 U R, o
T T e & A1 TS B &1 1 [ede e 1 et fiede ot
ARTd o oY

PYF |: IS TP fCdhe &t HIFd 50 T FHH g1 oK, df $a
ST MR 15000 HH Bt

Y 1I: I UASD fShe DI Bd 50 IU 3D o, A o S
AR H 25% @1 g B A1feTl

(1) TfE 3P HUT | 7 32T U BT IR a1 & forg vafe B

(2) TS 3B HUT 11 H 3T U BT IR & & e Tuid g

(3) T 3pd HYT | H ST U BT IR ¢4 & forw gaf g arafe
3P HYT || T ST UY BT IR o1 P forg afe B

(4) afe AT 1 3R 1 F 3T 7T 2T U I U & IR o1 & forw
Tt Tt &

[
(5) T ST HYT | 3R 1| 7 T TH Y UY & IR & foU
AW B

3 (166-170): T 9 T Aot & T Terd T@ € S ] 1 Terd

166.

167.

168.

169.

170.

14 | Page

T I B

23, 38, 53, 68, 85, 98

(1) 53 (2) 85 (3) 98
(4) 68 (5) 30 Y PIS g

5, 8, 14, 26, 50, 98, 154

(1) 26 (2) 98 (3) 14
(4) 154 (5) FTH A B1S TaI

18, 119, 708, 3534, 14136, 42405

(1) 3534 (2) 119 (3) 42405
(4) 708 (5) 18

8, 19, 41, 107, 184, 283, 404

(1) 19 (2) 283 (3) 41
(4) 107 (5) 184

851, 601, 551, 501, 476, 463.5, 457.25
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171.

172.

(1) 601
(4) 463.5

(2) 551

(65) THIDR T

efReT ¥ 25,500 $UA & TTe & fI€ U Aet1 ot 20 Hfara et
P R J YR A <t B F 3w 5 ) I & ofd § 9%
T 3R U 3 G 1o § T =31t ot 10 % wfdaef b
R Y THYG S I 8 B R A A axar g1 4 9rat & 3id o
A W R R 3T Fe ST o/ Rt
(1) Rs. 17,697 (2) Rs. 15,017

(4) Rs. 24,247 (5) 99 ¥ IS TeI

T MST & 1T T o8 SHaR & T | HTH B ¢ 3R TSP
fafor & fore fogae fArsor @t emgfd wva §1 396 U™ &Y UBR
¥ fogiE 21a § 399 ¥ TP w42 39T Ui famm &R qu’y
T 25 U e 21 25 frciumT arch qERt UBR % WY
Ugd! UBR Bt fhan b I &) ff¥a s =gy, s
IY 40 fHarmg & 0 o 999 W IT 25% a1 e

(1) 30 (2) 20 (3) 25

(4) 15 (5) 99 ¥ PIS T

(3) 501

(3) Rs. 23,597

=1 (173-177): R & 7 SHER &1 YD ST IR SR A

173.

174.

175.

176.

177.

178.

Fb:-

feu U usii B3I &

MNC & faftrer faumd, o didieh, 39 feweR, snsdt, ameh
AP 3R Rer weftq # oM o7 a1 IR 81 &1 MNC #
P HHART 2400 B 3R MNC H T 3R Afgen weaial &1
SUTA 5:3. g1 e faumT & qest o1 12 ufdwrd @ &1 aRa
%m%w&ﬁmzwﬁmﬁf@{quﬁﬁ@mﬁmﬁaﬂnm?ﬁ
1 fiitel RurT ¥ Hm A arch AfRanelt iR BT 3O
6:11 81 Afgensit &7 1/9 Mt UM & R € 3R I BT
T Ufaerd Il dEs faumT & & d § | gl due
fQumT & &1 S ard AR 33 fqumT & &1 e ard ey
mmuﬁm%lmn%méa%mmﬁmﬁmaﬂﬁ%l
TS AU B B &R I8 FHAIRG 3 Fo TB 285 71 GINF
BT 22 % 99 fEOITER BT HTH B & 3R B! P HHIAR! ReH
TR faur # &1 a4 g

&né‘c"rﬁumﬁmaﬂﬁaﬁw‘rﬁm MNC & Tou! Bt
G TRSAT BT ATHT e faerd g2
(1) 5% (2) 12%
(4) 4% (5) 18%

Ry tefif e faum & geul ok ot faur & goul &
9 ofck 1 57
(1)10
(4) 16

(3) 21%

(2) 15

(5) FTHIA P Tl

Rren T e ARt & S R R HHARA & $o T,
MNC B &7 &R I8 $d HHAIRG! Bt TReAT BT fad=1 Ufa=rd 87
(1) 19.34% (2) 16.29% (3) 11.47%

(4) 23.15% (5) 3TH A PIg T8I

Il e fQUET & B9 S arell dfgansl 31 W&, MNC &
HTY F TG Afgarstt Bt Fa - o1 fse=1 ufa=rd 82
(1) 7% (2) 2% (3) 4%

(4) 1% (5) 9 A PIS T

dien ok 39 fEwmsR U & Hm %= ard aigarst @t oo
TS T 87
(1) 363
(4) 521

(3) 18

(2) 433

(5) FTHIA P Tl

P 3R Q U HU-t H URieR & e § p FAfspg Ier § 3R Q
iepg HrfieR B1 P o7 A% $80,000 3R Q o7 A% & 60,000
B T I & Fee & foIT a1 BT 20% U FHRaT § 3R S
A e e & P o9 Tren fHU Sd €1 8000 T BT
AHH P HT R R B?
(1) Rs. 3657.15

(4) Rs. 6487.75

(3) 545

(2) Rs. 4210.25

(5) FTHIA D T

(3) Rs. 5428.35

179.

180.

181.

182.

183.

184.

185.

186.

15 | Page

TP gHM "P" | 30% B W T WpeR IUas § 3R g "Q"
T HId 15% Fe W IUAH | 91 & U g "P" IR 39 WRIeA
& forT % 35,000 TATd M B 1 S BT gHH "Q" | WA & forg
HTaRg e MR Y fa &1 82

(1) Rs 2500 (2) Rs 5000

(4) Rs 9000 (5) 9 A B TRT

FH 1 $d AP dd-, 2015 & 6 ARG SUAT Ufd a9 T, 2016
T 20% PH 8 T 81 2015 H I7P URAR & T Rem R 1&?
aiifes I BT 60% UTI DA avf § 2016 H Ran & forw

10% @1 9f& g8 &1 a9 2016 & e W wfaw @, 2016 & Fa
I I TR UM B3 (TRTH) Tfe TRaR o1 fR1em W T<f 2016
T Qo o |
(1) 66.4%
(4) 94.7%

(3) Rs 7500

(2) 75.6%

(5) TTH A P Tl

Aferar & Srqar) & 5 ufearar §1 378 ¥ U Wihe §, QNI Al
8, RT e=1 ©, A dier R 3R 3T e 81 ST SraH H,
6 g i 81 I7H ¥ Uh e § 3R 3 5 PIaT ¢ 98 W H
SO TR W & 3R 11 B Wi B f5A 1o ¢fu ofik we
qfeara Sl &l Fererd) 81 @ Uiidiear & o 7 dl efg iR 9 &)
ufeqTe Wb T &1 32
(1) 5/9

(4) 1/3

(3) 82.5%

(2) 4/9

(5) STH I PIg Tal

PQR T JHHIU FAYS § ST QIR JHHIUI §1 A PQ TR 3igdgd
PQ & =0 & I 243 T7f Juit Yo HRal © 3R QR R g
QR & =0 H 1T 108 a7f Tt YaH FT & <l PR TR 31Gdd PR
F TUH AN a1 &t To T 82 Al PR & SRIaR o
% WY PR TR 31efq T &A% 1 gITI|
(1) 305 o¥f It (2) 325 f 9t (3) 351 o I
(4) 362 I I (5) T I B T

T STd &) UR B3 & U T 39 iR T Rl Iuasy gl
R Bt i 39 SR §1 it Y e 100 TN § IR 37 Y
60 AT &1 3 BT 3ga i et | 7 T 81 97 3R el
& T fope @ITd HHT: .2 3R $.2.50 81 U o & ot iR

3)2/3

39 F 3T TUT &I R R? HH o o gl ok /et
F 3 & o= 3Ty THY e §, 39 U fbar
ST 8 3R 3! &HdT IR 961 dIel afddl o) IRdfdeh T &
U & = B gl faan mar |

(1) 25:18 () 15:17 (3) 18:25

(4) 17:16 (5) TH I P T8l

fopdlt ¢ IR R ugd < auf & oI &I @R} W 7% Ufaas g,
3T 2 9N § TE 8% Ulday €, 3R IR a¥ ¥ 31 B @i &
forw 9% ufcad 2, it RO SIS TR UMY B Sl 21 afS B
fdT 8 98 & 3T H $15072 P U HHT ©, 3G P 3fd &
[EEREIRIEI RIS KL
(1) Rs 56308.70

(3) Rs 37908.36

(5) S99 A BIS 751

U A o9 B, 240 InfIGaR g § 3R 200 Iufigar Afgar
§1 g9 IufEar & 50% SR Afgar Swiear! & ¥ 40% @ &
Iiicar §1 qo @ SHfigaR! &1 40% 3R Afgem @ & 50%
Iuficart A sifad afien Ifiof w11 oen & Iiof g9 ara @
Iudieart &1 ufard @1 g2

(1) 45% (2) 42%

(4) 47% (5) TTHIAPR Tl

f et auy, & 3R X0p A 9% U ¥ #F X ¥ U a¥ & farw
UH QR ST AT B S{eRT-3aT I HT FHaw fama ok adf
& 3fd B $d & 2430 $I A 3foid foan| afe a7 gRT o &t
Teft IRy QU] gRT AW Bt 1S RV B3750 HfAF ¢ 3R XL GRT
o @t T R o gRT Faw @t 1 R § .1500 i

(2) Rs 48768.25
(4) Rs 24368.52

(3) 46%

LRI 9 @t TS A T g2
(1) Rs.8250 (2) Rs.9500 (3) Rs.8645
(4) Rs.9750 (5) TTH I P T&1
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187. ifel 3R Jwrdl A 15000 T 3R 13500 YA H 9% &
Y Blcd & B &1 4 TSI & aTg, wifet 3ot fawr &1 e EESMUS
foear e At 71 2 T a1e, Jwidt s A &1 e A
ol Frebrer i & s Tt 21000 €07 1 Gsh 3 el <Yt NEWS
I 81 9Y & Sfd H J 15510 TTU PT 1M FAM §| ONH & TA® ANALYSIS
T &1 fewam a1 82
(1) 4800, 5670, 5040  (2) 5000, 5870, 5240
(3) 4600, 5470, 4840  (4) 4000, 4870, 4240

(5) 3T B3 TRl

188.  3{UF UHI AT R W, Y 1 TP el § 12 Hid G
PR B R g SHeag T IR ¥ 6 6 HH AT | Afe
Ife 98 24-Hid @) ISs-U & faw oA I VT R B
SN BT 2, A 12 i SIS 7 B B, IR G HETaTE
T B Y Pad 1 9 HH TN &RT DI gdH T T §
(+fret/eieT 7y
(1) 2 2/3 Hid e (2) 2 Hasder
(3) 1 v Hid /e (4) 3 Hasder

‘ Triumph IAS

Daily News
& views

(5) 39 A IS T
210 Important News Brand Promotion _ Mobile Screen Friendly
189. BHAEN H Had TH HHR T 3§ ad BT BT T99 B & g -
T faRy U Ao fovar Smar 81 80 @y -3, 160 ¥ -2 3R ONELINERS | BRANDING | PROMOTIONS

120 Y- 1@3%%@@?{@»‘%%3& -3 &7 91 dled)
o 3 IR W@ T &; UAS dY -2 BT ¥, 2 IR 3R a 1 &7 7, 1
IR | 1 YR € o aef 2 &1 A1 g S

(M 8/17 (2) 6/17 MONTHLY

@) 717 @) 517 : , ; .
(5) & A P T CURRENT AFFAIRS BOOSTER

190. TS gid B! s 3R IS HA: 60 Bie 3R 30 Bie Bl IR
i s & AT T & TBR eed B! B IR [ S| o
erad Tt yemrefl wR 1 tfek B w7 §1 afe R T bt e 2w
T U # < IR 3R A9 H et 317 ) et TG S B, o HT

www.tesmus.com

§3:8587.01-01
MONTHLY
CURRENT AFFAIRS
BOOSTER
Recpe you Hhead

fram didt 371 1 eTed BT g
(1) 52 (2) 63 (3)72 J
(4) 35 (5) =78 A B &Y CLASSES

ONELINERS | BRANDING | PROMOTIONS SUBSCHIBE Nuw

www.tesmus.com
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SBI CLERK MAINS_2024 TEST ID - SBM - 87205360
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= e &1 I ey Bt f3Ried Sare Iwmen sk

feforea Wl & orpa T B

3P THUmS BT deg 37 f3RTed Iame) ik Jarait

P ggM P oL I & TTY TG BT H IS8

Eﬁﬁ;w%ﬁawﬁﬁum&maawﬁma
|

I IH-NYTTT HeR P 1988 o9 P YR UGS Jal

¥ YagT B RT §

Nt afesiT & U & ¥9 & IR T Ued &1 SRS

R A F a1 F 98 TR ¥ FRided Herg G

3Tgad & =0 § HRRA U1

FHET Fabd N (CVC) AN TR & THST ST

T, YPER &I Ad 3R FUT BT dTal 3 & fag

iR o Mo 71

rafed Afde T X ot IEs Ta SMfEBIRG IR W

femTae vew = raTer & 263 T <TTe™ 9 U 8

S 2012 B OrYfd T TH I9ES 09 B Y U™ & I

T & AT & w9 § ged forar mar )

& § 35 31 3T, 2021 F AT 9 & o g&1

=i bt YfireeT g |

& 3fafkad, S doe 3R gRamn 3= ey &

IR & w0 H B fhar B

ORI =u 9, 37& arar o 1960 ¥ 1961 TF iy Yo &

I T & AT 3

URA 19 ¥ 22 JAls, 2023 & a1 & 143 W@ SHoll

TR (CEM-14) 3R 84 frRM 39132 (MI-8) So&

A PR F foIT TR B

"I Soll Bl U 1Y 3 ST favg & ury, 39 99 &

WL 3R T3S Jod AP RIURD! Bl T WY A

AR SIORM (UHers) U afy® Hd g fored 23 31 8k

TR SR A g

THITE 1 I B Holl Hifd & doll AT 3R ARG

o & Aedt ot = B Tl BT SR Y- I

F I TR

General English

In 2, ‘In the budget is incorrect usage. The correct
usage is ‘With the budget. In 4, ‘are’ is missing.
‘GIFT authorities are expected’ is correct usage.

In 1, ‘maintain the real time record’ is incorrect.
‘maintain a real time record’ is correct usage. In 4,
‘proposal with the government’ is incorrect.
‘proposal to the government’ is correct usage.

In 1, ‘among the two’ is incorrect usage. ‘Between
the two’ is correct usage.

In 1, ‘at the shelves’ is incorrect usage. ‘off the
shelves’ is correct usage. In 3, ‘out for orders of
A380’ is incorrect. The correct usage is ‘out of
orders for A380'.

In 2, ‘hyperbola’ is incorrect. The correct word is
‘hyperbole’ meaning exaggeration. In 3, ‘over the
southern copper belt’ is incorrect usage. The
correct usage is ‘in the southern copper belt’.

In 4, ‘has not updated’ is incorrect usage. The
correct usage is ‘have not updated’. In 2, ‘in regard
to’ is incorrect usage. The correct usage would be
‘with regard to’.

All of the options are correct.

In 2, forage in’ is incorrect usage. The correct
usage is ‘forage for’ meaning to look or search for.
In 3, ‘bumping 2017’ is incorrect usage. The
correct usage is ‘Bumper 2017° meaning
profitable.

In 4, ‘largely in the states’ is incorrect usage. The
correct usage is ‘largely to the states.

Ans.60(4)

Ans.61(3)
Ans.62(4)
Ans.63(1)
Ans.64(1)

Ans.65(2)

Ans.66(4)
Ans.67(3)
Ans.68(1)
Ans.69(4)
Ans.70(5)

Ans.71(4)

Ans.72(3)
Ans.73(2)
Ans.74(1)
Ans.75(3)
Ans.76(4)

Ans.77(4)

Ans.78(2)

Ans.79(1)

Ans.80(4)
Ans.81(3)
Ans.82(4)
Ans.83(1)

Ans.84(3)

Ans.85(4)

Ans.86(3)

Ans.87(2)
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In 4, ‘with an intense’ is incorrect usage. ‘in an
intense’ is correct usage.

The passage here wants to convey that response
undoubtedly took into account. Option a
presumably is synonym for the same.

Here the passage wants to convey that there was
a fallout of the situation.

Here the passage wants to convey the message
that there was a regret among them. Contrition is
synonym for regret.

Here the passage wants to convey that there was
wrongdoing by the bank. Malfeasance is synonym
for the wrongdoing.

Perpetrators mean people who do illegal things. It
is exactly fit for the passage.

Shun means to be unable to deliver. That is
exactly the opposite of the message that the
passage wants to convey. ‘gimme’, which means
to deliver or put on a good show.

The passage here wants to convey that the
regulators of the bank departed from their paths.
Diverged is synonym for the same.

The passage wants to convey the message that
lenders want to enlist existing promoters. Hitch is
a synonym for enlisting meaning to sign up for a
responsibility.

The passage clearly tells us that India needs to
create stringent norms for safeguarding the
access to public data. Also, it tells us that India
should learn from shrewdness of china and
employ similar management techniques.

‘But because it was gaining market share and
killing off competition, investors rewarded it with a
high stock price. With that, it raised money at
below-market interest rates and used it to increase
its market share.” This passage clearly tells that
investors employed a strategy of killing the
competition.

The passage clearly lays out for us that India
needs to improve infrastructure and subsequently
improve in technology.

Options 2 and 3 are out of the context of the
passage as there is no talk of hacking or tax
evasion here. However, the main issue is about
companies gaining a lot more than anticipated.

‘Ratan Tata, the group’s 80-year-old-patriarch,
who has no direct heirs. The resulting ambiguity
has led Tata to be too tolerant of weak
businesses. This line clearly tells,

‘It must ensure that the stars, TCS, JLR and Titan,
continue to thrive, which means leaving them
alone.’ This clearly tells.

The author is neither authoritative nor pessimistic
as he neither discourages the scheme nor forces it
to happen. He simply believes newer avenues
should be invested in congregation with autonomy
of older ones.

Option 3 is clearly mentioned in the passage as it
tells that he has the ability to ask questions from
Mr. Ratan Tata.

The line following the Blanks tell that someone has
authority over her. Option 2 here is correct as it
tells someone else is taking decisions.
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Ans.88(1) The passage at end tells that governments are P Silver | C Female
shying away from the.scheme. That means it must T Violet | B Male
be costing them heavily. N B B Femal
Ans.89(4)  ‘This would increase the database to far reaching " ue emale
areas and increase its jurisdiction in a disastrous R Yellow | € Male
way.’ This line clearly indicates that they fear that N Orange [ A Male
it will increase the reach in areas where it Q White | B Female
shouldn’t. _ T Golden | A Male
Ans.90(2) Only option 2 is grammatically correct. L Green | BIC Female
Reasoning Ability and Computer Aptitude 5 Red c Female
Y Brown | A Male
Ans.91(4)
5 Ans.98(3) Ans.99(4) Ans.100(4)
Ans.101(4) Ans.102(5) Ans.103(2)
3 sV Toesday -
4 m
Thursday
Monday
3 SV
2 Y
1 W Ans.104(1)
Ans.92(5)
E |P Q U \wv samsung
Ans.93(1)
Y M Only I and III follow
T G Ans.105(4) &dd (a) 3R (b) A g
Ans.106(1) %ad dd | ASEd §
X FY | fe F1E BT ITAT FRA S THIE $T a7l
dfp § S uRon @1 o1 © ST HIS BT T A F1
K THUH| A T | Golgd & I 11 e TS H1 Iuah A
T BT TTH FATdT 8, T8 foU TN o &1 Ja e rar 8|
Q Ans.107(5) $EH §fG BT 3UR, DT ST WA YT YurTed! Bl
N 5 S XA & U far o g1 ok soaeie Afdsd
) RepTS romeft 1 g & Ty & 9 el it wg Set
Ans.94(5)  ‘budget' % T HIS hg & Wﬁ@m@rﬁél T ST RO | SR el 1
Ans.
ns.95(5) Ans.108(1) G VSTl & BRU WRETT BT IUANT BIA URA FY
-o oY H ufefid B w81 g9l Bad | SR
PRATE
Ans.(109-111):
Number Case 2
S 1
-_o 3 G
5 1
7 D
® —
11 X
13 F
D 15 grandfather of P. i? g
ANs.96(4) G YT | 3R BY || T HRU BT YHE & 19 K
FHY | TR SARTT FRA BT THIG § ST BT I[Oram Bl 21 U
TR&0T BT 23 M
FYF 1|, SFRI 3R TR A GRT IFHT 30T BT Je A 25 L
PP BE & for e ST BT IHE B 27 ¥
Ans.97(1)  ad QYR | 3R § 22
FY BT o § o afsen & W&o 9T 81 T Ans.109(4)
e BNl B AT 9 ST B, o A Bl U WA S Ans.110(2) W29 F e aUiE g
giferell Wi & fore wiefad fosan simeem| 4oy dad | 'Deck’, Had U Teg &1 FATT0T fasam o Tl 51
Sfffed B Ans.111(3)
Ans.(98-102): Ans.(112-114):
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R 2Zm L

am

4m

M

' 7m
Ans.112(5)
Ans.113(3) 7, ufg\
fag v g H & 6 iR afémr ot oiR 8, g HZ T et
el Bl
Ans.114(2)
R 2m L
R‘\? am
X 3Im J
4m
= M
¥ 7m
Ans.(115-119):

Jan 12 K The
pilgrim’s
progress

Jan 16 Q clarissa

Jan 23 T Tom Jones

Tan 29 Nightmare
Abbey

Mar 12 M Svhil

Mar 16 N Jans Evre

Mar 23 R Wanity Fair

Mar 29 s David
Copperfield

June | 12 T Mobv-Dick

Tune 16 L Middlemarch

Tune 23 B Jude the
obscure

Tune 29 D The
Rainbow

Ans.115(4)
Ans.116(3)
Ans.117(5)
Ans.118(2)
Ans.119(1)

Ans.(120-124):
Red

U
orange
9y

s
\; W green

silver

yellow S
ey Pal
e —— black
Q_Brc-.'.n
Ans.120(5)
Ans.121(2)
Ans.122(5)
Ans.123(4)
Fb:-

Ans.124(3)

Ans.(125-130):

Ans.125(5)
Ans.126(2)
Ans.127(1)
Ans.128(4)
Ans.129(1)
Ans.130(2)

Tsdl Bl RIS A | HafRyd fbar Siidm 1 weat |
3R 9 T ard 3ieRY F T SIeHT- 3T BIg BT

JUaNT fbar T B

Y 31&RI B TS

CRYING - Teg H 3eR P T= 6 @M 21 A PS8

CRYING

O/?ES

e et BT T IH §, A DS 91¢ I I 3R +1 B,
o9 & 3 31eR Teg AU 8.

3Rl B! faww Te:

ECONOMY - T3 H 3feR Bl T 7 favm g1 A s &
ECONOMY

M D
e 3eRt &1 T faww B, O Pis 910 J TIRT 31&R +1 7
B Ueg 3R IS Y He &R b fAua SR qIT 31er
M +1 9 il fpan 31
Tl Wreg # Femel ) Ml & Y FB1ef B AR
At feam ST 21 af et wreg & arert #t e M g,
Al SUPT IS IT A Y QI T, afe g faww §
e 1 a7t @ S|
Input: Demography 12 Technologies 5 young 6 crying 10
7 economy
Step I: OBRS 12 Demography 12 Technologies 5 young
10 7 economy
Step 1l: OBRS 12 ITIF 20 12 Technologies 5 young 7
economy
Step IlIl: OBRS 12 ITIF 20 NMD 49 12 Technologies 5
young
Step IV: OBRS 12 ITIF 20 NMD 49 FLOF 24 5 young
Step V: OBRS 12 ITIF 20 NMD 49 FLOF 24 OFP 25

Ans.(131-135):

Ans.131(2)
Ans.132(2)
Ans.133(4)
Ans.134(3)
Ans.135(5)
Ans.136(3)
Ans.137(4)

Ans.138(2)

Ans.139(4)
Ans.140(1)

Ans.141(5)
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L

g?|
b

=R 20
-
= O

&%8%%8%=0+64+0+16+8+0+2=90
%%RU&%RY

128+64+0+0+8+0+2=202

HOHHSHH

10110101-> 1 BT XS &: 01001010- > $#§$#$#$

HTML(Hypertext markup language) HTST AR R
JeTET I & foIT SuaT 3 S B

Quantitative Aptitude)

1980.99-1562.5+1728=7-26.49
3735.48-1562.5=?
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Ans.142(3)

Ans.143(2)

Ans.144(5)

Ans.144(5)

Ans.146(2)

Ans.147(5)

Ans.148(2)

Ans.149(5)

Ans.150(5)

Ans.151(5)

Ans.152(4)

Ans.153(3)

Ans.154(2)

Ans.155(1)
Ans.156(2)

Fb:-

2172.98=2
N(16x3)+ V(16x5)+ V(16x11)+18-11=2+7+4V11
ANB+4V5+411+7=247+411
4(\3++5)=7
1265/25.3+9996-529=?
50+9996-529=?
10046-529=?
9517=?
23+28/100x280-89/100x56=?
23+78.4-49.84=7
51.56=?
(33(17/25)x34(22/27)}+ {35(28/52)x36(37/57)} =?
(842/25x940/27)+ (1848/52x2089/57) =?
(33.68x34.81)+ (35.54x36.65) =
2474.94=7
AT gHeRr 8,
a=7/12, b=16/3
b>a
ab+3b+2a +6 =12
2ab+6b+4a=12----(i)
2ab+5b+4a=11 ---- (ii)
From eq. (i) --- (ii)
B=1
THE () T,
a=1
a=b
(3a-2)/b = (3a+6)/(b+16)
48a-8b = 32 ---- (i)
(a+2)/(b+4) = (a+5)/(b+10)
b = 2a ---- (ii)
FEIKGIETUE
a=1,b=2
b>a
SF IR 9,
a=1, -46
& b=-2,12
(b) H g Y grawy =g e} foban o1 Gbd &
M3
a’-6a=0
a=0,6
iR ) ¥
(b+4) (b-5)
b=-4,5
a and b relationship ﬁﬂfﬁﬁﬁmmm%
T 1 - HEER = (10/100) x 85 = 8.5
%ﬁmaﬂmﬁ% =85+85=>935
o 2 - Wifdet = (10/100) x 80 = 8
femr 1 M) 7 8i = 80-8 => 72
3ANGd = (cH 1 BT 3d + cH 2 BT 3ld) /2 =
87.25) /2 = 88.43
i 1 H TIfOTT H el o) U 3ip =
=65+13=78
o 2 o 7ifora & gAd &) U 8fdh= (12/100) x 84 = 10.08
= 84-10.08 = 73.92 => 74
T 1 B 7Iford & U $d 3id - 308
T 2 T 7Iford W U $d 3ie - 326
3UTd = 308: 326 => 154:163
TH 1 - 72+78+75+79 = 301
TH 2- 72478476470 = 296
A= = ((301-296)/296)x 100 = 1.6892%
e 1 B AR & of giet ot JaT B 5% fAF § =
(5/100)x70 = 3.5 => 70+3.5 = 73.5
o 1 o SR B 3N = (76+70+85+73.5)/4 = 76.125
o 2 F gt & i fawr Bl o B 5% BH g=
(5/100)x95 = 4.75 => 95-4.75 = 90.25
o 2 T HEeR @Y 3T = (90.25+95+75+70)/4
= 82.5625
3R = (82.5625-76.125) =
162: 182 = 81: 91
TR B HI A = (12/100) x 72000 = 8640
AU = 25%

(89.6250 +

(20/100) x 65 = 13

6.4375

Ans.157(4)

Ans.158(4)

Ans.159(1)

Ans.160(2)

Ans.161(2)

Ans.162(2)

Ans.163(4)

Ans.164(3)

Ans.165(3)

Ans.166(2)
Ans.167(4)
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SR &1 3 e = (8640 x 125) / 100 = 10800
FR H1HT G = (18/100) x 72000 = 12960
ATH% = 48%

FHR B fahT Ted = (12960 x 148) / 100 = 198080.80

TR 3R HeR BT P [3shT e - = 10800 + 198180.80
= 29980.80

BIEX &1 o4 ¥ = (21/100) x 72000 = 15120
AU = 42%

BIeR &1 fachd T = (15120 x 142) / 100 = 21470.40
BFRR BT HI BTG = (10/100) x 72000 = 7200
MUY = 36%

iR &1 fapa geg = (7200 x 136) / 100 = 9792

BeR SR AR & $d &1 faha g = 21470.40 + 9792
= 31262.40

31T % = (29980.80 / 31262.40) x 100 = 95.9% = 96%
(SITH)

9, IR TN X W Fe el ¢ | SR, 31 sifdrd 7w
EHEIGERE A

GHRBRR B G = (26/100) x 72000 = 18720
T = 28%

GHBRR 1 360 44 = (18720 x 128) / 100

- 23961.60

Biex 3t fasha I = 2147040
31T 3R = 23961.60 - 21470.40 = 2491.20

S[ER P T el = (12/100) x 72000 = 8640
TTH% = 25%

IR Pt fasha O = (8640 x 125) /100 = 10800
AC &1 550 &g = (13/100) x 72000 = 9360

AHY% = 35%
AC &1 fashd gl = (9360 x 135) /100 = 12636
3HiF % = (10800/12636) x 100 = 85.47% = 85%

AR 16T g4 = (10/100) x 72000 = 7200
MUY = 36%

TR 1 faeha 4 = (7200 x 136) / 100 = 9792
TR W ge = 20%

THRR &1 sifdsd ged= (9 792/80) x 100 = 12240

TRIGIIR 1 69 Hed = (26/100) x 72000 = 18720
MUY = 28%
TRIGRR $t foeh! Ged = (18720 x 128) / 100 = 23961.60

3T % = (12240/23961.60) x 100 = 51.08% = 51%
T 135 P 7 GRS 99 = T x 3R Q &1 YRS Faw

=$y

TH PYAT T,

P 3R Q & SRIeR IR &1 U
=(xx12) : (yx8)
=> 12x/(yx8) =
=>x/y=7/12

| 3R 11 §: TAR U & 1 Te § Fored 9 ofgen v g
PR IHd g | A BRIEHT BT ST HRd §UEH HH
HRA P foTU 3azges THul BT TRSAT 3R AT H IR U
PR YPA &

11 3R 11 : gAR U At oY Tve & Forgd Y Afgans s
R R Tabalt & |l T3 & AT MTa<aes 7 udT & Tava
2 R b gou g1 |

1 3R 111 2 BH 3 3R B 3 TefiepRur firerd € - gy, Afger
AR TR, AT T o Fhar B

I 3R 11 T SYANT R g, i faumTt & B &1 ufewra
1 a1 S opa §1 39 ST &1 ST SR 11 ¥, g6
Sifam IR foram|

Tt ot €1 HYTT BT ITTNT R B, TS 3R ASTS [0
P il g1 3R B B BHd X H IuT B

AT % 1 e Y P T x 8,39 $a I &l fewe
= 60000 / x

FUTIH,

(x - 50) x 60000 / x = 60000 - 15000

AP A8 1 febe oI FiHd Aol 8, x= 200 %
THREIHUT 11T,

(x + 50) x 60000 / x = (125/100) x 60000

FABH A EH 1 Rbe B B, x = 200 %

3R +15, +15, +15...

3{aR: +3, +6, +12, + 24, +48, +96
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Ans.168(1)
Ans.169(3)
Ans.170(1)
Ans.171(1)

x7-7, x6-6, x5-5, x4-4

3fR: +11, +33, +55, +77, +99...
3feR: -200, -100, -50, -25, -12.5, -6.25

RSl & U 2 T 91 B Ha AR

= 25500 + (25500 x20x2) /100

= 35700

2 91d & for gaed 35700 WR Hfofd Twhafs s

= 35700 [(1+ 10/100)? -1]

= 7497

SIfSfd G &S = 10200 + 7497

= 17,697

O fis U8l UhR & x [ham &1 gusl UHR &
BT o1 TaRF® AR G = 40/125 x 100 = Rs.32
39 fhryor o1 fafyr 9,
Rs.25/ 25 kg

\\
N

(42-32=10)
3l¥ 3rUrd = 107
3y fHammm = 25/10x7=17.5 kg
Ans.(173-177): $d HHAIRG! Bt G- = 2400
TN Pt AWAT = 5/8 x 2400 = 1500
Higerat &t TW& = 900
oy (@dtai) = 1500 BT 12% = 180
Afgemy @ide) = 11/6 x 180 = 330
AR (RRes TsfiF) = 900 B724% = 216
AfFAEmE) = 1/9 x 900 = 100
TSE A Yo Y WAT = 285-100 = 185
Tt TRge H GRN! &1 U—AT = 1500 BT 42% = 630
Afgarat @l E®), 630 BT 10% = 63
oY (@ fEWER) = 22 x 15007100 = 330
éa%mwﬁn%weﬁﬁw_ (900-330-216 -100-63)
=191
ﬁw&ﬁﬁ@mﬁwﬁﬁw: 1500 -180 - 185-
630-330 = 175
Ans.(173-177) 3 Ufa=Id % = 185/1500 x 100 = 12. 33% = 12%
Ans.174(1) Rrew Tsffezm faum & goul & 9= = 175
TS B Yol Bl WeAT = 185
3R = 10
3y Ufa=Id = (216 + 175)/2400 x100 = 16.29%
3ty U= = 63/900%100 = 7%
difieil 3R A feTER faumT & o oA arct Afgarsit
P Pl HJAT = 390+191 = 521
Q &1 U ST THBRT = T 8000 BT 20%
= 20x8000 / 100
=% 1600
Y Y = 8000-1600
= % 6400
Q 3R P & 3= HT 3UII= 60000 : 80,000
=6:8=3:4
gqfere fAa= H Q &1 fewm = 3x6400 / 7
=% 2742.85
9, P T fg®T = 8000 - 1600 - 2742.85
=%, 3657.15
o % Sifed geu y 8
QAN g4 (CP) = MP IR 30% B¢
= 0.7y = 35000
=y =%.50000 MP
gHH "P" W fa%ma g = ¥ 35000
TP "Q" R {38 g = 50000 x 0.85
=% 42500;
3R = ¥ (42500-35000)
=% 7500
2016 H SHeT0T &1 A = 600000- (600000 x 20/100)
= 600000- (6000 x 20)
= 600000-120000
= 480000
2015 ¥ e &R T = 360000

Ans.172(5)

Red2/xkg

(32-25=7)

Ans.175(2)
Ans.176(1)
Ans.177(4)

Ans.178(1)

Ans.179(3)

Ans.180(3)

Fb:-

Ans.181(3)

Ans.182(3)

Ans.183(1)

Ans.184(3)

Ans.185(5)

Ans.186(4)

Ans.187(1)
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2016 ¥ fRren = o=t

= 360000 + 360000 (10/100)

= 360000 + 36000

= 396,000

3gfem 2016 H e R @

= 396000/480000 x 100

= 82.5%

qfeaTen & e Tal a1 &I WG = 4/5

TIY & qWhe 6] 8- &1 Wil = 5/6

3fty wiRiedn = ufearen & ihe el 819 @ UTiiedn

xTI0 & G ol g- I Ul
=4/5x5/6

=4/6

=2/3

iy &% d = /2 (PR/2)
=n/2 (PR)Y/4

=1/2 [(PQ*+QR?)/4]

=1/2 [PQ?/4 + QR?/4]

=n/2 (PQ¥/4) + /2 (QR%/4)
=243 +108

=351 a7 It

31T FUT BT TUE = T x & x AT x fehe )
SRR SR & 3N UL BT 3U = IS &R BT AT
=2x100x1x2.5: Tx60x3%x2

=500:360

=50:36

=25:18

T s T x 8

EEIRSI

Xx7x2/100 +xx8x2/100 +Xx9x4/100 = 15072
14X/100 + 16X/100+36X/100 = 15072

66X/100 = 15072

66X = 1507200

X =22836.36

3afd & 3fd | o o i i = 15072+22836.36

= Rs 37908.36

gaﬁzoou%wsﬂ:ﬁam%,sh?sqﬁﬁm%afsﬂ:ﬁaw

3fd, 200 BT 40% = (40/100) x 200 = 80
Ul e # Afed A SHIGaR] &1 BT 80 §

3fd, 50% Tfge A Sufigart = sifaw odien il -
gqfer, Jiiof afgen af SEfigart &t wem 40 B
g&nﬁmowwﬂmﬂésﬁ?ﬁﬁﬁ 50% & SHIGaR

3fd, 240 HT 50% = 50/100 x 240 = 120
ZUfY, Ty o IRfieaR) B WBI 120 7

3fd, oY Al SEfIgar! &1 40% 3ifam Tdigm Ihof o
gyferg, I<hol oy & Iwiigar! &1 TRe 48 §
TR, Il e AT o SEfGdRT &) ot T 88 7
FHe B A1 SENGIRI &1 ot WA 8: 200

gferg, 3ol af Swiicart &1 ufa=id 8

88/200 x 100 = 44%

T 3 QU] gRT o= 6t S AR«

T gRT Ao & T AR = x+3750

U] gRT a1 1 7 1M1= x+5250

3fd, (x+ x+3750 x+5250) x9/100 =2430

3x +9000 = 2430 x 100/9

3x = 27000 -9000

x=18000/3

x=6000

1R A= &1 75 A= 6000+3750

= Rs 9750

et qeord: et

= (15000 x 4 + 7500 x 8): (13500 x 6 + 10125 x 6):
(21000 x 6)

= 120000: 141750: 126000

= 160: 189: 168

Hfeft w1 few = ¥ (15510 x 160/517)

= .4800

Jurdt T T = ¥ (15510 x 18 9/517)

= %.5670
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Uit &1 e/ = ¥ (15510 x 168/517) dy +y? = Ay +y?) /4
= 3.5040 y=8/3 ==> 2 2/3 Wi / HeT
Ans.188(1) UM o 38T g3 UM & Ty BT = x Wa / Her Ans.189(1) HUTH HA M,
3R eRT Y = y Hid / get =80 x3+ 160 x 2 + 120 x 1
R, Seduae I A = (x - y) Wa / HeT = 240 + 320 + 120
SYATE I T = (x + y) Tid / €T = 680
= 2fia T -2 & AT B T,
S edVATE B AT HRA BT GHY - VTS BT T FHRA BT =160 x 2
7= 6 °e =320
12/ (x-y)-12/(x +y) =6 iy Ty,
2 =2 + dy -1 = 320/680 = 32/68
3{e a8 3{UT T PV SR BT § T, JHB! S T = 2x = 8/17
3fd, Hefuarg &Y I = (2x - y) Hid / Her Ans.190(4) dId crsd [98M & §1E [Y 8AHBA = [(60-8) x (30-8)]
SYATE I T = (2x + y) T / der =52 x 22
=9 fRURY & Fredvrarg &t a1 HRA &1 qHY - SFVATE B = 1144 T B
T HRA BT AT = 1 °eT T CRADT &F = 1144/2 = 572 F Be
12/ @xy)-12/@x+y) =1 Uil eTed &1 & = 1144-572 = 572 T B
Ax2= 2 + 24y -2 T eI5d & U-AT = 572/16
13R2 9, =35
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